m B (B+SIE)

H-C-W=X-N #Y1X=tYFX—hk

2N

1\ 7—ER 2.0 24 100%8 8 53
11 7—EVR 1.2~1.8 RB - Pot 40 |X1E KT 102
1\ 7—EVR 2.0~2.5 50 |&1E KX 102
2|77 F 13.5 200 %R #& 53
2|77+ 0.3~0.6 15 2,500 | K= &—EBE8| 64
2|77+ 0.5~1.0 200 PR &EX 80
2|74+ 0.8 0|58 — 160
2|77 F 1.0 10| =48 — & 160
2| 774+ 1.5 558 —F 160
2|77 F 0.3~0.5 500 |8 JET 185
3177+ (ZiTUEE Y ) 0.6 50%X50 HEHEESS 206
A1 7FF (&) 1.2 40 |X1E KT 102
4|74 &) 2 1|XE XN 102
A1 7FF (&) 15 400 [ F518 183
577+ BA) 13.5 100 B 48 53
577+ BEA) 15 200 | X% #&—ES| 64
577+ BA) 0.5 15 450 |58 —5 156
577%F ®A) 0.5~0.8 0.3~0.5 150 |2ZH & 168
577+ ®A) 1.2~15 10|80l & 172
577% ®A) 0.5 50 [ s 182
5\77F BA) 15 230 | F548 183
577% ®A) 0.3~0.5 150vp 500 =8 J&T 185
6|74F ®A) (RITUFEIwv ) 0.6 50%50 1|=m = 206
6|74F A (ZTUFEI W ) 0.7 50%50 e 206
6|74F WA (RITUFEI v ) 0.8 50%50 8|=m =F 206
6|74+ ®A) (ZTUFEI W ) 1 50%50 e 206
7\ 7FFETF25—9" 1.5~ 3=l —F 160
8| 7 F K" 0.3~0.5 10|5%%0 =+ 88
O\ 77FFx - 7PHT77FF+ 0.3~0.4 500 |&%H = 88
10| 774F -9ILTLY 0.3~0.5 300 |F%FH = 88
10| 7#+F -HILTJLT 0.5~0.8 40 |R1E_ X 102
10| 7A+F - FILTLU7 0.3~0.6 0.2~0.5 40|12 e 168
M| 7A9E 1.5~ 30[AH KX 37
M| 7F9E 2.5~3.5 25 (F KX 37
M| 7F59E 0.6~ Pot 90 |XfE KT 102
1 7F5E (ZFNE¥E v ) 1.5 50%X50 1= &S 206
12| 7S E (ZTMEEI Y L) 1.6 50X50 =S 206
12| 7Z9E (RO Y ) 1.7 50%50 1|=m &5 206
13| 7749 E (#%3L) 1.5 10| =% BEx 32
13| 7459 F (#3L) 3 =S AN 32
13|75 F (#11) 4 IS DN 32
13| 7459 F (#%3L) 5 218 BBx 32
13| 7F9E (#kiL) 6 1|8 B 32
13| 7459 F (#&3L) 2.0 30 [F%FH =F 88
13| 7F9E (#KiL) 2.5 30|FE =+ 88
13| 7459 F (#&3L) 3.0 30|FE =+ 88
13| 7F59E (#kiL) 3.5 30|ZFE =+ 88
13| 7459 F (#3L) 2.0~3.0 100 |K1E Xt 102
13|75 F (#1L) 2.5 S|EE —fF 160
13| 7459 F (#11) 3.0 5|5 & 160
13|75 E (#kiD) 3.5~ 5B —N 160
13| 7459 F (#31) 2.0~6.0 50 9Ll A& 172
13|75 F (#11) 1.5~2.0 30 |E[B AT 185
13| 7459 F (#3L) 2.5 20 |EE AT 185
13|75 F (#%11) 3.0~3.5 20|58 A8 185
14| 7F9E i) (ZRTEFE Y ) 2 50X50 118 5 206
14|75 E (#kiI) (ZTUEE vV ) 2.3 50%X50 1= &S 206
15| 7459 F (BBX) 1.5~1.8 20 PR &YX 80
15| 7459 E (BBK) 0.15 11&E XN 102
16|74\ 5 2.5 1|8 BXx 32
16| 7A/\S 1.5~ 25 6H KX 37
171 7A\S  (#R31) 2.0~2.5 10|XfE_ Xt 102
17 7#/\T (#kiD) 3 ESEP.SD 102
17177 /1\S (#k31) 2.5~5.0 50 9Ll A& 172
17|77 1\S #kiD) 1.5~2.0 30 |E/B AT 185
171777 /1\S (#k31) 3.0 HESTIR 185
18| 7HYV7 T)b—Twva 1.5~2.0 30|FE =+ 88
19| 7HY7 FILTLUT7 2.0 PSS ES 88




2N

FHIT7 TIWTLT 3.0 10|%E8 =+ 88
VAT - TRIT 21 5|l EX 75
PHhY7 - A=)LU=TT )L 2.5 36 5|00 X 75
THY7 - -7 v0v R (ZIOEE<Y M) 1.2 50X50 =5 206
PHYT - =)L v0v R (REUEE Y ) 1.7 50X50 1= F£5F 206
FPHIT - ARTIEUR 27 5| % 75
FHIT7 - T4=YRADBMU (ZAOEEIY M) 1.5 50X50 3= FFE 206
THIT7 - T4—YRAD MU ZFHOEEI Y M) 1.6 50%50 IEEEEES 206
FHI7 - T4—=YRADBMU (ZIOEEIY M) 2 50X50 11=2M F£5F 206
THIT7 - T4—YRD MU (ZIOEE Y M) 2.1 50X50 1= &S 206
FHIT - IN—=ILFHVT 2.0~3.0 10|%E0 =+ 88
PHITV - IO AT 27 5| 75
FPHAYT - D)b—Twa 0.2~0.5 20 |HF E#H 72
FHIT7 - T)W—Twva 1.5~2.5 24.0RB ENE T 185
FHAYT - JOUJvs 27 5|9H JBX /5
rhYyr - TJOuJuy 2.0~3.0 30.0RB 10|28 A8 185
T7HhY7 - KOA FO-D ML (ZAUEEIY N 1.2 50X%50 EHEESS 206
TPHY7 - mOA MO-D M) (ZFOEZI Y ) 1.4 50X%50 1= &S 206
7HhYT - KOA MFO-D ML (ZAUEEIY N 1.5 50X50 EHEESS 206
TPHY7 - mO4 MO-D ML (ZFTOEFEI Y ) 1.7 50X%50 1= &S 206
FPHYT - SE®YT7HVT 2.0~3.5 20| K= %Z—Ef| 64
FHIT - SEYTAHIT 2.0~3.0 Pot 30|X1E KT 102
FHIT - SE®EYT7HVT 1.5~2.5 30.0RB 50 2@ AT 185
THYT7 - SEYT7HYT FAUEEIY M) 1.2 50X%50 1=k &S 206
FHIT - SE¥YTPHI 7 TILTLUT 2.0 2| K= B—Ef| 64
FHIT - SEST7HI 7 TILTLTF” 1.5 20 |E/B AT 185
PHIT SBEIHIT 2.0 50 [&FH =E 88
AT SREFAIT 2.5 S ES 88
AT SBEISHIT 3.0 20|F%FH =E 88
AT -SREFAIT 4.0 5|F%FH =E 88
PRI - EREHIT 2.0~2.5 26/\w 150 /\& BB 145
FAHYT - SBEFHIT (Y 0.5 10.5 158l FFE 204
PHIT7 - =BET7HIT 2 1| K2 ®—E| 64
PAVT =BT HVT 21 20|50H 2 75
ThHYVT 0.2~0.5 10.5 150 |8l H& 176
FhHYT 0.2~0.5 12 250 Bl HE 176
ThHYVT 3.0~3.5 [0.10~0.15 50 |ZE/B AT 185
THYT (ROTOEEE v ) 2.8 50X50 1|=m &5 207
FHINTR 10.5 500 |7RH W — 98
FHINTR 9 1,000 |85 K EX 150
FHNHZ () 10.5 1,000 /TR &8 130
FPHINY R () 15 5001 =8 130
FHNHR () 10.5 5,000 55K @S 146
FPHINYR (4R 15 10|85k @mE 146
FHINY R (TR 10.5 10,000 | LB #X 58
FHINVYZ (&) 10.5 300 %R #8 53
FANYZ (B) 10.5 20028 % 53
FAHNVHZ (B) 15 20017 =B 130
FAN YR E—9—) " 10.5 300 %R % 53
7 AN 15 50GH X 37
PAR - I ="270—5 21 10|50 2k 75
FPhHUYR 10.5 500 %R #8 53
AR 12 200 |85k 1EE 146
PHYVTRA (ZOEFEX v ) 0.5 50%50 1= %F&5 | 207
PHAVHR - EURX 10.5 500 |ZRE  #0K 58
FEITZ"VI)UIN—y I 15.0VP 80 |E[E AT 185
7R/ 2700 9 150 |5 X 150
TYHS - F7ANTFHAHS 2.5 2016H X 37
THFUVD 9 501 &8 130
7IHA 0.8~1.2 50l & 172
7IHA 0.2~ 15 220|810 HE& 176
7IHA 0.3~0.5 15 700 |82 D& 176
7IH9A4 F<U 0.3 500 |Z%H = 88
7IYA4 FTIU 0.5 500 |#%H = 88
FIYA EVIIv R 0.6 50 |FE =+ 88
TIHA4 (EVD) (O v ) 0.5 50x50 1|=[ME =5 207
7IYA (EVD) (ZTUEEY ) 0.8 50X50 1|=m &5 207
7ITA (ZTEFEE v ) 1 50X50 2= F&H | 207

— 232 —
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No DD% ] W ﬁ(Cm) 2&%[ EEE% =]
58| 7ITA (&) (Zom=E< v h) 0.4 5050 =SS 207
59| 7V0A (B (ZIEFEE V) 0.8 50 %50 1= &FFE 207
O 7ITA (B) (ZguzEETwvh) 1 50X50 1= £ 207
60| 7354 (BHA) 15 50| K% %R—Ef| 64
61| PIHA" I 15 500 %8 #8 53
61| PIHA I 10.5 3,000 | K= #&—E8| 64
61| PIHYA" I 15 1,000 | KiZE &—EB| 64
61| PIHYAL I 0.5~0.8 15vp 500 [FR &N 80
61| PIYA"FFNI” 0.8~1.0 100 38 &EX 80
61| 7PIHA"TFFIN” 0.8 500 |7%H = 88
61|\ 7L TN 0.4 0.3 15 300|588 —5 156
61| PIHA I 0.3~ 15 200 [ F5E 183
61| 7IPA" I 18 50 | FH 183
61| PIYA" I 0.5~ 300 [/ AT 185
61| 7PIPA" I 1.0~1.5 20.0RB 50 =@ &5 185
61| PIYA"TFFIN” 0.8 24 30 |%H =76 200
61| 7PIPA" I 0.3~5 15.0 600 [5f&2  5h& 202
2| 7IYATINL (VD) 15 1,000 | K=E #B—EB 64
62| PIYA"TFNIL” (EVT) 0.5 100 |%H = 88
2| 7IUATINL (EVD) 1.0 300 |F%FH = 88
62| 7IYA"TFNIL” (EVT) 10.5 100 [/IVAK - F#17 217
2| 7ITA T IR (EVT) 15 100 [/ BR1T 217
63| 7IHA TN (VD) 1 10.5 100 |/\#k  B&R1T 217
63 F7IHA IR (EvD) 1 15 100 [/ FR1T 217
64| F7IYA IR (VD) v UM 10.5 100 [/]\Vbk  FR4T 217
64| 7IPATINL (VD) Ik 15 100 [/ FBR1T 217
65| 7 IHA" 7N (JLE—) 10.5 100 [/)\Fk  BE{T 217
66| 7IHA TN (ZFEEE Y M) 0.6 50X50 =S 207
67 79“*3‘4“77“&‘)1/’ (H) (ZauEEvb) 0.8 50X50 1= &5 207
68| FPIYA TIRNILI v R 10.5 100 [/ 21T 217
68 7)13% TIN)VI v R 15 100 [/ FE1T 217
69| 7IPA TR v 10.5 1064 X 37
70| 7I99A AT UTHUT 10.5 206H X 37
N\ 794" 0= 0.3~ 15 700 | Em  F5iE 183
72| PIPAKRIDA S IATFEUR” 0.3~ 15 200 | 58 183
73| 7I9HAILE—DT7F )L 15 300|002 #®—Ef| 64
JA4 7oA Ly R TUT 47 15 1064 X 37
75| 7994 VEYD - 15 30[6H ¢ 37
76| 7 YA " iTUEREE" 15 100| K= #&—E| 64
77\ 7 U ABEHOIEN" 0.4~ 15 20 [ FE 183
78| 7Y A LT 0.2~ 13.5 160 [ 5518 183
79|\ 7IY9A - HOT7IHA 0.4~0.5 15vp 60 PR &N 80
79\ 7PIYA - AOFIHA 0.3~ 15 650 |8l BE 176
79\ 7IP9A - HOT7IHA 0.4~0.5 15.0 100|578 5hE 202
80| 77IYA - HOT7IYA (HEA) RIERiGP.~h 102
80| 7IYA - HOT7IHYA BN 0.2 15 5| FHiE 183
81| 7304 - AVDONTFIHA 1 15|X1E Xt 102
81| 7IYA - HVONTFIHA 0.5~ 24 30 |7%H =B 200
82|77 IHYA - IRTFIHYA 12.0 10| F54 183
83| 7IHYA - PRTIYA 0.5~0.8 15vp 300 R & 80
83| 77IHYA - v TFIHA 0.8~1.0 18RB 100 |FR &YX 80
84| 7 IHYA - PRTIHA<IUELY 0.3~ 13.5 40 | [ F5E 183
85|77 IHA - VTP IHAER 0.3~ 13.5 35 | FA 183
86|77 IYA - {IHD 0.4~ 15 360 | F5iE 183
87| 7IHYA - BER7ZIYA 0.2~ 13.5 50 | FH 183
88| 77IYA - TWEFIYA (H) 0.3~0.5 15.0 2,500 |5FE 53L& 202
89| 7PIYA - EAHT 0.4~ 15 300 | i F58 183
90| 77IYA - BEFIYA 0.8~1.0 50| KZF f&R—FEf| 64
90| 77IYA - BEFITA 15 300 K= #®&—ER| 64
Q0| 77IYA - BEFIHA 0.5 15 300|588 —5 156
AN|7IYA - BEFIYA (—F) 0.4 15 200|5F2 5h& 202
N 7ITA - HEFITA (B ~1.5 2064 K 37
N T7PIYA - IETFITA (B 0.2~0.8 12~15] 7,000 |88 =% 52
93| 77IYA - BEFIYA (J\H) 0.4~ 15 30 [5FE  9h& 202
U | PIYA - BEFPITGA"TLUYNT 1.2 201688 X 37
OS5 | PIYA - WBEFIYA R/ —TA—" 1.0~1.2 30 [FR &EX 80
96 | PIYA - BEF IS N—TF=Z—" 12 30|BaH KX 37
96| 7 IVYA - HEFIHAN—TF=— 15 10|02 %&—Ef| 64
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No e ] W 2% (cm) rE £EE B

96| 7ITA - HEPITAN—F=—" 10.5 200 [k B&1T | 217
7\ 7PITA - BEPITAXRVF A 15 50| KX%E %&—EBB| 64
98 | PIYA - HEFZITFAU NN 15 10[}% ®&—EBf| 64
99| 7VaH 9.0 2,000 |ZRH F— 98
99| PyaAH 9 2,500 |55 BR 150
99| 7VaH 9 3008 —5 156
100|7JaH-ULFIVR 9 1,000 ) TR =8 130
100|77YaHd - ULFIVR 9.0 1,000 |#5 =] 146
101 [P REFY 2.5 IaH 37
101 | 7 AxFY 3.5 S5 ¢ 37
101 [P RFFY 4.0 5aH Jt 37
101 | 7 2xFY 1.2~1.8 15 100 |& L5 176
102 | 7 XFF> (#3D) 3.5 2= &S 185
103[7RAFILR (B D) 10.5 700 oKk EX 150
104 | 7 ZAFILX (FK) 10.5 700 |85 &R 150
105 7AFILX (B) 10.5 700 %K & 150
106 | PRAFILR - FFTHTHY 9 300 85K X 150
107 | PAT U7V )ILIN= v R=7 10.5 20017 &a& 130
107 | PAT U V)ILIN= v R=7 12 S5PIR =8 130
108 | 7 A7 0O 4.0 =8 —5 160
109 | 7RAF0 - EX7ZAF0O 0.6 417FH =+ 89
10| 7ZANSHR ZTFUIFY — 10.5 0PIR A 130
1M [ T7ERS 9 100 [85K X 150
12| 7t 0.8 10K FA 34
1127 ~1.5 30|6H e 37
12| 7t 0.4 1,000 |f%xH = 89
12| 7 0.5 1,000 |%FH = 89
12| 7t 0.5 0 |EE —F 160
112| 7tE 0.4~0.5 200 (%1 [EBH 170
12| 7t 0.2~0.3 15 S50(B1 B&E 176
12| 7t 0.3 300 |EE AT 185
12| 7 0.4 200 [EE AT 185
11278 0.3~0.5 50 K FT|— 224
M3 |7t (RTEEE v ) 1.1 50X50 A 207
114|172 (B) 0.3~ 20 ¥ #Fth 182
1157t (B) (ZgUEEX v b 0.5 50X50 112 =5 207
16| 7EE (BEsH) 1.0 15164 % 37
1177t BA) 0.3 100 |EE &5 185
M8 PEE" JUARRF 77 0.3~ 13.5vp 150 |E@ &gl 185
119| PEE*RA—L v hA /NS 10.5 0[AFH X 37
19| P EE"RA—L Y cA/NT” 0.3 600 |FFH = 89
120 7" NL=NLIA " 0.3~ 13.5vp 150 |E8 J&al 185
121 | 7" NLU=NL 9142 10.5 50[aH % 37
122| 7" DO>5=>37 15[6aF# ) 37
123|720 —=v7 JI)UN=" 0.3~ 30| FT— 224
124 7" JLU—=V0V)UIN=" 10.5 156 ) 37
125| 7 TRDA MU L 0.3~ 13.5vp 1508 A8 186
126 7RO VTVTFPAP—" 0.3~1.2 50(aFH ¢ 38
127 | 7 EE"BRE” 0.3~ 13.5vp 200 (EE AT 186
128 | 7 E"EL” 0.6 10|X1E KT 102
129|770 oF v/ 2.5~3.0 5|0l & 172
129|775 F v/ 1.2~2.0 20K FT— 224
130\ 77 25F v/ (%1D) 2 ESEP.Sh 102
131 727UAXT () 0.3 10.5 50| ¥R = 138
132 77UAX+ (KE) 0.5 10.5 208 = 138
133 7XU 77 0.3~0.4 15 1,000 |F%RH &2 100
133 7XU Y7 0.5~ 0.3 15 300 |=8 —5 156
133 7XU 77 0.3~0.4 15 4,000 |2 & 166
133 7R 0.5 15 1,500 [SH #& 166
133 7XU 77 0.2~ 15 3,100| 2l BE 176
133 7XXU7 0.3~0.4 15 3,000 |2l FBE 176
133 77XU 7 0.3 2,000 =R &S 186
134 | 7RV 7 (BT X v ) 0.4 50X50 AEEEES 207
135 [ PRUP*TRO—K O—F ¢~ 0.1~0.2 12 200|821 JE 176
135 PRUP* T RDO—K O—F v~ 0.2 12 10 [#8l0 F&5 204
136 | PRXUP*" T RO—RI—F " 0.2 12 2,000 | = FIK 58
136 | PRXUP* T RO—RJ—F " 0.2 12 2,000 |%H &2 100
136 | PRXUP* T RO—=—RIJ—F " 0.2 12 300 (8K 1EE 146
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136 | PRUPZ*TRD—RJ—Fv” 0.3 0.2 13.5 50058 —5 156
136 | PRUFP* T RDO—RIO—F ¥~ 0.4 0.3 13.5 500 |58 —%5 156
137 PRNUT7* AUA RZXO=T" 0.15 10.5 5.000 |Zef%  FIA 58
137 | PRUT*AUA RZRO=T" 0.2 12 800 [#LL 7B 204
138|7”NUP* AV Txvr 4" 0.2 15 1.000 | &8 FIK 58
138|7PXNYP* AV TxvT 4" 10.5 5,000 |Zi  FIK 58
138 7PANUP* IV TxvT 4" 12 2,000 /TR &8 130
138|7”RXUP* AV TxzvT 4" 13.5 2,000 |85 S 146
138 | 7PANUP* IV TxvT 4" 0.3 13.5 200|&8 —5 156
138|7PXUP* AV TxvT 4" 0.4 13.5 200|&8 —3 156
138 77XUP* AV JxvT 4" 12 150 [#l 75 204
139 PRUTPTSVIR AAV” 0.2 10.5 700 |1l FTF 204
140 | PRU TP TS VIAXAV " 0.2 0.2 13.5p 300 |#K 5 146
140 | PRUFP TS VIAXAV " 0.4 15 200|518 —% 156
141 | PRU TP R—=TUA X" 12 300 %R # 53
141 [ PRUT R—=TUAR” 0.15 10.5 5.000 |%i% AKX 58
141 | PRU T R—=TUAR” 0.3 15 5,000 |Zfk AKX 58
141 [ PRUP R—=TUAR” 0.2 0.3 15 50 [#pAK @82 146
141 | PRY P R—=F A A" 12 4,000|#5 KBS 146
141 [ PRU P IR=T A X" 12 6.500 |58 =D 164
141 [ PARU T IR=FUA X" 0.2 12 3,000 |1l FEH 204
142\ 77ARU Y - YRV 0.4~0.6 300|588 1% 52
142 | PRXUT - IRV 0.3 9 200|5%5)% = 138
143| 7XF v 0.4~5 15 400|s7&E sh& | 202
144\ 7~X 30 10.5 200 [#aA  EBR 150
145|7~ 30 BRA) 10.5 1.500 PTIR &8 130
1457~ k30 A 10.5 500 s K 8BS 146
146 | 7 X2 b= 9 2000 IR &8 130
147 | 7 XU AP HAS"OLF7” (FR1E) 1.8~6.0 10|64 % 38
148 | P AU AP B AS" OE?” (BkEaTE) 0.8 10|6H ) 38
149| P AUAPHAS - T4 T75%7-_70=5" 40 206H K 38
150 | ZAURADFVTY (BA—U—=LwvR) 0.2 15 50 |%R & 138
IS ZAUAVEYY (ZTUFEXY ) 0.9 50X50 1|20 FF 207
152 | PXUATRUYVEY TGN —=04 2" 15 200|K= B—EB| 64
153|ZAUATRUSEYT T4 7ihO” 15 200/ K% E—EB| 64
153 PAUATRUVEYT T« 7O 1.0~ 24 S50|F%H 2=F | 200
154 | P AUATXUVEYTILTOR” 15 10[K%F &R—B| 64
154 | 7XUATRUVEVTILTOR” 0.5 100 |[&EE &5 186
IS5 P AXUANFRAD T3 VANV I 1.2~1.5 10[K% &R—BE| 64
156 [ 7 XUHTD 1.8~2.0 RB N AES (V.S 102
157 PAURTI - PAIZABT A —)LR 27 10|PH =% 75
158|777 X 10.5 500 |# K &EX 150
159 | 7P X (%) 50 |%H #H— 98
160 | 7L XU 9 300 IR &8 130
160 | 7ZILAU T 10.5 500|&8 —% 156
161|\70=AU7 - TSIUT 4 1.0 100 15%R & 138
162|70=7 0.8~1.0 15vp 100 |FR ]/ 80
163|70=7 (Z{TUF¥X v b) 1.8 50%50 1= %5 | 207
164|707 (¥i1) 1.0~1.2 21RB 150 |[BUR  $+X 80
164|707 (#31) 1.5~2.0 70 |FR 3= 80
164|707 (¥i1) 2 15|X%1E _KIT 102
165|707 F3—J~XJ—" 0.8 1|2 B_H8| 64
166 |70-7'F330—bRU=" (RTHUZE W i) 1 50X50 EEE:5 207
167 | 7 VR 3 20.21 1|&fE Kot 102
168 | 77 2 X" Fim Ak - EMASE - A" 1.2~1.8 60|KfE Xjr | 102
168 | 7 Y X HRAE - EMNARE - FA0” 2.0~25 20|KfE AJr | 102
169 |7V A" FmAE - BNAE - 4l - N\—Jv b"| 1.0~1.5 RB - Pot 50 |&fE Kt 102
1704 AHUVD 9 1.000 [#p KR EBX 150
1711405 9 100 PXE 48 53
171|479 9 50 |#a AR &EX 150
172|408 - 9F7IXThA 21 10p%R 18 53
1731405 - T hA 10.5 200%R #8 53
173|405 - ThA 10.5 200 85K EBX 150
174 | A XS TIVIVAAX 21.0 100 |%xH  #— 98
175[A4FA 1.5 ES(EFNSI 103
175|4FA RB DE|KE AT 103
176|A4F3/F (7= < v ) 0.8 50%50 1=/ =5 | 207
176|4F3/+ (ZTUFE vV H) 1.5 50X50 1= F=FH 207




2N

No e ] W 2% (cm) rE £EE B

177\ AF3/F - EXAFT/F 12 101684 % 38
177|AF 3 /F - EXAFI/F 2.5~4.0 5% & 172
177\ AF3/F - EXAFT/F 0.3 15 350 [1EK shiE 198
178|AFJ/F - EXAFI/F (B1E) 1.2~1.5 5| X% %B—EB8| 65
1794 FJ0 0.25 ESCP.ND 103
180|AFTVT (BRI Y ) 0.6 50x50 1= FF5 | 207
180|AF VT (ZFEFEEI Y ) 0.7 50X50 = 207
180|AFTVT (ZFWUTE Y ) 1.9 50%50 1= FF5 | 207
181 [AFJJR=T1v KO/ /7 - BE - OYF Ro—N [ 1.2R542.0~250 RB 120 [K{E Kb 103
182 | AFITROA /7" - "OVIRy—K"| 25~3.0 40 |X1E Ko 103
183 |4/ FIIHA 3 1XE X 103
184|4F 3D 2.0~25 EIER P~ h 103
184|4F 3D 0.3~0.8 12 508l FB&E 176
184|A4F 3> 0.7~1.0 15 50|82l FBE 176
1854/ F 3D (ZFMNEEI Y H) 1.4 50X50 = 207
185 |4/ F 3D (ZTUEFET v H) 1.5 50X50 AEEEES 207
186|AF 3D () 2.0~25 60 [K1E KT 103
187|4F 39 (5%) 1.2~2.0 60 |XfE KIT 103
188|AF3u"TUVR Y EYFa2U—" 0.6 58 ¢ 38
189|473 D" X35 - BENEL - =0f 1.8~2.0 RB DE|KE KT 103
190 | A NND D (ZTWUEE W ) 0.2 50%50 1= =S 207
191 |4 XTYa .0~2.0 RB - Pot 50 |XfE Kot 103
191 |AXTVa 0.18 ESEP.SD 103
191 |4 XTYa 0.25 [HES(EP.Sh 103
192 | A XY VPFF"BER 10.5 S50%RE & 53
193 [/ X5 0.10~0.15 50 |E@ &S 186
193 [ 41XV T 0.18~0.25 30|EE &8 186
1944 XV 0.5~1.0 150 [#R  F]/X 80
194 |4 XYY 1.8~2.0 25 |KfE Kib 103
1944 XV 0.3~0.6 15 6,000 |2H #® 166
1944 XVE 0.2~ 15 1,400 |2l BE 176
1944 XV 0.3~0.5 15 900 |8l H&E 176
195 | A XYY (ZTEEEX Y ) 1.1 50X50 2|2 R 208
195 | A XYT (ZfFEFEI Y ) 1.3 50X50 AEREES 208
196 | A XY T ZAARII)” 1.2 100 |%hLl =8 170
196 | A XY T“ZAABAXRVV)” 1.2~15 250 |E@E &al 186
197 [A RV ZAAARVVIL” (B8 0.1~ 10.5~12 500|558 % 52
198 |4/ XV T"EHFYS” (ZTUEE Y M) 1.5~1.7 50X50 RlEEES 208
19| A XYT - IXYT 0.8~1.0 S51IEK 1% 195
200 [ A XYT - IAXYT (F) 1 ESEPND 103
201 [A RV - %? s 2.0~2.5 3IXE Ko 103
201 [/ XYY - BFVS 3 ESEP.ND 103
201 [ARYT - FYT 0.3 15 50 %L F&F 204
202 [ A RXVYT - wHF YT (F) 1 6|KE X | 103
203 | A XETHEF V" 0.5~0.8 15~18 300 58 % 52
204 |47% (F) 0.6 20(=8 —F 160
2054 T7F - FA4TF 1 2KXE Kb 103
205|470 F% - A4 TJF 0.8~ 50 |fPEH 5 169
206 [ A 1.0 24 81%R = 138
207 [ A MY (ZTHEE W ) 1.6 50%X50 =R 208
207 [A RS (RIFUEEI v ) 2.0 50X50 = 208
207 | A Y (ZITUFE v ) 2.6 50%50 1= FF5 | 208
208 [/ MY /F 0.5~1.0 5,000 =B &5 186
209 |/ hT /+ BEA) 0.5~0.8 500 =@ &5 186
209 |/ hY /+ (BEA) 0.6~0.8 15 50 (28 &ol 186
210 A hRS /F" T=IJLRTURw K" 0.3 10.5 300 |FFH &= 100
211 |[A RS /X" )UN=TURy (7 0.3 10.5 1,000 |[%FH &= 100
212 [ARI/FIIN=TURy N (ZFEZFI Y N 1.3~1.4 5050 4|2 S 208
213|449 /% - UAZRNSL " VILN=TURy K" 15 300 %E 48 53
213|Ah9 /% - UBZRSSLVILN=FURy 10.5 500 | K= B—HE| 65
213|449 /% - UARSSL VILN=TFURv K| 0.4~0.6 15vp 500 |#R  &|/X 80
213|AR9 /% - UBZRSSLVILN=FURy 0.8~ 18RB 30 PR FEX 80
213|449 /% - UARSSL*VILN=TURv K| 0.3~0.5 15 3,000 |%H &2 100
213|499 /% - UBAZRNSLVIILN=TURy " 0.4 0.3 15 300|558 —53 156
213[A4 R /% - UARNSL VILN=TURY 0.4 10.5 1,000 |5t &B 164
213|419 /% - UBRSSLVILN=FURy 0.4 15 2,500 = &l 166
213|449 /% - UARMSL*VILN=TURv | 0.5~0.8 15 2,000 (2 & 166
213|A4R9 /% - UBRSSLVILN=FURy 0.5~ 15 300 |FRH =B 200
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213|AR9 /% - UBRSSLVILN=TURy "] 1.0~1.2 24 700 |FRH =8 200
213|449 /F - UAZRRSL*VILN—=TURy K" 0.4 15 800 |~rE sh& 202
214|AR9 /% - UAZRNSLVEY & AL 0.3 15 200 %57 = 138
215|AR9/F - UAZSIL - "VEYPVRSAL™] 0.3~0.5 15 1,000 |FRH &= 100
216 |AhY /F - UARSSL - EAU— 10.5 50 |~F&E  shE 202
217 [AR9 /% - UARNSL - TURY NMUEVTYRSAL 15 10| X% %&—EBf| 65
218[4R9 /% - UARNSL - TURY NLUEYTYRIAL" 0.3~ 0.2 13.5 500 |5F& shE¥ 202
219 |4 EAHI/N= 9 1,000 |55 & 150
220|41UY DL (B/A) 15 20 K= %B—EBE| 65
21| AU DL F—T” 15 30|KX=E &B—E8| 65
222 | AUV D L XFIU v F L 15 30[KE %B—EE| 65
223|4UYD L - JOUS L 1.0~1.3 55FH/I 5 63
AR PEINEC R 0.6 10.5 100 |57 = 138
225| AUy IR TUAVR 18 20 6H € 38
226 | A{DOAS=Z"L—VSA K 10.5 5aH Jt 38
227 | ADAZ=Z"OCDL” 10.5 S5 Jt 38
2284 D=wW/)N (BEA) 9 300 |#A  EX 150
2209|470V wyar—U—"F—-—UA~XILTSF—95" 0.3 10.5 300 |8 = 138
230 (AU wyaR—U=—""I)UN=Z)VI AL K" 0.3 10.5 200 |55R = 138
2314V FENA\XID 24 158K EX 150
232|944 V=TS IFSX (EVT) 10.5 200 %R 48 53
233|DIRNUVFT 10.5 500 %8 #8 53
233 |9 R NUVFET 0.3~0.5 15 500 | X% %&—B8| 65
233|9IRNUVET 0.2 10.5 400 |sFE  5h& 202
234 | DI AU VT (ZHUEEY Y L) 0.6 50%X50 A= 208
234 DI R NUVFT (ZHEZFE Y ) 0.7 50X50 =S 208
234| DI AU VT (ZHUEEY Y L) 0.8 50%X50 2|32 FBF 208
234 DI RANUVFT (ZHOEFE Y ) 0.9 50X50 =SS 208
235|9IRMNUVFT (E)  HBIA) 10.5 150 %8 # 53
236| DT ANUVFT7 (EH) (%70 10.5 20017 && 130
236| DT AUV (EW)  (5&1E) 13.5 40T &8 130
237|9IA MU VET (BFE) (%) 10.5 200017 && 130
237 |9IZANUVFT (BE) (&) 10.5 100/ TR &a 130
237 9IZANUVFT (BE) &) 13.5 40T &R 130
238|DIA KUV (BE) (818) 10.5 100/ TR &a 130
2399 IXNUVET (B8F) (81 10.5 100IR &E& 130
240 | DTAANT S 15 350 %R & 53
241 |9TA XA O35 RB 20|K1E R 103
241 | 9TA XIS 0.2 10.5 10 | 758 183
242 | DT ARAARS (ZFMUEE VY ) 1.2 50%50 =EEEE 208
22| DT AZAARZ (ZHUFEE Y ) 1.3 50X50 5|2 TS 208
243|DF 0 /% - OB 10.5 200 |58 1% 52
244 DY+ 0.2~0.3 15 500 | & ] 176
A DES 0.3~0.5 15 300|& BB 176
244 DY+ 0.4~0.8 3,000 |ZE/E AT 186
245|DV+ (RFIUFE v ) 0.5 50%50 2= FRF 208
246DV (fI. &, JIDTE. FEiR) 0.4~0.8 3,000 =8 &S 186
247DV + B®A)  (ZEEFEI Y ) 1.5 50%50 1= 85 208
248 DVYF - EXDYF 12 3,000, TR =B 130
248 | DVF - EXDVYE 0.3 12 1,000 |5Z/R 5= 138
248 DVYF - EXDYF 15 100|=18 —5 156
249 | DY+ - I)LNNDYFE 15 S50%E 53
250 DX (TS Y b) 1.2 50X50 NEEEEZS 208
250| DX (U= v ) 1.5 50%50 1= FF5 | 208
2519 X (FR) 2.5 2 140.10 30|F&F o8 142
2519 X (FR) 2.0 30|H4 ZBH 165
2529 X (B) 2.5 2 110.10 30|F&F HE§ 142
253 | O X"BE” 1.8~2.0 20|HP ZFE# 72
254 | O X HTE” 1.8~2.0 80 |H% E* 72
255 | D X §IHg” 3.0 0.20 3R FE 34
256 | DX BIREH” (Z7UFEX v ) 1.4~1.5 50X50 RS 208
257 | D X Ehl” 20.3 1XE K 103
258 | )XE4 1a 28 Fo0ss 28RS Ol A2 %255 26 BN ERST R B | 1.5~3.0 500 |&fE KIt 103
259 | D X" K&” 15 1,000 |#|l F—BB| 71
260 | VX RE - BODFZ - BRE - B0 - )\ERI - 22 {8 | 1.2~1.5 RB - Pot 200 |&fE Kot 103
2671 | 9X%k BE - BV0F% - AERS - S% RS OIE #5715 JEET 20.1~0.3 200 |%&fE  KIt 103
202 | OXRE” 15 1,000 |48 >¥—EBB| 71
263 | DX mE" 1.8~2.0 80 |H ZE# 72
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264D X' me" (B) 10|H4 8§ 165
265 | DX "BNE” 1.8~2.0 50 |Hf E# 72
265 | DX BgE” 35 0.45 11l & 172
266 | DX "ER” 2.5~3.5 60 |HE E#] 72
267 | O X"EE” (EVT) 2.0 30|H4 8§ 165
268 | X - /9 Lig 3.0 0.20 N 34
269| DX - 9[/@ [(=P22)) 1.8~2.0 10|&<1E XN 104
2709 X - 9 Ui (ZFUEE Y ) 0.5 50X50 1= &5 208
271 9X -9 Ui (Fx) 1.5~2.0 130 |RfE_ Kt 104
271 |9X -9 U GR) 2.5 0.101 10|&<1E XNt 104
271 9X - 59U (GR) 3 0.10 4\KE KT 104
272|9X -9 (FR) "HoT)” 2 EIES .S h 104
272 9X - S5 (GR) “Hroa” 2.5 1XE KN 104
273|9X -39 GR-H-EVT) 1.0~1.8 RB 30|&fE KNt 104
274 | 9X -5 (B) 2.0~ 40|HE E# 72
27494 - 9 U (B) 1.8~2.0 10|&<1E Xt 104
275|9X -5 I 2.0~ 40 |HE EH 72
276|OX - 9T\ (EVT) 2 20 |&1E Kt 104
277 | OX - 5 UM EN 2.5 0.10K ESCP. ) 104
2789 X - UINA 3.0~3.5 SRR F|/X 80
279|0X - FigA0v17 -BIE- M- B FR- SR8 1.2~1.5 RB - Pot 100 |XfE K 104
280 [ OXERF 1.8~2.0 8 |FR FTX 80
280 | OXERF 1.0~1.5 300 |KfE XN 104
280 | O XERF 2 [HESGP.ShH 104
281 | OXERT (1) 1.5~1.8 109 & 172
282 | OXERF' D4 - W R 1.5 15188 % 38
282 | OXERF" D4 I—D YR 2.0 104 X 38
283 |95 IVOES 1.5 S5 EE —f 160
283 |9 YVOES 1.8 558 —F 160
283 |DSIVOES 2.0 S EE —f 160
284|095 VOES (ZEFEEX Y M) 1.2~1.3 50X50 3= &S 208
285 | I #fE EV O F v A L (#RiD) 1.5~3.0 150 [FR &Y 80
286 | I0 8k bFDOIT D 1.5~2.0 30 |FE &EX 80
287 | T35 (Ev9) 1.5~2.0 30 FR &EX 80
288| T3/ 1.5~ 30|1aH % 38
288 |IT10./+ 1.0~1.5 Pot 50 |XfE KT 104
288|IT10./=% 0.4~ 10.5 100 |2l BE 176
288 |IT10/F 0.5~ 12 200 Bl HE 176
288|IT0./=+ 0.7~ 15 50 |8l HE 176
288|IT10/F 1.0~ 18 50|81 F& 176
288 | T30 /+ 0.10~0.18 130 =8 J&a 186
2890|T3./% (bFD) 1.0~2.0 30| K% &—EB| 65
200|T3/% (b+FDI3/%F) (3D 1.0~2.0 30 |HH =B 200
291 |IT30/F% (ZTUEEX VL) 1.6~2.4 50%X50 4|3 F£FH 208
202|T30/% (®%1D) 1.5~1.8 50 |&%EH =+ 89
202 | T/ F (#kiD) 2.0 50 |FE =+ 89
202 | T0/F (#kiL) 2.5 50 |#&HEH =+ 89
202 | T/ F (#kD) 3.0 50 |FE =+ 89
202 | T0/F (#kiL) 3.5~4.0 10| XfE Ko 104
2902 | T/ F (#kiD) 5 2|K1E K 104
202 | T0/F (#kiL) 2.0 30|+ HF§ 142
292 | T30/ % (#%k1D) 2.5~ 3 EE —F 160
202 | T30 /% (#%3D) 3.0 10|l & 172
202 | T/ F (#kiD) 2.0~3.0 250 [/ AT 186
293 |T0./% (BRRId/F) 1.5~1.8 100 |RfE KN 104
293|T3/% (BT d./F) 2 20|K1E XN 104
24| T30 /% (BigId/F) (FGEE¥I VD) 1.2~1.4 50X50 5= FFH 208
205|T2/F (FR) 3.0 0.1 40|/%H =+ 89
296 | T3 /F " R"OA %7‘/7}/" (#R3L) 2.5 20|&H = 89
206 | T/ F"ROA P T)L" (BRiD) 3.5 5|F%HE = 89
207 | T3/ F - TASJUR/NOY 2.5~3.0 0.1 30|FH = 89
298| T3 /% - =T 3 1XE Kt 104
208| IJ/F - &ETD 3.0 3 el 160
209| T 0 /% - &ET D (RIfE) 2.0~2.5 3IEK % 195
300|Td/F -8RI 3J/+ 2.5~3.0 50 |FEH =+ 89
01T/ - 8T/ (%10 1.5~2.0 100 |&%H = 89
302| T35 0.5 10.5 5,000 | ZE 0K 58
303|T/+F 0.5~0.8 10.5 350 8Ll W& 176
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303| T /F* 0.6~0.8 12 250 |8l HE 177
303|T/+F 1.2~1.5 15 200 |8l BE&E 177
303| /= 1.5~ 18 40|81 FE&E 177
303|T/+ 2.0~2.5 50 |EE AT 186
304| TE*® 10.5 600 JXE 18 53
304 | ITE=x 10.5 100 | = F0X 58
304| TE* 10.5 100 IR &8 130
304| IE= 10.5 3,000 [#5K EBR 150
305|TUA 9 100 | ZRE #0K 58
306 | TUH - Iv /XTI UARH 0.2~0.3 12 300 |sFE  5h& 202
307 | TUs OV 9 1,000 IR =8 131
308|TUSOY - AILEVRAFTFRR 9 300 %8 #§ 53
309| T>Ya 0.15~0.18 20|58 &g 186
31074 9/%4 L0.3 10.5 30|85k EE 146
310 ADNA 0.7~ 10.5 40|81 HE 177
311 [ FINA - ERgAT/)NA 9 50 J%E & 54
3112|7749 0.1 9.0 100 |ZiE MK 58
33| 7xaTUYF 1.5~1.8 AESP. 104
33| F4aTU<Y+ 2.5 21X K 104
34|74 7<U 1.2~1.8 50T &EiE 86
34|74 7<U 0.5~1.0 RB - Pot 130 |KfE KN 104
34| 747<U 0.8F9%% 50|k X 104
34447 <U 1.0~1.8 100 |<fE KN 104
34| 747<U 0.2~0.3 15 60 |8 B8 177
34|FAT<U 1.0~1.5 20|EE &g 186
314|773 F7<U 1.0~2.0 100 |7%H =78 200
34|FAT<U 1.5~2.0 35 100 |#%RH =36 200
315|747~ (ZFIEEX Y N 1~1.2 5050 2| =M FFE 208
36|77 UYyz="" 1.2~1.8 27 20 |FH =58 200
371 AFTUAS—Z)L " 0.3~0.4 12 1,000 558 =% 52
37| FFFTRUXY—==)L " 3.0 2 |PR &YX 80
318|447 U OD—XRI—R" 3.0 IR &YX 80
319 | A A/NFRDY 10.5 1,000 |18 —5 156
20| AANI v /5 10.5 800 [)xE 8 54
320 A NI v /S 10.5 1,000 ;IR =B 131
N | FAFAVP<LUYT 1.0 RB P | KIE KT 105
M| FFvP<LT 1.5 (HESCP.Sh 105
32| FFA VP~ LT (ZIEEE Y M) 0.8 50%X50 (IERES 208
323 FAIR/FVILN=TZT R 15 56 % 38
4| FAI< /T NTILA” 21 5B Jt 38
25| F A9/ F - ASIRFAIX 2.0~3.0 41K1E Kt 105
25| A AIX/* - Ao IRFAHIX 2.5 1IRIE KN 105
25| AHIR/F - hSIXRFHIX 1.0~ 24 100 |#%xH =FB 200
325|F A9 /* - Ao IRFHIX 1.5 30 30 |F%H =B 200
326|F A9/ F - AhS9RFAIR (ZIUEEI Y ) 1.7 50X50 12M F£5 209
27 | FAIR/F - hSIXFHIX R—bDA42"] 1.2~2.0 50 (Al & 172
27| FAIR/F* - ASIRFAII R—rDA42"] 1.0~1.5 24 200 |FxH =36 200
27 | FAIR/F - hSIXFHIX R—bDA4"] 1.2~1.8 30 20 |FHFH =8 200
328|FAIX/* - ERAHIN 21 5B 38
329 A5 /F 9 40 [#p K & 150
30| AFHURNIUTFVITSUR” 10.5 100 [#aAk 1EBE 146
B FFIVTVRS A 1.0~3.5 50 |aH X 38
B AFIVYT VRS A 4.0~7.0 206HF X 38
331 |FFVTVRI A 21 51aF 38
B2 AFITURS L AX AV 10.5 51aF 38
333 AFIRIS L TIV—RI—" 15 1,000 |55 =8 164
334 | A5 0.7 18 10|58 = 138
335|749 ~¥+ 9 400 IR =58 131
336| AT 10.5 30|85 R 150
337|AKI3TYUX 2.0 51aF 38
3371 A3V X 1.5~3.0 20|91l & 172
338[A hTJTDVX (%]) (ZHNUFEX VL) 1.7 50X50 12 &5 209
339|030V X () (ZHUEEX Y L) 1.7~1.9 50%50 BIEE 209
340 A ZEASF 1.0~1.5 30| == 86
M1 A=FTY 9 2,000 (5K EX 150
342 |7 ETH 9 S0 [8AK EX 150
343|FE L 10.5 500 |ZE& K 58
343[FEB 21 5|4 EX 75
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344 A U—T 1.2~1.5 20 [HP EF 72
344|471 —T 10.5~21 100 |5PH Bk 75
344 | A U—=T 1.8~2.5 RB PE | XIE KT 105
3444 U—T 1.5 24 50/ BB 145
344 | A U=T 2.5~4.0 10|ZE/8 AT 186
344|471 —2 0.2~0.3 10.5 1,000 [IF K 7% 195
344 | A U=T 0.6~1.5 15~21 S500[IF K % 195
344|470 —7 1.5~2.0 26 S50|IEKR /% 195
344 | A U=T 5.0~ 8|IFA % 195
344|470 —2 1.0~2.0 24 50 |7%RH  =FB 200
3454 U =7 (ZTlUFEE v ) 1.1~1.9 50%X50 10|=h &FFH 209
345 A U—T (ZfFUEE V) 3 50X50 1= F&FH | 209
346 |7 U—T (#k3D) 4 1|&=5 B 32
346 | FU—7 (#3iD) 5 [I= =N 32
346 |FU—T (#k3D) 6 1| EE Bx 32
346 | A U—T (#3iD) 2.5~3.0 50 |7%E =+ 89
347 | A U—T I FLw /" 1.2~1.5 24RB 50 |FR &YX 81
347 AU—"T" I TFLw /" 1.5~1.8 30 PR &EX 81
347 | A U—T vy /" 15 1,000 /& FEfT | 217
48| 47U—TF L=/ 1.2~1.5 100 | X% #—H8| 65
348 | A U—T*F L= 1.5~1.8 100 K= #B—B8| 65
48| 47U—TF L —/" 1.5 100 |#%FH =E 89
48|70 —"F LI —/" 1.8 50 (%H =+ 89
48|47 —TF L=/ 2.0 150 |#%H =E 89
M48|7U—"FFLI—/" 2.5 100 |&FH =E 89
M48|4AU—TF L —/" 3.0 50 |F%FH = 89
48| 47U—"F L —/" 4.0 10|7%E =+ 89
39| AU TN\ 4O0T5T” 15 1,000 [/J\#k BE1T 217
350|74aU—" TS AT 2.0 30|7FEH =E 89
350 AU=T" TS/ A4 A" 2.5~3.0 10|5%@B = 89
351 | AU—T"w¥—O” 15 1,000 vtk B&fT | 217
32| AU—T=wy 3" 2.5~3.0 30|F%FH = 89
353 | #U—T")LwvH” 1.5~2.0 50 |#%HE = 90
/4| AT LwF—" 1.5~2.0 27RB 50 |FR & 81
355 | A UYVILS Y (BIA) 10.5 30 [FAK  ER 151
3564 LU/ 9 20001 & 131
357 A4 RS 1.0~2.0 300 [EE &T 186
358| AL RT - —FHARD 1.8 FIERGP.ShH 105
358| AR - —FHARD 2.0%¢ 5K Kt 105
359 A4 RD - TEAHARD 1.5 100 [Pl E=8A 170
359 AL RD - TEHARD 2.0~2.5 150 AL [EBR 170
359 AL RT - TEHARD 3.0~ 30|91 [EBR 170
360 DS 9 500 IR & 131
b1 HITESFOFD” 3 B BEx 32
61 ATITETOFT” 1.2~2.0 200%F HA 35
362 | AT T EDER (KKE) 3.0~3.5 5%F i} 35
363 AT EBELL” 1.2~1.5 200%F H=B 35
364 | HITT - PAUANS /F"F—LAA OVT” 2.5 20|BH 8 38
365 AT - PAUANT JFHGI—L v R 1.5~3.0 5B 38
366 |ATT - PAUANF /FYavFydI—)UR"] 1.2~15 1,500 | &HF K 38
367 HIT - PXUANF /X ZAhOV” 4.0 3BaH L 38
368 | HIT - PXUANF /FTS55—042"| 1.8~3.5 30 |aH X 39
369 | AT - PAUANS /F Uy RY Y N ~2.5 50 [AHF KX 39
369 | AT - PXUANF /F LUy RYYBY N ~5.0 80 |4aH }X 39
39| AT - PAUANS /F Uy R EY N ~7.0 20 6H KX 39
370| AT - A9VAHIT 1.89%% Pot WE |RIE KN 105
371 731?“-4917731?“ (¥K11) 2.0~ 1054 X 39
3721 HIFT - JUtDOA 3.0 15[aH X 39
373|HIT - :I —SIT4TFUDLNTRAIT TSIV 21 20 6HF X 39
374 AT - ANDFTOHITT 2.5 3| EE MBx 32
374 ATT - ANODFOALT 3 IS YN 32
374\ AT - ANDFDOHIST 2.0~3.0 200 %1 B 35
374 AT - ANTDFTOAILT 3.5 258 —F 160
375\ AT - AN\NDFTAIST (BKkiI) 2.0~3.0 20 [P A& 172
376|HIT - JTATT H—Z_NN)U” 0.5~1.0 30|6H X 39
3771 ATT - ATHIT TILRNILU VI L 1.5~3.0 20[6H K 39
378 AT - JTHAIT LY R vAV” 1.5 2016H % 39
379 ATF - hOAIT ~5.0 15[6H * 39
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/9| AHIF - UhDAIT 1.2~5.0 250 |1&aH % 39
379|ATF - Y hOAIT 1.2~1.5 50|F%FH = 90
/9| hIF -HYhOAIT 2.0 5|%E = 90
380| AT - YFIVYNAIT 10.5 20|16FH ¢ 39
81| ATT - BATVAIAIT IRIG VBV N 4.5 30|1GaH KX 39
382 | HIT - T+FF0O=7 10.5 20| BFH 39
383|HTIT - bUAHIT 4 3IXE KN 105
384|ATT - hONTT (EE) RB PE|RE KT 105
385|HTT - bUATTIEHNE" 1.20%~2.0 RB 40 |K1E KN 105
385|ATT - NUATTERIE" 2.5 2|K1E KT 105
385 | HIT - FOATTTERE" 0.21 [HESFP.Sh 105
386 | AT XTVRAIT IS YTANUIASIL"] 1.5~3.0 0|BH KX 39
387 | HIT - RITVRAIT I UAVA ~5.0 10188 % 39
387 | HIT - XOVRAIFTITUHVR 1.8~4.0 50 aH X 39
388 | HIT - XTVRAITHA—LARIFESFIL| 2.0~3.5 30|16H X 39
389 | HIT - XOVRAIFT OISV ~5.0 20 6H X 39
389 | HIT - XOVRAIFDOS=ZD” 1.2~4.0 120 [ &F K% 39
389 | HIT - XOVRAIF OISO 2.5 5|#F%FH =E 90
389 | HIT - XOVRAIF OSSO 1.5~2.0 RB PE|KIE KN 105
390 | AT - /Iboxz—hHIFT 1.0~ 20 6H X 39
01 |AHIT - /IO I—HITIXS)IVRITA—2 3.5 5|8HF )€ 39
392 | AT - IOz —AHIT FIVLAT v R 4.5 20 6H X 39
393|HIT - DT —AIFT ULV YFVT"] 1.5~4.0 50 |aH X 40
303|HTIT - IO —ATITTULYIET” 5.0 58H 40
394 | HIT WO —AITIJULYYEYFa2U-" 1.0 30 |aH K 40
35| AT - JIVDIT—AITRSEVT A" 1.5~2.0 30|16H X 40
396 AIT - /IO —AIFTTUYAMYT-)LR"[ 1.5~3.0 50 |aH X 40
396 | AT IOz —AITTUYZASYO-LR" 3.5~ 20160 % 40
396 | AT JIWOI—AIFTTUVAMYT-LR[ 4.0~ 20|BH ¢ 40
396 | AT IOz —AITTUYZASYO-LR" 5.0~ 10184 % 40
397 | AT - N\DFTAHIST (#KiD) 2.0~ 5|8 € 40
398 | AXIT - \NDFDAIT "EHER 0.8~ 30 | EB— 224
39| AT - NOFTAITHRERLH 1.2~ 20 IR FB— 224
400 | AT 5 - EFDF DT (#IL) 2.0~ 58HF 40
401 [ AHTZ 10.5 100 |9 2K 75
402 | A+ (ZTUFE v ) 1~1.8 50%50 AEEEE 209
403 | AFREL - ARk - 5 - BB - Fus” 0.15~0.21 10| XN 105
404 | hE - RE - Ak N - S - BE WA BE 78 - BR - #| 1.5~3.0 300 |&fE XN 105
405 | h+ - H'BE - B8 - R0 - #50 B AR B ERC] 1.0~1.5 Pot 100 |XfE XSt 105
406 | A7 - DI bFDHh 12 60 XE B 54
407 | hE - TR - BB - EEAA - BNBE - 35 - Y97 [ 1.209%4~2.0 Pot 100 |XfE XSt 105
408 [ AFYNNY 10.5 500 %8 % 54
408 | HhF YIS 10.5 500 |Z%RH W — 98
408 [ AFYNNY 10.5 400 [#84K BEBR 151
409 | HO S/ F 9 50084 &EX 151
410 A2 b5 /7 (B%EH) 30 20|6H ¢ 40
NPV 3.0~ 10|58 —& 160
A1 |\ AoL= ) 1.8~4.0 50 5Ll & 172
N2\ K0/ (ZFEFEEX Y ) 1.2 50%50 DEREE: 209
A3 ATU=/ (#iL) 1.2~2.0 70 |FR &Y 81
413 H0 LU=/ (BRiD) 2.0 50 |F%REH =E 90
A3 HT U=/ (BRI 2.0~2.5 50|%FH =+ 90
A3 |HT U=/ (#kiD) 4 ES P Sh 105
414 | AP RYT 10.5 300 %R #8 54
4158 - F=H3 4.0 S5IFR F|&X 81
A5 By - TSH2 0.2~ 10.5 2,000 |8l HE 177
4158 - FoH3 0.7~ 15 1,600 |2l HRE 177
A5 By - TP SHE 1.2~1.8 15 500 |81l B 177
416 |HY - 75hHY (%I 3.0~4.0 20| K1E KN 105
416 |HY - 7S5hHY (#RiD) 5 6|KE KN 105
416 | HhY - P5HY (BRiD) 8 1IXE KN 105
416|HY - 7S5hHY (#BR3D) 2.5~4.0 80 [HLl & 172
4171 HY - ONXAY 1.0 24 10|%H =FB 200
418 HhY - 5hHY 1.8~3.0 300 |HE E 72
A8V - IVTH2 2.0~2.5 21RB 400 [FHR &Y 81
48| A - IF5H3 1.0W%~2.0 RB 100 |XfE XSt 105
A8V - VT5H3 0.12~0.15 13|K1E XN 105
A8 By -T2 2.0 22 300 |9l EHBA 170
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4188V - IZH 5.0~6.0 0.40~ 10|l & 172
A8l HY - T5H3 0.3~0.5 10.5 7,000 |8l B&E 177
M8 AV - VTH2 0.7~1.2 15 1,000 Bl HEs 177
A8 Ay - VTH 1.0~1.5 500 |8l B&E 177
4188V - UZ5H 1.8~ 300 | #Fth 182
418 HY - IS5H3 1.5~2.0 600 |=8 JET 186
418|815 H 0.10~0.15 50|58 &S 186
A8 HY - 53 1.0~1.5 30 30| &H =B 200
49| A8 - IZAY (ZFNEFEEX Y ) 0.9~2.1 50X50 4= F£F 209
420 A - 5 (BRi) 1.8~2.5 60 |HE E#] 72
420 B - 5 HY (B 1.5~1.8 0 FR &EX 81
420 A - U5 (BRI) 3 2|X1E Kt 106
420 B - 5 HY (B 5 5|K1E KN 106
420 HY - IS5HY (B 8 FAES DS 106
4208 - 5 AT (BRI 3.0~ 50 [fhEH 5 169
420 HY - I5HY (B 2.0 24 200 [Pl E8A 170
420 HY - V5HY (B 2.5 100 | [EHA 170
420 HhY - I5HY (B 3.0 100 AL EBA 170
420 hY - ¥ 5hAY (BRI 1.8~5.0 150 |51 & 172
21| A - Z5AY @) (ZEUEE VL) 1.9~2.3 50X%50 =SS 209
422 | hY - ISRy (B (ZalHEEY Y ) 2.2~2.4 50%X50 3= FS 209
423 HVa<IL (D31 0.2 10.5 50 |¥%RE = 138
424\ 1KV 1.2~2.0 RB - Pot PE|KIE KN 106
425 A0 - ZILXU T HY 2.0 104 X 40
426 | A0 - o40—F—7 2.0~5.5 40 |[aH X 40
427 [ hYD - TIVAR - ARIZ T2 U7 TV—YAN(7="] 2.5~5.0 351845 K 40
128KV D0 - J)LAR - RELUT“ARY— K 0.5 58HF € 40
429 AV - 00RY T )bRNy T 4”7 2.5 5188 40
4301 A0 - MLVOAYD (BEH) 2.0 10|aH X 40
431 | AYD - )N\NJOTHVD 2.0 15[HaHF X 40
432 | A0 - LA RVFaT” 10|65 ¢ 40
433 AYVD - EvA—T0 TU—vES—" ~5.0 20164 % 40
434 | A5 T U 9 508K HER 151
435|570 (Ee) 10.5 200854 BEZX 151
436 | HVYS 1.0~2.5 RB 100 |&<fE Kt 106
436 | VS 3 10|K1E_ XN 106
436 | HYS 0.15 [HERiGP.ShH 106
436 | VS 0.3~0.5 15 30|58 BE 177
436 | HYS 0.21~0.30 30 |EE AT 186
437 | AVT (ZTlUFEEX Y ) 1.7~2.2 50X50 HEVEES 209
438 HWYS (#RiD) 4.0~5.0 10|HF £+ 72
438 | VS (#kiD) 4.0 1038 &X 81
438 HWYS (#RiD) 3.5~5.0 50 [Pl & 172
439 | AF XEF L ROEY” 1.5 20 200 |9l E8A 170
439 | A XEF Ly ROEY” 2.5 50 [P EHEA 170
440 | A AEF Ly ROEY” (ZTNUEE VY M) 1.4 50X%50 3= &S 209
A0 | AT XEF - FEI AT A VY R Oy 1.2~1.8 180r21 300 R &EX 81
441 | AT XETF - FRBIAF XLy R Oy, 0.3~ 10.5 250 |8l HE&E 177
A0 | AT XEF - FBI AT A VY R Oy 0.8~1.0 10.5 200 Bl HEs 177
441 |AFXETF - FBIAF XLy R Oy, 1.8~ 21 100 |FfE b 182
A4 | AT XEF - FBIAF XUy R OV 1.2~ 18 2,500 [1IEK 1% 195
QA2 | A A EF - FREf AT XLy ROEY” 1~2 100 |97 2 75
A4 | A AETF - FEf AT ALy ROEY” 2,000 |&%RH #— 98
443 | H~ 10.5 300 %R # 54
QA4 | AR = 1.0~1.2 15|K1E XNt 106
444 | AR A= 1.0 Pot 50 |X1E XSt 106
QA4 | AR = 1.0 50 |K1E KT 106
444 | AR A= 2.5~3.0 5l s 172
QA4 | AR = 0.2~0.4 10.5 200|2l HE& 177
444 | AR = 0.2~0.4 15 200 |81l HE&E 177
444 [ AR = 2.0~3.0 10|58 &g 186
445 | AR X="R /—Hh—)L" 1.2~2.0 100 K= #®—BB| 65
445 [ AR =R/ —R—=)L” 15 100 | K= #%&—BB| 65
446 | AR A= - ETIWFL - T4 XX 2.5~3.0 5[l & 172
446 | ARXZ - ETIWTF L - T4 R 0.3 15~ 200 [1IFKR 7% 195
447 | ARV A (BAE) @I 3.0 10|58 Ag 186
448 | AXU P TUFARAT—R (ZfaliZz¥~x v ) | 0.6~1.4 50%50 6|2 FH 209
449 | BV 3.5 1|XIE KT 106
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No e ] 2% (cm) rE £EE B

449 |7V 8.0 3=l — 160
450 [ A ANYYY 0.2 10.5 2008 = 138
450 [ ASANYYY 0.2 15 100|%R = 138
451 | ASRTOAT A A F—=N\N=9 L\~ 20 102 #%&—BE| 65
452 [ AUD L - ARTY 0.5 5af 40
A3 | HURTEY 1.0~15 25| K% %B—B8| 65
454 | HURTEV'EV I v IN” 1.0~1.5 50| K= B—HBf| 65
455 [ AURTE U—TREV D 10.5 50 |%H =EX 75
456 | AUV 1.2~1.8 Pot 50 |&tE  KIt 106
456 | AUV 3.0 30|XE Ko 106
457 | AU Y (RN X v b) 0.9 50%X50 RlEE 209
457 | HhU Y (ZiFUFE Y ) 2.0 50X50 =EEEE 209
458 | HIL=7 0.4~0.8 300 %+ =i 35
458 | AIL=7 0.3~0.5 100 |EE &S 187
459 | HIL=77 &Hig EDE |IK FT— 224
460 | HIV=7 (ZFEFEI Y ) 0.8 50X50 AEEEES 209
461 | HIL=7 (EE) 0.3~1.0 100 | FH— 224
462 | HIL=7"040—TJ U AR K 0.54%40.5~ 30 |IEK FT— 224
463 | HIL=T7"F ARy R” 0.6P9440.6~ 300 |MA H— 224
464 | HILV= 7" F U EY I D7 A7 =" 0.5440.6~ 30K FT— 224
465 | HIL=77" 05" 0.6M50.6~ 150 |MA  &=H— 224
466 | ML= 7" vOO0—X" 0.5%t 30K BT— 224
467 | HIL=7"AT 4D v K> 0.550.5~ 100 | MR F=— 224
468 | HIL= 7" EV I R=)U” 0.54%40.5~ 50 |[IEK  FT— 224
469 | AIL=ZT7 " RURYZ” 0.59440.5~ 30 |MAE F— 224
470 | AIL=7" P F—Ro—R=)L” 0.59%10.5~ 300 | A  =— 224
471 AL v I X (ZFNUEE v L) 0.6 50X50 1= &S 209
472 | AL v I R*T)N=0—=)L K" 21.0 30|FH w— 98
472 | AL I " ITN=0—JU K" 9 1,500 P I/R =8 131
472 | AL O R*T)N—=0—=)L K" 10.5 1,500 |55 me 146
473 | AL I AT A" 10.5 0 %RE & 54
474 | ALy 2 X" TOVXA=)U” 10.5 50 |F&E  ah& 202
475 | ALy I X by R)U—R S =" 21 20| K= B—HBE| 65
476 | AUV IR - FIAVIZ*T)N—0—) 15.0 50 %= K 58
476 | AU W IR - FIAVIR"T)N—0—) 10.5 2,500 |sFE  ahE 202
477 | AOSAFIv A=Y 0.2 9.0 3,000 | = X 58
477 | HOSAF I v A=V 9 1,500 IR &8 131
477 | AOSAFI v A=Y 10.5 13028 —3 156
477 | HOSAFI v A=Y 0.3 10.5 200 (#L FF 204
478 | D= F7 0 10.5 300 IR && 131
478 | ADZF 70 9 1,000 |3 EX 151
479\ o7 a4 10.5 500 8K X 151
479\ ho 7 a4 9.0 50 [ 54 183
480 [ hvFY: [U-T70=Y 8D Kuay - y=-79-%- 3% &g | 1.0~1.2 RB DE|XKE XN 106
481 | AvxY - FORY - RIF - ARR) 1.0~ RB 100 |&fE Kot 106
482 | hr+Y - AFHY 3 1|=# X 32
483 | AVFY - TSI F Pot 50 |XfERIT 106
484 | AVFY - = AVSEN= A 1.00 Pot 200 |&fE KIT 106
485 | AV FY - = AVEEN=HERE 1.5~2.0 RB 100 [K{E AJT 106
486 | AvxY - IX ({£AX) 1.0~ Pot 50|%fE Kot 106
487 [AvxY - OAX (FERRL) 1.5~1.8 RB 10 [K1E Kb 106
488 | A+ - IX (KIX) 1.0~ Pot 100 |%fE KXot 106
488 H>*xVY - AX (KIRX) 1.5~2.0 Pot 50 |XfE Kot 106
489 | AV/FY - SAL TA VA=A 0.7 20 (FH = 90
490 | HoxFY - LEY 1.0~1.8 20|7%H =+ 90
490 | AvxY - UEY 1.2~1.8 RB 150 |%fE Ko 106
490 | HoxFY - LEY 2.0 RB EIER P D 106
491 | VARG - IRAVAY 10.5 3,000 IR =8 131
191 |AVARYT - IRAVAYT 10.5 1,000 |55 =] 146
491 | AV RY - IRAVARYT 10.5 1,000 |SFE  5LE 202
492 | AvF (EBE) 12 200 |#AK  EBX 151
493 | AV F " IAH—=T A" 27 100|664 % 40
494 94" D=R(XR) - MAUFR) - T=R(XR) - OvF—=(#A)[ 1.5~2.0 RB - Pot 100 [K1E Aot 107
495 |[FTEx 10.5 20017 =58 131
496 |FF+3D 9 1,000 ) T/R 5 131
496 | F++3D 9 4,000 |#5ARK  EBX 151
497 |F¥*F3D (B) 9 100 TR &8 131
498 | FF3 D5V - TAT XD 12 100 %8 # 54
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499 | X055 - PAIAFTITF—L 7" 1.8 T0|GH % 40
499X TT5 - PAUAFTTFA—L 7 18 S[aH % 40
IESDEY. 0.5 | 20,000 |Z#% Ik | 58
IEEDELY 10.5 | 1.500|70k & | 86
IESDELYD 10.5 | 4.000 %@ 47— | 98
IESDELYI 10.5 | 2,000 1R =5 | 131
IESDELYD 10.5 | 8000|854k 85 | 146
NIEEDEED, 10.5 | 2.000[85K EZ_ | 151
IESDELY 105 | 1.000|= —& | 156
NIEEDEED, 10.5 | 1.500|57= L& | 202
501 | ERoY 10.5 | 2.000 7k #7— | 98
501 ROy 10.5 | 2.000|%E & | 100
501 ROy 10.5 | 1.500[%A @S | 146
501 [ FRos 10.5 | 2.000]85A& X[ 151
SIESE 10.5 | _1.000|&E —5 | 156
502 [Xhoy (&) 15 20167 % 41
EIELGPEC 0.5 | 3.0001E &8 | 131
503 FR0Y (& 9 3.000[ TR B4 | 131
504 XKD (BEA) 9 20084 #Z_ | 151
505 [ FRD S TI—F LI U—L 15~30 10]5hm =% | 75
506 TR TI=—=5" 12 SOpER >4
50/ [ F RO TIEZSA TX 1530 SOIHH 2k | /5
508 PRI TL DI 12 230155 15 24
509X RIS T~ R LIARTT—V 3 TIX 21 20[@ =% | 75
510 2R 70T U—PIL 15~30 20[th@ =% | 75
BN ERO S TN T 7475 105 | 2.000[[E =& | 131
SN EROS TNT Y T4 7 15 20T =8 | 131
S12[ RO T—)L AT VT — 1 10.5 300[%28 54
S12 | FRO S T )L RRT VT — [ 15~18 10[PE 5= 75
NEIES G IN G PEC PPN 12 6028 & 54
B13 | ERO S T LT TRAT I A 15~30 20[@ =% | 75
514 FRo S TN — 15~30 20[0E =% | /5
515 ERo s Ta— 15~30] _ 150[ch@ = 75
S16|FROS 254 L 7 18 100|E = 76
51/ XM 27T RTSZ 15~30 200 =% | /6
S18| XM T 1—ROw S 105~18] _ 200|@ = 76
S19 RO Y Ny Y1 12~15] _ 300[@ =% | /6
520 XRO S NILAY 1518 50[5@ =% | /6
VAN ES N 21 T0[hE = 76
522 | FROS I5TSIRT—F 12 20028 18 54
VEIE LGP 12 25028 1% 54
VEIE 15~30 20[@E = 76
B4 TR S T LAY T 15 20(0@ = 76
525 F RO T—ATw K 10.5 300 %8 18 54
YAESCPIEVE 21 20[P@H = 76
52/ RS FUAATTNIL 15~30 20[@E = 76
528 ERO S T TS I AT 5" 15~30 10|PE 5= 76
520 F Mo R— L XTI O — 12 30[2E 4 54
B30 FRO S REX W I TS 15~30] __100|9H =% | /6
53 [ ERD S YN E—7 15~18 20[0E =k | /6
B FRO S ==y F 18 20[cPl = 76
533 | EMO S LU — 15~30 50[cE = 76
B34 EROS ST VX 15~30 50[thE = 76
HELCPPEIBIN 15~30 50[hE 5% | 76
AES R DN 15~30] __100[cH = 76
SRYES 15~18 20[@E =% | 76
538 XA - FNYEERDTY 1530 50[@ =% | /6
539 XMOY - AIERTY 15~30 50[E = 76
530[XRDY - RIERDY 10.5 300[85A& & | 151
S40|FRDY - LoUERRO S F—DENET 5 12 25028 & 54
541 % vy R=YR 9 2001 =8 | 131
542 [k vomD (F) 0.8 2[&fE_For [ 107
542 [Fvomo (1) 1.2 4% ki | 107
540 [FvomT (&) 1.5 B&fE _Fsr | 107
542 [ Fvomo (1) 1.8 1|&fE K| 107
542k vomT (B) 2.0 258 —5 | 160
543 Fvomy (D) 25 3[EE Iy | 160
544 ZvorT mkvo 0.15~0.2 105 500556 & 52
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545(F30F 7 D (ZIFTNUFEX VY H) 1.5~1.7 50%x50 5= FH | 209
546 |F3DFTJbD (BHHA) 15 10|9PH JFk 76
547135 /A3 10.5 100 P TIR &8 131
548 |39 Ua9/)\A 21 S5|K% E—B8| 65
Y EIEEDENIYSA 21 5164 X% 41
550|F3Ua'0€7”” 21 10|64 X 41
551 | F3UaoNAVIN=D4—EVTF =Y =" 36 3|9H 76
552[F3Uao/)N4 - )\&E GR) 21 5|%H JFk 76
553|F3Ua 0087 (RTEFEXY D) 1 50%x50 EEE:5 209
554 |1 (1) RB PE|RIE AN | 107
555 |+ AHY 1.0~1.2 159 & 172
555 |F>VHY 15 100 /v BE1T 217
556 |F VAV (ZTUE=¥X Y b) 0.5 50%50 (=SS 209
557 |FVAHY (KF) 2.5 119l & 172
558 |F>VJHU 2.0~2.5 5|KfE K 107
559 |F VI NA 0.2 10.5 500 |%H &2 100
559 |F VI NA 0.3~0.4 15 300|&H &2 100
559 |F VI NA 0.4~ 15 500 |5F& sh&¥ 202
560 |F>/)\A 7 13.5 400 DER 18 54
560 FV N1 5 0.1~2 10.5~36 500|FH 2Kk 77
560 | F/NA A 0.5~0.8 15vp 200 3R FX 81
560 |+ /N4 A 1.5 S5|%E _XIT 107
560 | F/NA A 15 10PIR &8 131
560 |+ /A7 0.5 15 50|&8 —5 156
560 | FV/N\A A 0.4~ 15 S50 1ER 7% 195
560 |+ N4 7 10.5 1.500 |78 35h& | 202
561 | FUNAH (ZRTHEFEI Y H) 0.7~1.2 50%50 8=l FFH | 209
562 |+ N4 7 (HBZE - BEA) 0.2~ 10.5 300|F& sh& | 202
563[FNAH (BEA) 0.2~ 13.5 1.000 578 sh& | 202
564 |FVROTa (#RiT) 1.0~1.5 24RB 30|EE 5T 187
565 F>~)L/NI—=HY 21 10|9PH % 77
5660 | FVET A 3.0 20 |t R F58 34
566 | FVEIT A 1.5~1.8 200 |FR  F+/X 81
5660 | FVET A 1.2~2.0 700Xk K 107
566 | FVEIT2A 3.0~3.5 3|KE_KIT 107
560 | FVET A 0.3 10.5 500|% R = 138
566 | FVEITA 3.0 50 [{PH &% 169
560 | FVET A 3.5~ T 173
566 | FVEITA 0.2~ 10.5 800 |2l RE 177
560 | FVET A 0.3~0.5 10.5 500 |8l HBE 177
566 | FVEITA 1.0~1.5 15 450|811 B 177
566 | FVEIT A 1.5~2.0 100 |=E J&d] 187
567 | FVETEA 2.5 [ESCGPN1) 107
567 | FVETEA 3 3KfE K | 107
567 | FVETEA 3.5 AESEV.NA 107
567 | FVET A 15 400 |/\#h BT 217
568 | FVET A (ZRITUEEY Y ) 1~1.8 50%50 3= FH 209
569|271 0.60 RB - Pot P8 IRE AT 107
5701 09VYy (Z1TUFEE Y v ) 0.3 50X50 1=/ FF 209
57118909 % 10.5 300 %R #8 54
571051 9% 10.5 100 |#AKR &R 151
572|0R/* 0.3 3=| —F 160
5720 /* 0.4 3|5l —F 161
573| AN — Pot DE|KE A | 107
574\ 0FFY 0.5~ 300[%ZR #8 54
575|7F 7Y (ZTWUFEE Y K) 0.9 50%50 1= #F5 | 209
576|0FF Y (—85) 0.6~ 20[MhAF FB— | 224
5771 0FFY (J\&) 0.6~ 20 AR T— 224
578\ 0F Y - A0FFY 0.3 12 10.000 |Z@%  FIK 58
579X+ Pot 40 |KtE ROt 107
579X+ 0.3~0.5 10.5 | 12,000 (£l HB& 177
5797 X+ 0.5~0.9 12 4,000 |81 FE 177
57903+ 0.7~1.0 15 600 |8l HE 177
579X+ 2.5~3.0 50 |5E 50 187
57902+ 0.24~0.30 30 |EF &T 187
580|7= (ZfTUZ=¥ < v k) 1.7~1.8 50X50 2|2 FH 210
58172 B2 -WJ=-—F7J=-EwIUJ3) | 1.0~2.5 RB - Pot 150 |%&fE Kt 107
582 [J="F)LhT v 10.5 50|6H K 41
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582 | ="F)ILhT v 10.5~21 200 77
582 | J="F)LhT v 500 98
582 [ J="FILbT v ~0.5 15 300 100
582 | J="F)LhT v ~0.2 10.5 500 164
582 [ J="FILbT v ~0.5 15 800 |= 164
582 | ="F)UhTw ~0.6 15 1,500 166
582 | ="F)LhIT v A4~ 15VP 200 187
582 | ="F)UhTITwY 1.0~1.5 20.0RB 50 |E 187
582 [ J="FILbT v 0.4~ 10.5 800 |= 202
583 |7 FILhITwI” (REUEE W H) 0.8~1.2 50%50 6 210
584 |7=-F70v07= 0.3~0.5 15 20 100
584 |7=-FD007= 0.2~0.4 15 200 177
584|7=-FDY0J= 0.8~1.0 15 300 177
585|70=-EwJUJ= 5 1 107
586 |7= - ]J= 0.3~0.4 10.5 500 178
5871077 v )L 0.25 1 107
588|057 v IV UEAR 1.5~2.0 RB 40 107
589|751 — 10.5 200 202
590|271 (%) 0.5~0.8 10.5 100 178
590 U (E%) 0.8~1.2 12 150 178
590|7U (%) 0.8~1.2 15 100 178
590|27U (%) 1.2~1.8 18 100 178
590|270 (& 1.5~1.8 21 80 178
591 U BIR - RO9> - il - 7% - BR - FR - FER - F¥"| 1.5~2.0 400 107
592 | JUFER - TR - FIME - §REF - HE - 2557 1.2~ RB 50 107
593 7U - lIEE 0.4 1 107
594 |20 - |1IEE (ﬁ?‘f@é?&?‘/ ~) 1.8 50X50 1 210
595 | JURXRAO—X 10.5 1,000 58
595 |7 URYZAO—X 15.0 500 58
595 9U7\77\D—7\“ 10.5 2,000 146
595 | JURAXYAO0—X 12 303 146
595 | JURXRAO—X 9 2,000 203
595 | JURAXYAO0—X 13.5 200 |57 203
596 | JURRRAO—X (=97 -9 T)) 9~15 [ 1,000~ |3 : 183
5977 URXZ20O0—X (EV7) 12 40015 J 131
597 | ZURXRRAO—X (EVD) 15 100 J 131
5908 7 URXZAO—X (&ARBH) 12 40015 =8 131
598 | 7 URAXZAO—X (&a1BH) 15 1015 =8 131
5997 UXXZAO—X (FkR) 12 510 =8 132
599 7 UXAXZAO—X (FR) 15 201> =8 132
600 ZURXZ2O—X (A) 12 400 | =8 132
600 | ZUR~XZAO—X (B) 15 100> =8 132
601 [ ZURRAO—R"OAVIINUTAI ARLAY" 10.5 30 piv 41
602 | 7JURARAO—X-AUTIVIUX 9 1,000~ % 7 183
603 [ JURAXRRAO—X-ZUITVIUR (&R 12 500]; 54
604 | JIV="FZ7)VZ" (RTUEE v ) 1.5 50%X50 2 210
605 | JIV="8F - AT )L=" 1.0~1.5 Pot 50 107
606 | JIL="BEFTIL=" 2.0~3.0 20 108
607|047 IavyI)NUR 10.5 30 146
608|047 - I3VINUA 10.5 200 65
608U d4 L7 - I3 VTNV 15 50 65
609 |7 L ax 9 100 151
6107 OxX (HHA) 9 1,000 132
611 | JLELT 1.2~ 150/ 145
612 LELZAIL=F 1.0 21 20 65
612|7LEL7Z AL 0.3~ 30 72
613|7UEL7' IV RU=FUT7" (ZFTOEFEE V) 1 50%50 1 = 210
614|727 =)L >va1—0 1.5~1.8 2 = 90
615|707 O v PAR” 1.5~1.8 2 = 90
616|7LEL7 YV EFZA D4 —9—X" 1.5~1.8 5 = 90
617|177 Y3y NV 0.2~0.3 50 F=tl 72
617|707 Y3y NV 10.5~21] 3,000 = 77
618|JLEL7 RTLYIT— 10.5~30 100 P 77
6197 EL7Z EUEF” 10.5 100 = 77
620|ZLEL7 NI — 1.5~1.8 2 = 90
621 9|/|:|/7 EvIlwyR” 10.5~30 100 BER 77
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750 0=07— - FERU—ARRFD4ILT” 1.5 24 100 198
751 30=207— EVFU—APRFT-ILRILVARN 0.3 10.5 500 59
751|320 7— - EVRU—APRFT—IVRILRN 0.5 15 200 198
751 30=207—  EVFU—APRFT-ILRILVARN 1.2 21 50 198
751 3=277— - EVPU—APRFI—IVRILRRN 1.2 24 200 198
751 0=207—  EVFU—APRFT-ILRILARN 1.5 24 200 198
75102 07— - EVMU—ARZFT-)LRILUAR 1.8 24 80 198
/52| 0= J7— - UAZVT« 3.0~3.5 100 188
753|d=J7—-LA5UT«"0—IUR S49—"] 1.5~2.0 20 188
/54| 0=-J7— - UAS YT« O—-ILRSA45—" 2.0 10 182
54| -_Jy7— - LA45VT«"0J—I)LRS45—"] 1.0~1.5 27 50 201
755 1207—U45YT4"0-ILR549-" (ZaE¥~yh) | 0.9~1.9 50X%50 2 210
756 | 0-J7— - LAV R /F*VI)UN—FZAK"| 1.5~1.8 10 188
757 20=Z207— - UNJVRFTU—VTUUR” 15 20 42
/58| =" 7 —- l//\“/‘/Z:\’l‘“t“—Zl\/t)lJ” 15 10 42
/59| 0”7 7— —Je/F 1.0~1.2 1500 54
760| =T 7— Ve /F 7)|J\ —)LR"] 1.0~1.2 80| 55
761 3="77 —_Z'/( /N oy — aJ—" 1.5~ 202 182
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763 | )N/ XA F 0.6~0.8 24 200 201
764| ON/ XA FGIFUF" 15 50 42
765| N/ RAF"S A4 15 30 66
766 | N/ RAF"GS54T” 10.5 100 42
767 | N/ RAF vz U—aV)N\g9" 10.5 50 42
768 | N/ RAAF"~"U—X H— 7J|\ 15 30 z 66
769 ON/ZAF AV —AH—FRw N 1.5 160 Pin 42
769 | N/ RAAF"~A"VY—XH—F v N 0.5~0.8 15vp 150 EX 81
769 ON/ AAFT AU —TH—F v K" 0.8~1.0 18RB 150 |Fk =X 81
770 N/ XA F " A0Ov K" 10.5 150 Pin 42
771N A7 0T 2N A 7= 10.5 80 in 42
771 | ON/ AAF OV T RN A 7= 15 30 iR 42
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7731 37Y 3.0 0.1~0.12 50 ES 90
773137 4.0 0.2 20 = 91
773|137 1.5 50 KN 108
7731 37Y 3 100 KT 108
773|327 0.15 40 KN 108
7731 37Y 0.45 1 108
773|070 2.5~ 3 173
773137 0.3~0.7 10.5 ,500 178
773 07Y 0.6~1.0 12 150 178
773137 0.8~1.0 15 50 178
773 07Y 1.2~2.0 18 150 178
773|307 1.5~2.0 21 200 178
773|307 1.5~2.0 24 50 178
773|307 2.5~3.0 100 |2 188
773 37Y 0.1~0.25 80|& 188
7741373 (#3D) 2.5~3.0 10|12 188
775|373 ON)LI RU—L" (EVT) 2.5 10 ES 91
775|370 RU—=L" (EVD) 3.0 5 ES 91
776 | 7V DT AXEY =" 2.5 30 ES 91
777 070Z< - JOwvduA 13.5 200 £ (= 147
778 | OX1= (Z7UEEX Y ) 1.1 50X50 1 =5 210
779 J)LYU=x 0.5~0.8 50 = 173
780 DJLYURBF—RA/IXS—" 15~30 50 =z 77
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783 )LV UR Ly RRI—" 12 250 %E 18 55
783 )LV R Ly RRYI— 0.8~1.0 8~f 10|E8 &g 189
784 | J)LFHL 10.5 200 [#5 R 151
785 | )b« UxR"F3IL—hr=U KN 10.5 100 |9 2K 77
786 LT A U N—RATFXZ5—=" (HEAL) 24P HESGEES 91
787 | )b« UR"Ly RRI— 10.5 100 |%PH = 77
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790|003 R5740< 0.7 15 150|457 = 138
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792 | UADTF - PAURTARF IASIVRART—R” 3.0 10|aH % 43
793 | TAATF - PAUATGAAFHN—=Z K | 2.0~3.0 30[BH 43
794 A TJURT - PAUAYATURD 24 58 € 43
795 | FA UKD - a2 —RJ— 1.0~4.5 200 |[&F € 43
795 | FA UKD - 23— — 2.5~3.0 30|XE KIv 108
795 | A TJURT - Ja—RJ— 5 1XIE XN 109
795 | FAJURD - 23— — 1.0 24 50 |7RH =8 201
796 | A TJUMRY - Ja—R1J— (#3iI) 2.0 10%8 55
796 | FADJURT - a2 —J— (¥k11) 1.8~2.5 50 RZE %B—EE| 66
796 | UATJUMRYD - Ja—R1J— (#3iI) 1.5~2.0 200 R &|X 81
796 | YA TJURT - I2—~RXJ— (#3) 2.5~3.0 200 |#R  |/X 81
796 | YA TJUMRYD - Ja—RJ— (#iI) 3.0~3.5 80 PR F|X 81
796 | YA TJURT - I2—u~XJ— (#3D) 2.0 50 |7%FH =+ 91
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803 | HUAhH+ A 1.2 50 [K1E AT 109
804 | A+ bUAHT— 1.2~1.5 21K% B—B8| 66
805 | T AF"TA4AUTHF" 1.2~2.0 300 | K= B—Hi| 66
806 | U+ - JAUTHF 1.0~1.5 100 [P &Y 81
806 |Th+ - JAUTAF 1.2 200|911 [EBF 170
806 | U+ - JAUTHF 1.2~ 5% & 173
806 |UH* - AU HF 1.5 50 |EE AT 189
807 | YAh+x - JAUTAHF (#%iD) 1.2~2.5 300 [1IEKR % 195
808 |TH+ - JAUGAF KU AT 1.0~1.2 10180 & 173
809 | UA+ - AU A+ 1 30|XE Kov 109
809 |UH+ - AU HF 0.2 10.5 1,000 |58 = 139
809 | UA+ - AU A+ 1.0 3|HY b 165
809 | Uh+ - AU D+ 1.5~2.0 50 (gl & 173
810|TH+* - AT HF (ZTHUBEI V) 0.9~1.4 50X50 Rl=EEEE 211
811 | YHh+ - AT H+E A 0.2 10.5 1,000 |55R = 139
812|147 (B1n) 9 300 [#BAK EX 151
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817|070 > &y 1.5~2.0 100 [K1E AT 109
818 | #7738 21k el 7085 7216 2L BE 100 P-10-R DD AR | 1.2~2.0 RB-Pot| 1,300[KfE Xiv 109
819 |0 J S S 1.5~2.0 100 [K1E AT 109
819 |00 S " S8 2.5~3.0 50 |XfEKov 109
819 |0 J S "SHH 0.10~0.15 100 [K1E At 109
819 |00 S " 58" 0.18~0.21 IER .~ 109
819 |0 J S "SHH 2.5 70811 EH 170
820 |0 T "W 1.5~2.0 100 |%fE Kot 109
821 | YIS A FDEE” 2.0 70|7%H =+ 91
822 | U0 S iz " 0.50~0.60 1|&E Xt 109
823 | YIS IPHKE 3 20 |K1E AT 109
823 | YU SHIPHE 0.12~0.15 30|XE Ko 109
824 | O BWII” 1.5~ 20 |K1E RIT 109
824 | T Z"EWII” 3 10| XfE Ko 109
824 | "BV 0.10~0.12 20 [K1E At 109
825 | U0 S N &” 1.5 20| XfE Kot 110
826 | YU IR ER 3 150 [K1E Aot 110
826 | YU S IR 0.21 RERP.~h 110
826 | YU S IR FERE” 0.4 [ESEFSH 110
827 | U S IR (#R11) 3 1&E Xiv 110
828 | U IS AR (ERE) 0.12~0.15 30|&fE Kot 110
828 | DU ARE" (EHEE) 0.3 3K Kot 110
828 | U IS AIRE" (EHFE) 0.35 [ESEFSH 110
829 | DT " HEE" 0.12 [ES(EP.Sh 110
830 |7 S k@ 2.5~3.0 20|K1E KT 110
830 | YT 5" 3 0.15 HESEP.SD 110
830 | YU S kzE” 0.12 3IEE Kov 110
831 | DU T rai” 0.4 ESCP.~h 110
832|035 - o= Y035 105—-%" 4.0 2|F%FH = 91
833|505 - AHA 1.0~1.5 20|&tE Kot 110
833|035 - AN XK 1.8~ 5[A F— 225
834\ Y0Z - 7_|'7]>(7“' (ZTUEE N v ) 1.9~2.7 50%50 A= 211
835|505 - YUtk ~8.0 150 o X 43
836 | U075 - V9 Utk (ZITIUFEX v ) 2.8 50%50 1= =5 211
837 | U075 - 9 itk (—EEHD) 2.0~ 15Xt X 110
837|005 - 9k (—EH4D) 2.5~3.0 | 0.10%t 40 |K1E K 110
837|007 - 9 itk (—FH) 3.0~3.5 [0.10~0.21 25| KE KRIv 110
838 |HU T - U9 Ltk (#RIL) 3.5 1XE X 110
839|005 - VT U \ERL 2.5~3.0 | 0.10% 30 [KME KIv 110
839|TT0Z - YT UK \ER 3.0~3.5 |10.10~0.21 30 [K1E Aot 110
840 U775 - Y9 Uk \SHL - & - Bl - 5 - 5% - —SH 2.0 RB 60 |XfEKIT 110
841 (U035 - 9 LIK'BL 1.5~2.0 50 | XfE KT 110
841|005 - VI UK'EL’ 2 20| &XfE Kot 110
842 | Y05 - U9 UIKE 2.0~25 10 [K1E Kb 110
843|00Z - VI UKE—F" (Kig) 2.5 10| XfE Ko 111
843|075 - YT UKH—F" (Kig) 3 0.10~0.12 10 [K1E K 111
844 |05 - VT UK\ EHL 2.0~ 20| XfE Ko 111
845 |05 - PXH IS ~7.0 200|164 ¢ 43
845|035 - PRFIS 2.5 0.1~0.12 50 |F%FH =+ 91
845 | HJZ - PXHIS 4.0 0.18~0.21 100 |F%H = 91
845|035 - PRHFIS 1.5~2.0 300 |%&fE Kt 111
845 |05 - PXH IS 2.5~3.0 40 |X1E Kob 111
845|035 - PRFIS 0.4 2|KE AIT 111
845 |HJZ - PXH IS 0.12~0.15 30|EE &8 189
846U 05 - VXY TZ (#kil) 3.0~4.0 PER V.S 111
846 | HJZ - PRHY TS (#%iD) 4.0~5.0 20 (=8 &8 189
847 |0 - @R 0.3~ 3=l — 161
847 |03 - JaliEk 0.12~0.15 50 |E@ &S 189
847 |05 - o=k 1.8~ 10 (i FT— 225
848|005 - ik 2.5 50|F%FH =+ 91
848 |05 - ik 3.5 0.18~0.21 100 |F%FH =+ 91
849 U075 - HEHE ~7.0 260 |[AH € 43
850 | Y07 - Ik 1.8~ 5[ T|— 225
851 Y05 - fdEty 3.0 0.12 50|F%FH =+ 91
852 U0 - gt i@} 3.0 0.1~0.12 10|7%H =+ 91
852 | U035 - HEH 4.0 0.18~0.21 100 |F%/H =+ 91
852|005 - ZHEE 0.21~ 30 [fhH & 169
852 Y03 - HEH 0.10~0.12 200 [EE &8 189
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852 | Y05 - HEE 0.25 10|28 &8 189
852|905 - RHEE 0.30 30|5[ 5o 189
852 | U T35 - HEE 0.35 10|E8 /&) 189
853|U05 - ZHTH (ZIWEFX v H) 1.5 50%50 1= FF | 211
853|905 - 2HEH (RTUFE VY K) 2.2~2.7 50%50 AEE=5 211
854 | U5 - Kilitk 0.10~ 50 |EE 5 189
854|905 - Rtk 0.35 30|EE 5T 189
855|505 - KE#K 2.5 0.1 20[/%H = 91
855|805 - K&t 3.5 0.15~0.18 100 |F%RH = 91
855|905 - KB« 1.5~2.0 200 |%fE Kot 111
856 | Y5 - J\EhlkiE 3.0 3|H$ = 165
856 | YU - J\EhitE 1.8~ 10 | IR &— 225
8571905 - J\E 0.40~0.45 23 |E[E 5T 189
858 | YU - J\Bte —F" 1.5~2.0 100 [%&fE Kot 111
858|905 - J\EK"—F" 0.18 21K K | 111
858 | U5 - )\t —F" 0.3 EIES (PN 111
858|905 - J\EK"—&" 0.4~0.6 EIES(GPNSI 11
859|505 - J\Et BL” 0.10~0.12 20 |K1E AT 111
859 | Y05 - J\Et BLL” 0.3 TIRE X | 111
859|905 - J\ER B 0.45 1|XfE_Kb 111
859 | Y05 - J\Et BLL” 0.2 3|EE —RK | 161
859|905 - J\ERB” 1.5~2.0 18 PN 178
860 | 177 - /& El- 01y 750)5 - % A - KO- {5E 8| 1.2~2.0 RB - Pot T10[KfE Av | 111
861|905 - J\E"FEHL" 1.5~ 30 |kfE K 111
861 | U5 - J\Bt F\EHL” 0.3~0.4 AES(GP.SH 11
862 | YU - J\St HE" 1.5~2.0 100 |&fE  KJr 111
862|905 - J\ERHKE" 0.15~0.25 5|k1E_ AT 111
862|905 - J\EHKE 0.5 TIRE A | 111
862 | Y05 - J\Bt HKE" 0.6 1 |&fE Kot 111
862 | YU - J\St HKE" 1.8~ 20 AR FE— 225
863 | U TS - J\Etu HIEE" 1.5~2.0 15|KfE_AIT 111
864 | UTUS - J\EtHE" 0.15~0.21 20 |KfE Kt 111
864 | YT - J\BtHIE" 0.25~0.30 5|k1E AT 112
864 | U U5 - J\BtHE" 0.45 3|KfE_KIt 112
864 | YT - J\BtHE" 0.6 1|&fE Kot 112
864 | YTUS - \EtHE" 0.8 [IES(GP.ShH 112
865|905 - J\E1 i'iz’"%%ﬁﬁ" 1.8~ 10[A&x F|— | 225
866|905 - J\EK"IA" 1.5~ 30|ktF AJr | 112
866 | YIS - J\Ete MH" 0.25 (HES (PN 112
866 | YIS - J\ERY JE" 0.35 3|KE KT 112
867 | Y05 - J\&te'5Y” 1.5~2.0 60 |&1E KT 112
867 | Y05 - J\Ete" 5Y” 0.12~ [CIESP.S1 112
867 | Y05 - J\Ete'5Y” 0.15 [ES (PN 112
867|905 - J\E"HE” 0.4 TIRME A | 112
868 | Y05 - J\&t' ) \SHKAE" 1.2~2.0 I ES(CID.ST 112
869 | U5 - Bt EER" 1.5~2.0 40 [RfE KT 112
869|705 - J\EEER" 0.3 21KfE Av | 112
870|905 - J\Bt'HBEI” 1.8~ 10| |- | 225
871|805 - )\B"Ex" 1.8~ 10|A &— | 225
872|905 - )\&'oJ” 1.5~2.0 150 |&1E Kt 112
872|905 - \&E"O” 0.21 [IESCGIF.N1) 112
873|905 - J\B EDE 0.3~ 8| KIE KT 112
873|905 - J\&E# ﬁ(DJ:”’ 0.4 (ESEF.SI 112
874|905 - J\Btx - “1p5F” 1.5 S5|XkfE KT 112
875|905 - J\Etk - "BEIL” 1.5~ 100 |&fE K 112
875|905 - J\&Etk - “1BEIC” 3.5 0.12 TIRE A | 112
875|905 - J\&tk - 158K’ 0.10~0.12 41KME KT 112
876|905 - BEip 2.5 30 [F%H = 91
8771905 - Fittu 3.0 0.1~0.12 30 |H&H = 91
877|905 - btk 4.0 0.18~0.21 50 |/%HE = 91
878|035V D 9 100 [#5AK &R 151
87905 ViR FRLF " 1.5~1.8 40 |K1E KT 112
879 U?i‘/?‘i‘"j’?xl/‘l’/” 2.5 SIES(GPN1 112
880 |75V N"SH” 1.5 AESEGPNST 113
881 [HI5VINEW - ks - 7 XUHYFIU—-FRUZY"| 1.2~1.8 Pot 140 |&1E K 113
882 |05 VN ks 1.0~1.51u (NESEP.N1 113
882 | YU S Vi kikiR” 1.5~1.8 30 [KfE_KJr 113
883 | U 5 Vi BEithtsik” 1.8~2.0 Pot 50|KtE AIT 113
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883 |05 vk BEihhtk” 2 15|&1E XN 113
884 | UTJSUM - PAUAVYF U — 1.5~ 14 |X1E KT 113
885 ISV - BH IS VR (ZTUEE Y ) 1.4 50X%50 5|= FFH 211
886|500 1.2~1.5 S S 91
886 |00 2.0 30|FE = 91
886|500 1.2 30|K1E KN 113
886 |00 1.5~ 100 |XfE Kt 113
886|700 2.0~2.5 15|X1E Kt 113
886 | Y00 3 Z20.16 2 |K1E KT 113
887 |¥o0 (H*& - AUT#)L=7) 1.5~ RB 50 |X1E KX 113
888 | U O KEBKRE" 1.2~ 30 | B— 225
889 [ o0 K=" 1.2~ 20 |\ E— 225
890 | Y - PRI RYY 10.5 5,000 [ZEE  #K 59
891 |HY - FAXYTY 12 1,000 | =& X 59
891 | HY - 7 AXYY 12 300|518 —5 157
892 | HY - A0V F T 10.5 200 &8 —5 157
893 |HY - X HY 12 1,000 | & F0X 59
893 |HH - <Y Y 12 1,500 |5k EE 147
894 | by - OO<HY 10.5 1,000 |58 —% 157
894 | oY - OIJXYY 10.5 1,500 |#L T3 204
895 | oY - OO HY 10.5 30,000 |ZEE K 59
895|oY - OO YY 10.5 500 |7%FH &2 100
896 | HYH - FOUY 10.5 | 10,000 |Z®mE #KX 59
896 | Y - FOYY 10.5 1,000 |7ZH F— 98
896 | HY - FOYY 10.5 4,000 PIR &EA 132
897 1.5 20 | BOK BB 34
897 | A 3.0~ 30|KE KT 113
897> AH 4 10|KfE_ KXt 113
897 | VA 0.3 10.5 500 |5%5R = 139
897U AH 2.5~3.0 50 |[fPEH 5 169
898 | U VAH (ZTNUEE < v ) 0.9 50x50 2|2 FH 211
89| VAH (F) (FFUEE V) 1 50X%50 == 211
900 | YUYV A"AHEL" 1.2%¢ 100 |aAR  T— 225
901 | By VAL 0.8~1.2 50 [#As EB— 225
902 | UV A IBREWL" 0.8~1.2 30 |[A BE— 225
903 | VA BLTDIE” 0.8~ 30| IR H=H— 225
Q04 | T A" ERE” 2.5~ S5[IER 1% 195
905 | Y VAh - A RXTHY VA 0.8~1.2 100 [ FT— 225
006 | BV H - BB 0.5~0.8 0.5~0.8 80|l & 173
907 | YA - IEE 2.0 10|12 = 168
908 | W+ (%) 1.2 (HESGP.Sh 113
908 | bW+ (&) 1.0~ 588 —& 161
909 | B>y FvaoxX 10.5 20|85 R 151
10| )L awv 10.5 1,000 P IR =6 132
10| )LOdawv A 9 1,000 PIR ZE;A 132
910|)LdawvAH 0.2~0.3 10.5 4,000 |58 FOl 164
10| )LOdawv A 0.15~ 10.5 150 [FfE il 184
910|Y)LdavAH 0.1 10.5 350|1FAK shhE 198
10| )LOdawv A 0.2 10.5 150 |1FA shhE 198
9M10|)LdavAH 0.3 15 100|1EAK shiE 198
OM | FILITvH (ZTUEEX Y ) 0.5~0.8 50%X50 HEEE- 211
Q12| F)LITvH - AU T UD L 10.5 10028 48 55
13[Y)LaddvAh - TuvHrUF7—F"N-—TFILATL" 10.5 100 JXE 48 55
914 | FIILANL 4.5 0.40 I N 34
914 | T IJLAXY 1.5~2.0 S50|cA & 86
914 | HJLAXY 0.6 2|58 — 161
914 | TIJLAXY 0.21~ 30 [fPH 5 169
914 | HIJLAXY 0.10~0.15 100 |==8 &5 189
914 | T JLAXY 0.12~0.20 3IFEAR % 195
15| F)LZARY (E> D) 2.5~ 10|H% EF 72
15[ )LARY (F>7) 4.0 0.18 B ES 92
916 | LAY (#ki1) 6.0 BEGGEES 82
916 | HIJLANRD  (¥R31I) 3.5% 30 |EB AT 189
o7 | FILANRT (%5) 2.5~3.0 30 |HF E# 72
17| FILANRY (%) 4.0 0.18 10|%FH = 92
17| FILARY () 1.8%t 50 |XfE Kot 113
17| FILARY (%) 3 2 |XE K 113
917 | HILARNY (58) 2.0 30|99 E8A 170
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920 [ HILANRY (7R -8 - EVT - %) 1.2~2.0 RB - Pot 200|kftE K7t 113
921 [HILAXRY (H) 3.0~35 60 |H A 72
921 [HILAXY (H) 3.5 0.1~0.12 20 |H%H = 92
921 [ FILANRY (H) 1.5K%4 30|kfE AXJr | 113
921 [BILANRY (BH) 2.5~ 10 [%&fE KT 113
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921 [HILAXY (H) 0.10~0.18 100 |&fE Kiv 113
921 [HILAXRD (H) 0.1 70|ALll  EHH 170
921 [HILAXRD (H) 0.12 20|5Pl) EHHH 170
922 | Y)LANY (H) (ZTWEFEEY v h) 21~2.4 50x50 2= FFH | 211
923 [ TILANRY (H)  (#i1) 2.5~3.0 20 | EA 72
923 | HILANY (H)  (#k3L) 3.0 10|/%H = 92
923[HILANY (B) (#k31) 2 (FESEN1 113
924 | LAY (&%) 0.3~0.5 12.0VP 80 |5/ &0 189
925 [TV ANV AV MU=y 7 1.8~3.0 50 | B 72
925 [BIVARU* AV U=y K7 4.0~5.0 10.12~0.18 40 |FR  F]|X 82
925 | HIVARNU* AV hU—=D v R 2.5 120 |FRH = 92
925 [BIVARU* AV U=y R 3.0 0.1 150 |%H = 92
925 [TV ARV AV MU=y 7 3.0 0.12 100 |F%RH = 92
925 [ HILANU* AV RU—=D v R” 3.0 0.15 70 |%H = 92
925 [BIVARNU AV MU=y 7 3.5 0.18 30|F%RH = 92
925 [V ANV AV MU= 7 6.0 0.4 20 |%H =+ 92
925 [FIVARNU AV U=y R 1.5 100 |X1E K 113
925 [V ANU AV MU=y R 2 10 [&fE Xt 114
925 [FIVARNU* AV U=y 7 25 10|&fE AT 114
925 [ IV ANU AV MU=y R 3 50 |kfE Kot 114
925 [FIVARNU* AV U —Dw R 0.3 1|XE_KIT 114
925 [HIVANU AV MU=y R 0.5 2|KfE Kb 114
925 | HILARU AV hU—=D v R” 0.12 50 |5l EHH 170
926 | HILANU* AV bU—Lw B (#k31) 1.8~3.0 50 |HE Bl 72
926 [ FILARU* AV MU—Lw B” (#k3T) 2.5~3.0 S50 [f%H = 92
926 | HILANU* AV bU—Lw B (#k31) 3.0~3.5 20|%H = 92
926 [ FILARU* AV b=l B” (#kIT) 5 2|KE_KIT 114
926 | HIVANU* AV bU—Lw B (#k31) 6 1IRE KT 114
927 [ HIVANY* IR AHO=5" 0.1 50 |5l EHR 170
927 | YIWAXRU* Y ZHO—-5" 0.12 100 |5l EBH 170
927 [ HIVANU I RAHO=5" 0.15 30|l EHHR 170
928 | YILANU FHY =" 0.2~0.3 12 500|588 7% 52
99 [FILARU TS IIN=)L” (RO A ) 9 2,000 [/J\FK - BE1T 217
930 | BIARU* TS wIIN=)V" (A hEVT) 9 2,000 [/J\Wk BE1T 217
3T [FIARU TSI )N=)L” (L= 1) 9 2,000 [/]\#k - BT 217
932 | FILARU* TS wI)N=)L” (JLE—) 9 2,000 [/\#k BB 217
933 [ FILARU TS wI)N=)L” (LY R) 9 2,000 [/\FK BE1T 217
934 [ FIVANY BRI 0.8~ 10 |[IWA T 225
935 | FJLANXL - E&I) 1.5~2.0 5|FH/I 5 63
936 | HILANY - BEY)L AN 1.0~2 500| K% E—EB| 66
936 | FJVANY - BEHF)VANY 1.0~1.2 40 | A 73
937 YLy 1.8 RB 20| K1E K71 114
938 |1V (ZfTUFEX v h) 0.9 50%x50 1= %5 | 211
939 | VY 1.5~2.0 Pot DE | KE AT 114
940 | VY - BAIDTUHTY 10.5 201BH ¢ 43
941 | Y>> ad 1.5~ 50 Kt AT 114
o4 |B>¥aa 2.5 [CIESEV.S1 114
941|921 3 30|ktE Xjr | 114
941 |B>¥aa 3.5 2|KfE Kb 114
941 |B>>aa 0.3~ 10.5 200|821 FBE 178
941 |¥>>ad 0.5~ 10.5 50|28l BE 178
941 | ad 2.01 10|2E8 & 189
942 | B> ad (#iL) 2.5 (SIESGVS1 114
942 [P~ a1 (#3iD) 5 (IES PN 114
943 | B2 (EH) 2.5~3.0 80 |HE ZEAl 73
944 | T2 (FE&E - R 0.81 Pot 150 [%&fE Kot 114
94552239 1.2~1.5 Pot 70 |KfE Kt 114
946 |30 (L) "#AR" (%) Pot DEIXRIE AN | 114
947 Y bUF 9 2001 &5 133
947> hUF 10.5 200K B3 147
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No DD% ﬁ(Cm) 2&%[ EEE% =]
948 |4 - RFIA 10.5 1,500 B& 179
9484 - 2RI I A 15 50 D5 179
949 | A - R I A (ZTNEXE T v ) 50X50 3 =5 211
950 |7V 10.5 50 |& & 152
951 |3F= pot X 114
951 [v*= 9 N 114
951 |*= 3 —ff 161
952 V= - JOUSF L BLR 15 80 *x 43
953 |VF= - JOUSFL NU—=ROX v K 15 50 Pin 43
954 | VF= - ZPYIUFS 15 200 E 139
954 |vF= - =Yy F= 21 50 E 139
OS54 [YVF= - S PYIUES 5 —g 161
955 /4:\ cAFIhH—TF 150 Pin 43
956 \ 12 300 5% 52
956 = RB N XN 114
CAPPEN: (ZTUZEE Y ) 50X50 2 %?? 211
958V RIR R /—KDA b 15.0 10]=5 sh& | 203
959 |5 - A /ERVD 10.5 50 % E‘.ﬁ\ 152
960 |VS - AV IVTY 12 600 |; & 55
960 |VF - AZVITVFTY 12 2,000 |Z@E AKX 59
960 |VS - AV IVFTY 10.5 3,000 — 98
960 | VF - AZVIVFTY 12 2008 —B& 157
961 |9 - JHVYFTVY 12.0 3,000 LIPS 59
961 |5 - JHVFTVY 12 3,000 |% R 152
961 |9 - JHYVYFTVY 12 200|218 —5 157
962 |5 - IIv IS 21 20 i 43
963 |V5 - YIVAYS 12 20§ EBX 152
964 |VS - JaDEIIVY 10.5 50 % =P8 152
965|V5 - 9T VS 10.5 1,000[# B 152
966 |V - ZIFIS 10.5 100 | X 152
967 |V9 - RZVS 12 800 s % 55
967 |9 - RZUS 12.0 3,000 |ZmE  #MK 59
967 |9 - RZVS 12 2,000 F— 98
967 |V - RZVS 12 2,000 |5 =5 133
967|V9 - RZV S 12 2,200 |% mE 147
967 |V - RZVS 12 3,000 % EX 152
968V 5F -UamXUys 12 800 ZE #& 55
968 |9 - UaoXys 12.0 1,000 XK 59
969V F - AT VT TP RT A X F—75" 20 X 43
969 | VT - AV VT I FRTAF 75" 5 win 43
9707 - ATV TFTRUFTaT” 5 pin 43
9717 /* RB - AN 114
92| I NTFI5 I NTFISF) 9 200,000 [Z@E #X 59
YEIPI R EP)) 9 5,000 |7 1% 100
974V NNHT0S (B) 9 5,000 &= 100
SYEIPI PR P PEYA 9 5,000 &= 100
976 RS X 10.5 300 [;% g 55
976 | TR 10.5 100 |% B 152
977 V= T= 40 B— 66
977 |I=xT= 10.5 500 %R = 139
978 | VXTI ="V )JUNN—RI—" 30 ES 92
979 [ IR PILARY 1 N 114
979 | X TILANXY 1 Xt 114
980 |~ bhxUT RB KT 115
980 |~ bhxU 50 | §ifg 142
980 |~ bhxUT 30|%& hEg 142
980 |~ bhxUd 20 §ifg 142
981 [Y~Y hxUD (ZAEEXT VM) 50X%50 17 =5 211
981 |~ bhxUTd (ZTUEEX vV ) 50X%50 2 e 211
982 |~ bhxUDO (#R1D) 15|k Fh 34
982 |~ bxUJd (#1D) 2 Xt 115
982 |~ bxUJ (#%31L) 5 X 115
982 ¥~ bxrUI (#%3i1) 30|%& Ry 142
982 |~ bxUI (#¥3i1) 30| RS 142
982 |~ bxUI (®k3iL) 20 Ry 142
983 |Y~ hxRUD (Bx1l) (ROU=E < v M) 50X50 1 =5 | 211
983 |~ bhxrUD (%) (HHUE¥EX v ) 50%X50 1 E5 211
984 [VEVHT 15 300 &= 100




o 2N "
JEVT 0.3~ 15 2500 |=H #® 166
JEVT 0.5~0.6 15 1.000 |Z2H 166
JEVT 0.3~0.4 15 50 |8 o] 179

JEYYT 0.2 1.500 [EE /&g 189

YEVYT 0.3~0.5 300|=56E J&o) 189

JEVYT (H) 0.4 15 300|=t8 —3 157
VEYTISALNY DV R (IBEBE) 0.2~ 9.0 1,000 [7E sh& | 203
VEVY - TRUVEVT R URILSA K 10.5 5164 X 43
YEVT - TXUVEYT IR TU=L" EEYE) | 0.2~0.3 13.5 1,000 [7& sh&2 | 203
VEVY - TRUSEYT ORI U—=L" 10.5 5164 X% 43
VEYYT - FTRUVEYS O=)LR T U—L 15 200PTR &5 133
VEYY - TYUYEYT TV RIU-L" (ZHTIERN Y b 0.7 50%X50 EERE:75 211
VEYYT - FRUVEYS I-)LRRY OV R 3.0 56F X 43
VEVT - IRUVEYTHY =04 15~21 50| JFX /8
VEVY - TRUVEVYT T 4 7hO" 0.5~ 15 500%R #8 55
VEVY - TRUVEYT T 47RO 1.2~ 20 500%R 18 55
VEVYITVD 10.5 300 ]8R EAR 152
Iy —~XVT7AUR 10.5 100PTR &8 133
Vv 10.5 | 10.000 &8 FIKX 59
Vv 10.5 500 TR &8 133
Vv 10.5 100 [#a KBS 147
Vv 10.5 1.000 =18 —% 157
Vv H-EXVPH 10.5 | 10,000 &8 FIX 59

Vv IFYT 80 |BH ) 43
v IFY 0.8~1.2 100 |&fE KT 115
Vv IFYT 1.2~1.5 50|8hll & 173
JvI0FT (ZTUEEX Y H) 1.3 50%50 12 %5 | 211
v IFTI943” 1.0~1.2 20 [FR  F|X 82
Vv IFT94 30 0.8 100 |ohLly  EBA 171
v IFUEE 1.2~1.5 3|l S 173
v IFT - BABYYITY 0.8 24 2|5 J&o 189
Vv IFT - EFEINITY 0.2~ 15 300|E5E J&o 189

YIS - mEI Y IFHS 0.4~ 18 500 [/ AT 190
v I - EmEIYIFT 0.6~1.0 21 50 |E/B AT 190
YIS - mEI Y IFS 1.8~2.0 5|E/@ ET 190
v JFT - HE 0.3~0.4 18 30 |E/B AT 190
v Ivo 10.5 300 |55 X 152
IJv A= - N\JOEIvAZYV 9 20028 % 55
v/ 5 9 50,000 |2 FIX 59
Jv./ &S 9 15,000 |JoK  FiE 86
v/ 5 9 5,000 |Z%RH  WF— 98
Jv./ &5 9 5,000 |F%ZH &2 100
v/ 5 9 10,000 & il 166
Jv./ &5 9 3,000 %Ll FE 204
v/ (Uao/eS) 9 100 PIR &5B 133
I e EE /7.5 50,000 |&ZRE  #X 59
v /e E T 7.5 15,000 [Jox  FiE 86
I T EE /7.5 7,000 |#%H F— 99
I /TR T 300 |58 —5 157
Jv /T ks 7.5 8,000 %Ll FHE 204
v /5 FE (Xvh) 5,000 |z F0X 59
Jv /b - KEIv /S 10.5 3,000 |Z@E  #X 60
IS/ F - EXIYS 4 1.3 =S RN 32
JrS/F - eEXIvS (BRI 1.5 DS S 92
o /F XIS (BRI 1.8 50 |%FE =+ 92
JrS/F X vS (BRI 2.0 50 |FE =+ 92
o /F XIS (BRI 2.5 50 |%FE =+ 92
v S /F - eEXIvS (#RiD) 3.0 50|&FH = 92
o /F XIS (BRI 2.0~4.0 80 |3l & 173
v UINA 0.2~0.5 15 1,500 |8l B&E 179
v UINA"TD—FTR TULV” 0.3 0.2 15 800 [IFA slhE 198
v UINA"TI—=FTR JULV” 0.311 15 500 |1EK sha 198
Vv UINA - e XV UINARTUIT AL 0.3 0.2 15 1,000 |IFER s5hiEa 198
v UINA - EXIYUINARTIIT IAL" 0.4 15 2,500 [IF K shE 198
v UYNA - RENFI v UINAZATUITIAL" 0.3 15 300|548 —& 157
P UINA - RINFIYUINLATUITIAL 0.3 15 300 |58 —5 157
I UINA - RENF I UINAZATUITIAL" 0.3~ 0.3~ ENIE s 168
Ja9hARD 10.5 100 | =R #0K 60
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No e ] ﬁ(Cm) L HEE =]

1018|2901 KD 9 100 |85k EERXR 152
10192 XAF7 10.5 100 |gaK & 152
1020 a9 XAF£T (EVD) 10.5 20017 &8 133
1021 (a9 XAFT (GR) 10.5 1,000 PIR &8 133
1022|299 XA4F£7 (B) 10.5 200 T7 &8 133
1023 |V a2a—uRJ— (#31) 1.5~2.5 504 E# 73
1023 |V a2 —_1J— (#kai1) 2.5 20|+ Hf§ 142
1023 |V a2a—uRJ— (#Ra31) 3.0 10|F 95 142
1024 |2y OV NN—RF 9 200 TR &8 133
1025|220 2.5 20|&%H = 92
10251220 3.0 10|%FH = 92
1026 |20 - boYaO 2.5 588 —f 161
1026|200 Y20 3.0 5|EtEs —F 161
1027 |2 0F 7 (ZTUEEI W ) 1.3 50X50 12/ F£5 211
1028 |>20F7 - Em>20F7 0.6~1.8 18~30 30058 =% 52
1029|222y 10.5 300 CxE 48 55
1029|235y 10.5 1,000 | & 0K 60
[ENIPEPI 10.5 300 CxE 48 55
1030397 10.5 200 |85 K BEX 152
10315 AN'EOLEE” 10 20|&%FH = 92
10325 AN - IvITEVT A 1.8~2.0 10 |HF EH 73
1032|¥5AHN - IV TEYT + 3% 21 10|99H Bk 78
10325 AN - IvITEVYT A 2.5 30|&FH =+ 92
1032V 5 AN - IV TEYT + 3.0~3.5 20| &H = 92
10325 AN - IvITEYT A 3.0 130 /\& BB 145
10335 AN - IvITEYT 4 (¥KIL) 2.5 20|&%H = 92
1034 | S AN - IvIEVTA (EE) 1.2~3.0 Pot PE|KE KT 115
10355 AN - IvITEYT A" R—LUHRR" 2.5 10188 % 43
1036 | Y5AN - RT3 =)L N=70" 1.8~2 2| K% BB 66
1037 |5 AN - RUFa5 vORY RDO—7" 2.0 56H 43
1038|v5AN - T2z IV LT 3 2| K% B—BB| 66
10395+ 4.0 1]l & 173
1040|255 10.5 2,000 |[ZEE K 60
104025 10.5 500 [k B8 147
1040|255 10.5 4,000 [g5K & 152
104115 (&) 10.5 1,500 IR =8 133
1042 [>=> (B) 10.5 1,200 P IR &8 133
10435 (BEA) 10.5 100 )T &8 133
1044 [ 08 ITF70 10.5 100 | L X 60
104405 ITF70 10.5 140 ) IR E8 133
1045 |09 E 9 200 |82 BE 179
1046 [ ONF TS 9.0 400 )T E58 133
1047 |OF€Y 1.0% 30 | H— 225
1048 |OFY (#%31) 1.8~2.0 109l % 173
10490V T+ 1.0~1.5 10K KX 115
1050 | YVvFaos 0.5~0.6 10|K1E_ XN 115
1050 | Y>F a0y 0.6 10|58 — 161
1050 |Y>F a0y 0.3~0.5 500 B AT 190
1051 | YF 3945 (R 0.4%% 13.5P 30 | FB— 225
1052 | YVFaos (B) 0.5 150 |9l [=8A 171
1053 |V VF a3y =8 0.4 10|58 &g 190
1054 | YV Faos - N—JovTF—"FvO)LN¥vF—" 10.5 20|16FH ¢ 43
1055 | I VFaod - N=TJOvT4—"Lh—=—VF(AN 2.0 20164 % 43
1056 | RA AR 9 400 PIR =58 133
1057 | ALz 10.5 3,000 |z F0K 60
1058 | RA Tz (&) 10.5 400 |gaK & 152
1059 | XA (H) 10.5 1,000 [g5K  EHR 152
1000 | R4 Y - T—9 57—k 9 1,000 [F5K & 152
1061 | RA Y - ZIRVRA 2V 10.5 5,000 [5K  EFR 152
1062 | RA L (&) 12 100 xR 48 55
1063| X1 L2 (FR) 12 100 )%E #8 55
1064 [ RA L (BK) 12 100 xR 48 55
1065|214 L (B) 12 100 )%E # 55
1066 | RA L (BiEY) Z30%E 18 55
1067 | AF (ZRTU=EX Y H) 2~2.3 50%X50 AEREESS 211
1068 | ZFJbLEz” 4.0 17 %K Fa 34
1069 | RZTU Pot P& |KIE KN 115
1070 RTY - =X — 0.3 10.5 20 | Fm  F5 184
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1070|RTY - T—=ANU— 0.2 12 500 [IERK shE 199
1070 | AT « T=AN— 0.3 1,000 [IEAR  5hvE 199
1071 | AR+ 10.5 500 |#5AK EBX 152
1072 | ARAF"EDP” 10.5 100 |#p AR & 152
1073| RAF - 4 b ARF 10.5 300 |#sAK &R 152
1074 AZF - A B AZF (BEA) 9.0 200 [#BA &R 152
10/5|ARSY - RAYRASY 10.5 300 |8 sK &R 152
1076 | RAS Y /F'Dy RSVYXT)L=" 5164 X% 44
1077| ARV /X FFIT VRSN 5.0~ 3R BX 82
1078|275 (A)  (ZFIUFE v b) 1.3~1.4 50X50 4|20 FF 212
109 R75 - VD 1.5~2.0 50 |F%H = 93
1080 | AT 5 - EVT (k1) 2.0 2\%H = 93
1081 A/ —FOvVT 10.5 150 TR &8 133
1081 [ R/ —=FrOvT 9 100 [#a K EBX 153
1082| R /=T U—=7 10.5 30p%R 18 55
1082 | R /=T L =70 10.5 1,000 |#pA &R 153
1083 | A= - 9FVYRRAZL 9 100 [#5AK  EX 153
1084 | RE—TJYU— () (RITUFEE Y b) 1.8 50X50 1= F&FS 212
1085 [ RE—=7VYU— (#) (RIFUF¥ v b) 1.3 50%50 1|=2m &FF | 212
1086 | RE=DOVYU="TJU="R=JU" 1.5~2 50 K% &—Bf| 66
1087 | RE—OTYVU—"TL—=X" 3.0 35|16H X 44
1087 [ RE=OVU="TL—=A" 0.5 18 100[1IEKR 5B 199
1087 [ RE—OYU—"TL—=X" 1.0 18 30[1IEK shE 199
1087 [ RE=OVU="TJL—=R" 1.2 18 30[IEKR shE 199
1088 | RE—TJVYU—"E>VITh=)L" 1.2~1.8 50| A= &—Bf| 66
1089 [ RE—=TYU="FILTL 7" 3.0 56HFH it 44
1090 [ RE—=TYU—="TRDA bik—)L” 1.2~2 50| A= &—BRf| 66
1091 [ RE—OYU—"VYVI LT 1" 1.5~1.8 20 K% f&—BF| 66
1092 [ RE—=TJVYU—="JLE=/\—hK" 1.2~2 50 K% &—Bf| 66
103 [ RE—TVU—="O0A4VILIN=TF)" 1.5~2.0 50 |6H % 44
1093 | RE—=2VU—="04VILIN=T)L" 2.0~ 30| 6H X 44
1093 [ RE—=7VU—="04VILIN=T)L" 1.2~2 50 K% &—Bf| 66
1094 [ RE=TYU— - ARNIR 2.0 20|6H K 44
1094 [ RE—TJYU— - ZRNIR 10.5 10|6H X% 44
1095 | REE 0.25 5|KfE KXot 115
1096 | REE AR —" 3 0.129%4 EIES(GPN1 115
1097 | R EEER 1.5~2.0 10|KtE AT 115
1097 | A EE'ER 2.5 10|K1E KT 115
1097 | R EEER 3 45 |K1E AT 115
1097 | A EEER 3.5 ES(GIPNI 115
1098 | REEHIREE" 1.8~2.5 RB 60 |&1E AT 115
1099 [ REEHEREE" 2.5~3.0 150 |%&fE Kt 115
1100 | REE"XEZ” 1.5~2.0 40 |K1E AT 115
1100 | REE"KEZ 2.5 20 |KfE_KJr 115
1100 | REE"XEZ” 3 40 |K1E AT 115
1100 | REE"KEZ” 0.18 [IES(GP.ShH 115
1101 [AEERAE - YNFL - XA—FV90-1 - KB - &R - \UDy [ 1.8~2.5 RB 130 [%&fE Kot 115
N2 REE -RINREETF7RT4F7—9" | 1.5~5.0 150 | 6H ¢ 44
N2 REE -RZNREE T 7 RAT4F7=5" 15 10165 ¢ 44
1103 [ AEE - AZ/REERAU-ZEVI N (ZIEFNvE) | 1.5~2.2 50X50 4|2 RS 212
1104 | REE - BENZREE J7=IZ7F"AU-ZEVIN 3.0 S5|%H = 93
105 | &7 /B2 /N —=)LOo—X" 15 30| = &—Bf| 66
106 | 7 / BNV —=FT 4 T4 v " 15 30 K% &—BS| 66
N7 |\ A 30ADFVF TPV SURT 0.15 10.5 1.000 | % 0K 60
M7 | A IAOADF VT PEISUR” 0.4 0.3 15 500 |% X 60
N7 |\ A IOADFVF U TPEISUR” 10.5 4,000 [#ZxH 4 — 99
M08 | BA DA DTV TV AA—L v K 21 23|6H % 44
M08 | EAIDADF VT AA—L v K 0.3~0.4 12.0VvP 50 5[ &S 190
M|\ BAIADADF VTV FF” 10.5 15|64 X 44
1110 A FOADFU T X)IUNRAT” 10.5 200 |EE &g 190
MMM eA3OADF VT DAV h=" 10.5 1.000 ER #8 55
M BAFOATFYFT I UA V=" 0.15 10.5 2,000 |ZB  FIK 60
M EAFOATFV TV UA V=" 0.3 0.2 12 500 |%RE X 60
M EBAFOATFI TV UA V=" 0.4 0.3 15.0 500 |% K 60
M EAIOATFY TV UA V=" 10.5 5,000 |FRH 4F— 99
M BAFIOATFIFT I UA V=" 10.5 2,000 [#pAKR  fBS 147
M EAIOATFV TV UA V=" 10.5 500|556 5T 190
M2 eA39A40F VT - PEISUR 200|TAK  =iE 86
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CAIDATFVTY - TFEISUR 0.1~0.2 10.5 3400|518 =8 164
LAIVADFVTY - PEVSUR (®F) (BfE) | 0.2~0.3 10.5 500 |EfE /&5 190
A IADZUIVRT (EVTTE) 0.3 10.5 400 |58 5 139
CAIDZVIVRT (LTYFTE) 0.3 10.5 200 |%R = 139
CAIONTFOR T HF” 0.2 10.5 100|158 = 139
CAIONTFOKR A Y =45 0.3 10.5 10|5%R & 139
CAIONTFOR VY THIIR” 0.7 10.5 20|%R = 139
CAIONTFOKRY—=T)URDA K” 0.25 10.5 100 |%R & 139
CAIONTFOKR Y /" 0.5 10.5 30|%R & 139
LAIORIAYa - INF—=9"T—)LRN—=K"] 1.8~2.0 150 |58 7% 52
TF30 10.5 500 %R #8 55
TFr30 10.5 3,000 %@ FIK 60
TF30 10.5 3.000 [&RH  #— 99
TEI3o 10.5 2,000 TR &5 133
TF3o 10.5 1.500 [#5K @S 147
TFVIVIUER 10.5 200 [#5K 1BE 147
TFI3D - EXEBFVID 9 300 TR =E 133
TEI30 - EXBFYID 10.5 50 |fak B2 147
TFI30 -EHEEEFTID 10.5 1.500 [FRH  #— 99
Xy 3av - EHEFEFI3IU 10.5 200 |sFE  sh& 203
N ) [ A S 9.0 1.000 | &R AKX 60
TILAXFY AR IR VT T 9 1,000 | % 0K 60
YL AXFYAR IRV TH” 9 5000 TR &8 133
CYLEULSRVYRVIY” 9 1.000 PTIR &8 133
X7 0.2 9 100 [ R = 139
CxXIF - TIV—=XIVTY 0.3 18P 20|F%H = 93
T/ ET7TIN—ZAhA" 15 10| 0= &—B8| 66
Ty 9.0 100 [#5K EX 153
LI 0.5~1.0 10.5 50|81 FHE 179
NIV EIAT 0.6 10.5 10|%R & 139
AL, 12.0R 150 /TR &8 133
D, 0.6 5|5l —F 161
A 1 10 |&=#  EX 32
Ty 1.5 S5|&# EX 32
vy 2 1|=# Bx 32
VY (ZFUEE XY b) 0.3~0.4 50%50 6|2 £ 212
Z0f, ZEMEVy b EBED —@Y. 7LYIYAEY) 50%50 35|50 F#F | 212
Y= 1.5~3.0 20/ K% &—BS| 66
=] 2.0 50 |/%H = 93
vV33d 0.501~1.0f Pot FEKIT 115
=] 3 20 |K1EAIT 115
v33d 0.10~0.25 30 [KfE_AIv 115
= 2.0~ 100 /\& BB 145
v3d 2.0 50 [Pl EHH 171
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1346 U - I bhxRUTO 3.5 2188 —N 162
1347 [ FxUT - X hxUT #D 1.5~2.0 12[B8HF K 44
1347 bxUD - I hxUDO D 2.5 5 X 45
1347 | U3 - < bxUDO (#I1) 3.0 51aF 45
1347 bxUD - I hxUDO D 4.0~ 3aH 45
1347 [ FxUT - X hxUT (#D) 2.0 10|58 —H 162
1347 bxU3d -~ bxUT (#K1) 2.5 10| &% — 162
1347 | bxxU3O - < bxU (#KRI1) 3.0 558 —F 162
1347 bxUD - IR U D 3.5 558 —F 162
1347 hxUT - I U (#D) 4.0~ 5|88 —F 162
1347 [ FxUT - X hxUT (#D) 2.0~4.0 50 [l & 174
1348 hXUD - X RxXUTO (BK) 2.5 5|/ 45
1348 [ FxUT - X FXUT (EAXR) 3.0 3[BaHF k 45
1349 [ bRUT - 8430 bRUDI VIS YT AT =5 24 56HF 45
1350 FRUD - BA3O XU F—LUANUIA=5"] 1.2~3.0 100[&H *% 45
1351 [ rxUT - FO—RFrxUDd (OFE®H) 10.5 5|/ 45
1352 bxUd - RN MU NUITH—9” 21 51FBH 45
1353[ RS - EX RS FFA) 15 S50PIR =8 134
1354 RSt 1.0~2.5 100[#H =+ 93
1354 RS &5 1.5~3.0 50 [E/E &l 191
1355| RS+ (ZOMHEAL) 0.6 5|F%FH =E 93
1356 | RS+ (BEVIHAL) 0.6 5|F%H = 93
1357 | RSt EerAl) 0.6 5|F%FH =E 94
1358 | RS+ (#kiL) 1.5~3.0 50 |EE AT 191
1359 | RZtF+ (FR) 0.6~1.0 10|%H8 =+ 94
1360 RS EF Ly RXI—" (FK) 1.2 2|8 MBx 33
1361 [ % 0.2 10.5 200 %R = 139
1362 [ FFURY 9 1,000 |85k &R 153
1363 | Y (FEK-BK-BETHE-5-TF5VA) 2.0~2.5 PIES .S 118
1364 | Y - A3 FV* S - TSR 1.5 7|KIE KN 118
1365 | FY ) LUI9Fx -5 T3V Pot KE KT 118
1366 | < - #0 (FK - EK) Pot XE KN 118
1367 |7 - # (EK) 1.5 8|KIE KT 118
1368 [ FYRA Y 10.5 1,000 |55 X 153
1369 [FWWINF 1.01%+ Pot 50 |K1E AN 118
1369 [ FWWYINF 0.3 1|XIE XN 118
1370 | W WNNF (#11) 2.5~3.0 2 |K1E KN 118
1370 7 WY\ (#D 2.0 50[&F s 143
1370 | W WNF (#k11) 2.5 50|+ 5 143
1370 WY\ (#D 2.0~4.0 30 [l & 174
1370 | +WWNF (#k11) 2.0~3.0 40 |58 AT 191
1371 | 7Y WYINFE"%BRTRT 3 4|KIE KN 118
1371 | 7Y YINF“%GBRITRT” 0.21 1|XIE XN 118
1371 | WY YINFE"%BRTRT 0.3~0.5 10.5 100[8lL &\ 179
1371 [ F W YNF"RRITET 0.9~1.3 15 20|21 HE 179
1371 | 7Y YINF"%BRTRT 1.2~1.5 18 S0[8l & 179
1371 [ F WY YNFE®RITET 1.2~1.8 24 WNEL F= 180
1372 | WY NFRAIFED] (ZTEFEE Y ) 2 50X50 2| =M T 213
1373 | FWWINE"KBAIFET (#R1L) 5 3|KME AN 118
1373 | XY WINE"®RBEIFEI" (#kiL) 3.0~ 50 [fPH 55 169
1374 | FWYNF - hEF WYY NF 10.5 51AF X 45
1375 [FYN\E 1.0~1.5 100 |F%H = 94
1375 [FWYN\E 1.2~2.0 50 [l A& 174
1375 [ FVYN\E 0.5~1.0 200 /B AT 191
1375 [FWYN\E 2.5 2|88 AT 191
1375 [FYN\E 1.0~ 20 |[MA E— | 227
1376 | W\t (#ki1) 1.2 18|aH 45
1376 | 7Y\ (#k1i1) 1.5 1054 X% 45
1376 [ W\ (#3D) 1.8 S5[aHF k% 45
1377 [F WX 0.5~1.8 RB 50 |XfE AN 118
1377 | F Y X 1.5~2.0 30|&fE AN 118
1377 [F WX 3 6|K1E_AN 118
1377 | F Y X 5 3IXE KN 118
1377 | WYX 6 [HIESEF.SH 118
1377 | F Y X 1.0 588 —F 162
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No e ] W ﬁ(Cm) AE HEE =]

1378| FFAX R 1.2~1.5 RB 50 |&1E X 118
1378 | 7 FAX R 0.7~ 18 20|18l B&E 180
1378| FFAX R 0.8~ 21 40|18l FE&E 180
1378 | 7 FAX R 1.2~2 50 [IAA FB— 227
1379 FFAXE (ZTUFEX v ) 1~1.6 50X50 REEEE- 213
1380 | FF AN R (#%3D) 2.5~3.5 109 & 174
1380 | FF AN R (¥%1i1) 2.5 5=/l JEa 191
1381 | FFAX K (8K) 2.5 10|88 &8 192
1382 | =+ 3 1|RIE KT 118
1382 | =/F 3.5~4.0 3|l s 174
1383|FF=/F (¥%1iD) 5.0~6.0 I 174
1384 FVFU N\ (ZFFUEET Y ) 1.5~1.6 50X50 AEEEE- 213
1385 | F 7 1.2 10|54 —~ 162
1385 | F 7 1.5 10|28 — 162
1385 | F 7 1.5~2.0 50|l & 174
1385 |7 0.3~ 200 [/ AT 192
1386 | 7T~ (ZTUFE v ) 0.4~1.6 50%50 8= FFH 213
1387 F>7> (FR) 0.4~0.8 200 |#R &YX 82
13877 (FR) 1.0~1.8 100 [FHR &YX 82
1388 | F T (FRE) 0.8~ 100 |Ffz #Fih 182
1389|F>7> (B) 1.2~1.5 20|#E &YX 82
1390|574 v—ND—" 10.5 5aH 45
1391 | F VTV - FAXFITY 13.5 200|582 55L& 203
1392\ F5 -A9T0F T 0.25~0.3 15vp 500 |#R &YX 82
1392|057 - F9T70F T 8,000 |FRH W— 99
B3NN F /T - FIITITFITY 0.3 100 |XfE XSt 118
1392|057 - F90F 5T 0.12 10.5 1,000 |18 —5 158
139|772 - FAIITTF T 0.2 13.5 500 &8 —5% 158
1392|057 - F9T0F 57 0.3 15 500 |58 —3 158
139|772 - FAIITTF T 0.15~0.20 10.5 7,000 |58 &8 164
1392|057 - F970F 57 0.15~0.20 12 3,000 |58 =T 164
13| F VT - FAIITITF T 0.2 15 4,000 & & 166
1392|FVF -FIT70F T 0.3 15 1,000 [ZEH #® 166
139|770 - AIITTF T 0.3~0.4 250 |Z2H #® 167
1392|057 - F970F 57 0.3 0.4~0.5 18 20120 & 168
13| FVFT - FIITITFITY 0.3 500 | #Fh 182
1393 | F Ty - F970F07Y (ZIUEEXY N 0.4~0.6 50%X50 5= 213
134|257 - A9 TTRK 0.15 10.5 5,000 |z FOX 60
1394 | F>T > - 9 TITRIK 0.3 15 1,000 |ZBE K 60
1394|257 - A9 TTRK 0.2~0.3 500 |70k f&E 86
1394 | F>T > - 9 TITRIK 10.5 300 |7k EiE 86
1394 | F>V5> - F9TIEK 10.5 2,000 VIR =8 134
1394 | F>T > - 9 TITRIK 12 1,000 PIR &8 134
1394 | F V5> - FY9TIEK 10.5 5,000 75K B8 147
1394 | F>F > - 9 TITRK 12 4,000 |55k fEE 147
1394 | F VTV - A9 TITmK 15 1,500 [F5K B85 147
1394 | F>F > - 9 TITRK 0.3~ ~18 200 [1FK 1% 196
1394 | VT - A9 TImRK 0.15~0.2 10 50 [#LL FFE 205
1394 | F>F > - 9 TITRK 0.2 0.25 15 800 [#Ll FTE 205
1394 | 5> - F9TIEK 0.2 12 500 [#Ll FF 205
1395 [FVIDRF - e0/\/FVIADRFE 18 10184 % 45
1396 | =3 4>205Y (ZiTUEE V) 1.6~1.7 50X50 3= &S 213
1397 | = A A4>a205 by RRY— 15~30 50|PH 2 78
1398 | Z %=+ 2.0~3.0 20|K1E KN 118
1398 | —vF=F RB DE|XKE XN 118
1398 | —vF=+ 0.3~0.5 15 100 |82 BE 180
1398 | =% 0.5~0.6 500 |/ &5 192
1398 | Zv &= 0.8~1.2 300 |8 &ET) 192
1398 | =3V % 2.0~2.5 30|EE AT 192
139 | Z v FF (ZFEUFE Y ) 1.1~1.5 50%X50 3| =M FH 213
1400 | =7 AV 7 (ES) 1.8 RB DE|RE XN 119
1401 | ZEB77AY 77 o077 ~5.0 58 € 45
1402 ZvH+  (ZwuTA) RB *E X 119
1403 | Z w9 *R5T 10.5 40 |55 =8 153
1404 | Zwt - PIF7PT4h 0.8~4.5 3016H X 45
1405 ZwH - YJILINT 4B 1.5~4.5 100 64 K 45
1406 | Z /R XRXZHF X 1.2~1.8 Pot 2,500 |K1E KT 119
1407 [ Za—YA45> (BEAY) 15~30 20| JEX 78
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1408 | Za—bBA o'~ NUAS—" 10.5 20 H X 45
1409 | Z2—HYASVNN—TU7" ZHIUEEI V) 0.9~1 50X50 BIEEES 213
1410 Za—YA45 N —T U DL CBRERE) 15 200 %8 #8 56
141 | Z2—YA45 ' NUIAHA=9" (ZFNUEFEY M) 0.6~1.2 50%X50 8|= FFH 213
1412| Za—bYA5V"T5wIabAI” 15~30 50 |FH E 78
14131 ZUVD 9.0 300 |55 & 153
1414 =05 X 1.5~2.0 8|XE Kt 119
1414 =09 X 1.8 1|XIE XN 119
1415209 X (E>D) 0.6~1.0 RB 100 |RfE Kt 119
1416| =05 20> (k- B) 0.6~1.0 RB 100 |RfE AN 119
1417200 - 84307 HIZO I TIVE-—YF-—LT" 10.5 5aHF 45
1418 =00 - B3O NULTH—I" 18 S5aH 45
1419[ZD 0 - BATO DO T RYF 10.5 30|1BH KX 45
1420 =D FAH<XR 1.0 Pot 50 |XfE_ AN 119
UN [ ZVIVURT - ATV I VURT 0.5 15 350%8 56
4N [ ZVIVRT - ATV I VURT 1.2~1.8 50| K% f&R—EE| 67
UN [ ZVIVURT - ATV I VURT 10.5~18 100 |5PH % 78
4N [ ZVIVRT - ATV I VURT 0.5 15 20 |~FE2  3hE 203
142| =3I VRT - BFEZVIVURD 1.5~1.8 2|K1E KN 119
142| =V IR D - TEZUIVRT 1.0 24 30 |&%HEH =B 201
1422 | ZVIVRD - TEZVIVRD 0.6~ 10 | FH— 227
1423 | ZVIVRT - WEZVIVRT (RFNUEE Y N 1.5 50X50 SRS 213
1424 | 209UV "FIE” Pot KE KN 119
1425 | R A=EF 3 [HESEP.Sh 119
1426 | F AZEF (ZfTEFE Y ) 1.4~1.5 50X50 3= FFE 213
1427 | R A=EF BHA) (ZFHEFEX Y H) 1.2 50X%50 HEHEESS 213
1428 | R A=EF“VzEIIL—T 21 5aH 45
1429 [ R X=ZEF - hURXZEFMNUAS— 1.2~1.8 50| K% &B—Ef| 67
1429 [ R XZEF + hURXZIEFMNUAHS— 1.2~1.5 10 |FR &YX 82
1429| X X=ZEF - hORXXAZEFMNUAST— 1.2~1.5 70|58 &g 192
1429 [ R X=ZEF - hURXZTEFMNUAHS— 1.0~1.2 30 5|F%FH =8 201
1430 | R X=ZEF - hORXZEFTUV” 1.2~2.0 50 |FR &YX 82
1431 | R L/ F Pot WE |RIE KN 119
1432 | L/ F (ZOUFE v ) 1.1~2 50X%50 2|2 213
1433 | L/ FUYY— 7‘33[/— 7 2 2| K% B—BB| 67
1434 | %L/ F 07" 1.2 5aHF 45
1435 /7= 9 50 [F5K ERX 154
1436| /O CVAHXS Pot DE|RIE XN 119
1437/ 3> F0 9 100 (85K EX 154
1438| /5 12 1,000 |ZmE  #K 60
1438| /5> 2,000 |Z%%A #— 99
1438| /25 10.5 3,000 g5k f&E 147
1438 /5> 10.5 500 |28 —5 158
1439| /35 "EwI—F 2 10.5 3,000 |[ZRH WF— 99
1440 /U DW= 0.8~ Pot P |RME XN 119
1440 /U DwW= 0.2~0.3 15 202l HE 180
144 /UDvFEryF—0 " 0.3~0.5 15vp 200 R &YX 82
1441 | /UDvFEryr—o s+ 0.6~0.8 18RB 200 PR &YX 82
144 /UDvFErxF—0 " 0.8~1.0 18RB 30 |FE &EX 82
1441 | /UDvFEryr—o s+ 15 1,000 |[/]\bk  FEfT 218
1402 JUDVYEEVIIATFEVRT 15 50| K% &—Ef| 67
1443/ UDWVF" =S XF" 15 20| K= %&—E8| 67
1444 /U DYF =S VE" 0.6~1.0 18RB 500 |#R &YX 82
1444 JUDVYE =S VE" 0.4 15 200|548 —58 158
1444 JUDYF=FIE" 24 50 |7%xH =78 201
1445/ UDVYFESALSA K 0.5~1.5 100 [&H K 46
1445 JUDVYFSALSA KN 1.0~1.5 S|xX#E BB 67
1445| /UDYF"SA LTA K 15 50 | K= B—EB8| 67
1446 [ /U DVYEU NLIA VI T7A =" 15 1,000 [/J\#F 24T 218
1447 [ /U DW= NURA v ™ 15 1,000 [/]\#k F&FT 218
1448 /UDWYFEY NLSAL" 15 1,000 [/J\#F 4T 218
1449 /U DY "S{biE" 15 20| K% f&R—Ef| 67
1450 \—T - PwFIL=U b 9 250 TR = 134
1451 |\—=2 - AT7FIv0DVD 9.0 1,000 |55 =] 147
1452|\—T - 94 L (A 9 5,000 IR ZE8B 134
1453 [N\—T - AL TU—EVTIAL" 9 2,000 |85k fEBE 147
1453 |\—=T - IA L TU—EVITIAL” 9 300|548 —& 158
1454 [\—T - IA L T=)ILTV LEVIAL 9 200 TR =5 134
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1455 |\=T - AL VILIN=F AL 9 800 VIR ZE;A 134
1456 |[\—7 - 944 L"O0VFAHDUR” 9 4,000 ) TR &8 134
1457 |N\—=T - IA L - TI—EVITIA L 9 2,000 |Z%ZH &2 101
1458 | \—T - SRS — 9 3,000 | &z X 61
1458 | \—T - SRUT— 9 5,000 |[#%HE &F— 99
1458 |)\—T - SRUSF— 10.5 2,000 [gs K BE 147
1458 |/\—T - SRUT— 13.5 50 |84 @8 147
1459 [\—T « SRS — (ZFEFEET v ) 0.8~1 50%X50 2| =M F 213
1460 \—7 - O—A<X 1 — 0.3 15 100 |ZRE #0K 61
1460|/\—7 - O—XA<XU— 9 10,000 |ZRE  #K 61
1461 |\—7 - O—A<XU— GEM) 9 3,000 |Z%RH W— 99
1461|\—7 - O—A<J— 3) 13.5 501 &8 134
1461 |\—7 - O—A<X— E) 9 1,000 P IR &8& 134
1461 |\—7 - O—XA<— 3) 10.5 2,000 55K @5 147
1461 [\—7 - O—XA<XU— (GEM) 13.5 300 g5k B2 148
1462 |\—7 - O—A<U— (I 9 2,000 |[Z%RH W — 99
1462 |)\—2 - O—XA<U— (I1%) 13.5 100 IR &B 134
1462 |\—7 - O—XA<U— (I 9 1,000 /TR &8 134
1462 |)\—2 - O—XA<U— (11%) 0.3% 13.5 50|58 5h& 203
1463|\—7 - O—AXU—"<I3)LAEV D" 13.5 10PIR &8 134
1464 |\—7 - O—~X2VHEZ—)L 9 1,000 IR =58 134
1465 (N4 ADWYFE 1.29%% Pot PDE |KIE KT 119
1466 | NA4 hD Y+ (ZFUEE Y ) 1.4~1.8 50X50 BIEEE=S 214
1467 |)\1 ./ =+ (#%31) 1.0 S ES 94
1467 | )\4 /F (#k1L) 1.5 HEREES 94
1467 |)\1 /F+ (#%31) 1.8 100 |&%FH = 94
1467 |)\4 /& (#k31) 2.0 50 |&FH =E 94
1467 |)\1 /F+ (#%31) 2.5 10|%E8 =+ 94
1467 |)\4 /& (#%31) 1.5~2.0 30|X1E KT 119
1468 |\A/* (#kil) (ZTUEEX v ) 1.6~1.8 50X50 REEEE- 214
1469 |\F (ZTU=E< v ) 0.9 50X50 1= &S 214
1470 [ \F"=HEF/\E” 0.2~0.5 10 150 #1 FH 205
1470 | \F "=imEF/ \ " 10 300 %L 7B 205
1471 [ N\F"=HETF/NE" (5) 10.5 2,000 0 IR &EB 134
1472 [\ - >O/\F 10.5 800 VIR &=ZB 135
1473\ - W/\F 10.5 2,000 |8l HE 180
1474\ D iRT 0.3~0.8 10.5 100 |21l H& 180
1474\ D RT 3.0 10 |EE AT 192
1475\ DT (#kiD) 3.0 HE T 192
1476 | \O B iRT 1.0~1.5 50 |XfE K 119
1477 |\ YV iRT (#RiD) 1.0 eSS ES 94
1478 | \TF 394 0.3~0.5 15 1,300 |81l HE&E 180
1478 | N0 F 394 0.8~1.0 15 100 |21l H& 180
1479 |\ 7F 3945 (ZFUEE Y ) 0.6~1.1 50X50 SRS 214
1480 /\7J U1 9.0 1,000 PIR &8 135
1481 |/\70=ZYF (ZTEFEX Y M) 1.0~1.6 50X50 8= FFH 214
1482 [\ A - TB8/\ X 21 100 J%E  #8 56
1483 | )\ I1F+HXS 9 700 |[#ll FTH 205
1484 | )\F 4 HS 12 150 U8 18 56
1484 |\ F A HS 1.2 3 el 162
1485 |/\F A4 KD 1.2~1.8 Pot 300 |&1E X 119
1485 |\FHARD 1.5~1.8 30|X1E KX 119
1485 |/\FAA R 2 100 |XfE Xt 119
1485 |\FHARD 2.5~3.0 50 |X1E KT 119
1486 | /\NF A RD (Z1FEFEX v ) 0.9 50X50 11=2M F£5 214
1487 |)\F> 390 30 |7FH F— 99
1488 |\ 3907 - /J)N\F3aoTJ 10.5 50 %8 % 56
1489 | \F> 397 - /)\F¥3oTd (A 10.5 30RE B 56
1490 [ N\F XA D 1.2~1.8 50 3R &YX 83
1490 |\ FRA™ 1.0m% RB 50 |X1E X 119
1490 [ N\F XA D 1.5 100 |RfE Xt 119
1490 |\ FRA ™ 1.8~2.0 10|28 AT 192
140N [NF XA D - PAUHANFTRAAD 2.5 30|1aH X 46
1492 | \FRAF D - PAUANTRADTINSF 7w R” ~3.0 25 aH X 46
1493 [\ FXAD - PAUANFTRA D FRST—)U"| 2.0~4.0 56HF 46
1494 [ NFAFD - PXUANFAF D T—RFTN—K" 2.0 20168 % 46
1495 [ \F XA D - PXUANFRAA D ATSHKRT”| 1.5~2.0 30|1BH X 46
1495 [NFRXF D - PXUANFRAT AT SHRI"] 2.5~4.0 20 6H X 46
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1496 [NFT XA D - PAUANFT AT OINRA" 1.2~2.0 3564 KX 46
1497 | \F X7 - PXUANFTRAD*VIN=T75DR"| 0.8~3.0 100 |24 % 46
1497 | NF XA D - PXUANFRAZ D VILN=T S5O R 1 1[0 Ek 78
1498 | \FT XA D « PAUANFAA D TxI—EVT"] 1.5~4.0 30 [GH KX 46
149 [ \F XA D - PXUANFTZAF D SRS 1.2~ 15[HaHF X 46
149 ([ NFXF D - PXUANFT A D hIRS—" 2.0 40 [BH X 46
1500 | \FZXAD - PXUANFZAADRoA43—"] 1.0~2.0 30[AHF KX 46
1501 [N\NFRA D - PAUANFZAD' N—bZFT TR 1.2~3.0 50 [GH X 46
1502 [\FZXAD - PAUANTZA D T4 VANV I="] 0.8~1.5 18~24 15/6HF K 46
1502 |\F XA D - PAUANTRAD D4 UAMYI="] 1.5~5.0 50 |aH X 46
1502 [\FRFD - PAUANFTAA D T VANV I=" 1.5 1|99l =k 78
1503 [NFRAD - PAUANF AT TU—L" 1.2 106 X 46
1504 [ N\FZXAD - PXUANFRAD R—UJU—" 1.0 40 |[5HF KX 46
1505 | N\FRXZ D - PAUANTZA T URLDwT 47 1.0 20[B5H % 46
1506 | N\FT XA D - BATI/N\NFTXAD mBA~5.0 300 [ AHF K 46
1507 [\F XA - AFTh—F 1.2~4.0 SO[EH K 46
1508 | /\F == 9.0 2,000 |ZmE #K 61
1508 | NF == 9 2,000 IR =5 135
1508 | /\F—Z= 3% 9 900 |=E o 164
1509 | N\F=5 &) 9 1,000[8%AK X 154
1510 \F_/* 2 1&E XN [ 119
1510\ F/=* 3 11X XN 120
1510 \F/* Pot PE|XE XN | 120
511N\ F=XF 1.8~ 30 [AHF KX 46
SR2[N\F=EF (ZFEEE Y ) 1.6~1.8 50 %50 7|=M &£F | 214
1513[/\F=XF (E4) 0.5~1.0 10.5 1,000 Bl HEs 180
1513 \F=X* (EH) 0.8~1.4 15 150|881 #HE 180
1513 [\F=XF (EH) 1.2~ 18 20|81l HE 180
1513 \F=XF (EH) 1.0~1.5 27 30|7%H =3 | 201
1514 N\F=XF (&£ -7k - H) Pot 200 |%&fE KT 120
1515 N\F=EXF GR) 3.0 5K Fh 34
1515 [N\ F=XF GR) 2.0~3.5 200 K2 &B—Ef| 67
1515 N\F=XF GR) 1.5~2.5 100 |PH 5k 78
1515 [ NF=XF GR) 1.5~1.8 300 |7%FH = 94
1515 N\F=XF GR) 2.0 300 |FkHE = 94
1515 [ N\F=XF GR) 2.5 150 |#%ZH =E 94
1515[N\F=XF GR) 3.0 SOFRH = 94
1515 N\F=EXF GR) 0.10~0.15 S50|&fE AN 120
1515 [ NF=EXF GR) 2.0 100 [+ RS 143
1515 N\F=XF GR) 2.5 100 |&F & 143
1515 [\ F=XF FR) 3.0 0.10 20[&F @ 143
1515 [ NF=XF GR) 3.0 0.12 20|+ HF5 143
1515 [\ F=XF GR) 3.0 0.15 20[&F @& 143
1515 | \F=XF (FR) 3.0 50 & Ry 143
1515\ F=XF GR) 2.0 50/N\E BB 145
1515 N\F=XF GR) 1.8~2.0 5|HE  ZEH 165
1515 N\F=EXF GR) 2.5 3Pl & 174
1515 N\F=XF GR) 1.5~2.0 200 E@ %5 192
1515 NF=EXF GR) 0.15~0.35 S5[EXR % 196
1516 |/ \F=XF (H) 2.0~3.5 200 | K= #®—EBEB| 67
1516 |/\F=XF (H) 1.5~2.5 100 [tPHH % 78
1516 |/ \F=XF (B) 1.5~2.0 50 [FR &YX 83
1516 [ N\F=XF (A) 2.0 200 |F=F Hf§ 143
1516 | NF=XF (B) 2.5 200 [&F S 143
1516 [ N\F=XF (A) 3.0 100 | PR 143
1516 | NVF=XF (B) 2.0 S0/NE BB 145
1516 [ N\F=XF (A) 2.0 10| =8 —& 162
1516 |/ \F=XF (B) 3.0 0.15 2 |9 ZBH 165
1516 [ N\F=XF (A) 4.0 0.21 1|HP  ZE8f 165
1516 | NF=EXF (B) 3.0 0.12 40Pl EHH 171
1516 | N\F=XF (B) 1.5~2.0 200 [EE %5 192
1516/ \F=XF (A) 2.5~3.0 100 |28 J&o 192
1517 N\F=XF BHA) 1.5~2.0 AERFF S 120
1518 [ \F2RF 7w TN - ZA04=bhox—9—- Ly RIv47Y ] 2.0~3.0 300 |&1E Xt 120
1519 NFERAFTFuvPILTOVvHL GR) 2.0~2.5 100 [FUR &Y 83
S9N TFEIF7vRILTOvTL” GR) 2.5~3.0 50 FHR  EX 83
1520 | \NF=ERFETFINSFFPVRTUT” 1.0 56HF £ 46
S0 NS ERFF—I LTIV 2.5 S51aH ¥ 46
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BRINF=ZZAFTSORFA” 2.5~ 30 |H$ A 73
DBRINFZAFITSORFA” 1.5~1.8 300 |7%H = 94
BRINF=ZZAFTSORFA” 2.0 300 |7%RH = 94
DBRINFZAFTSORFA” 2.5 150 |F%kH = 94
BRINF=ZZAFTSORFA” 3.0 50 |%H = 94
DBRINFZAFTSORFA” 1.0~1.5 21 100|811 #HE 180
BRINF=ZZAFTSORFA” 3.0 20 |m B 182
BB INF=ZZAFTSORFAY” (BRI 2.0~2.5 5|RUR  FX 83
2UINF=ZZAFTSORFA2” (B) 1.5~2.0 200 [FR X 83
1524 \NF=ZZAF"TSORFAY” (B) 2.0~7.0 50 [FR  F]&X 83
24| NF=ZZAFTSORFA2” () 2.5~3.0 | 0.109% 20 [BR | 83
1524|\NF=ZAFTSORFAY” (B) 1.5~1.8 100 [%&fE Kot 120
24 |NF=ZZAFTSORFA2” () 2.0~3.0 300|KfE Kot 120
1524 NF=ZAFTSORFAY” (B) 0.10~0.15 50 |K1E AT 120
IS5 | NF=RAF T2 PR 3 AESEP.S 120
1526 [ NF=AF"R4—bD#4—9—" 2.5~ S51HF A /3
1527 | NFEAF"RIA4—bDF—F—" (FR) 1.5~2.0 100 |FHR  $]/Z 83
1528 | \F=RAF"FrxOF+—" 1.8~3.0 35|K1E_AIT 120
BNF=ZZAFFIOF—F—T" (Fx) 2.0~2.5 100 [FUR  F+&eX 83
SN FEAFFOF—F—T" (R 2.5~3.0 10.10~0.12 100 [#UR  F+&XL 83
1530 [N F=RAFE—F " 10.5 20|64 ¢ 47
13T N\F=RAFET==" 0.8 21 5164 X 47
1532 [N\ F=AF* XF2T” 1.8~2.5 50 | EHA 73
1533 [ NF=RAFUAVR=" 0.12~0.21 9|X1E_AST 120
1534 NF=ZAF Ly R v TV 1.8~2.0 80 |HP & 73
1535 [NFRZF Ty TN A4=b F1O#=-EVIRRYF - by RIn47UM ] 1.5~1.8 100 |XfE K 120
1536 | N\ZOL"VaF VRS 21 30| = &—Bl| 67
1537 | N2 DO LN ZAT#D” 21 30 K= &—BS| 67
1538 NZD L F325—=9" 21 30 (K% &—Bf| 67
159NN TU=—U=ZAA" 21 30 K% &—BS| 67
40 NTT A7 DT AVZADT—=)UR” 15 20|K% B—Bf| 68
BUNINTFT 437 HOU—=F Lh="FA K 15 50| x% fR—EB| 68
1542\ NN T4 V7 N=TIVAE=T" 15 50| = &—Bf| 68
153NS ZAN_wyaba—T 41— (REOFEIV N | 1.7~2.1 50%x50 2|2 FH 214
1544 N\N5 - EvIADINS Pot DEI|KIE AT 120
1545 | N5 - EvIDONS (&) 0.2 10.5 500 | =B AKX 61
1545 N5 - EvIONS (H) 10.5 400 TR &8 135
1545\ - EvIONS () 15 20T &5 135
1546 | NS> 12 100 /TR &8 135
1546 | NSV 12.0 1.000 [#5K B2 148
1546 | NS> 12 500 |#5K &R 154
1546 | NSV 12 20058 —% 158
1546 | NS> 10.5 100 | hE  Fta 184
1547 |\ AOF /+ 1.2~ 10165 ) 47
1547 | N\NVAHF /* 3.5 0.15 /16 % 47
1547 | N\NVAF /+ 5.0 0.30 5164 X% 47
1547 | N\NVAHF /* 18 10|6H X% 47
1547 |\ HF /+ 21 10|65 47
1547 |\ ABF /= 5.0~6.0 3R FBX 83
1548 | \NVAF /FY /X 10.5 10|65 47
1549\ N\NVO27 - TUSTHUT 15~21 5/9H % /8
1550 | N\ o 27 - 2830—8 15~21 S5|9H % 78
1551 [NV D27 - )NULRS 10.5~21 5/9H % /8
152NV DYV F - R=IF =5 15~21 5|9H % /8
1553 | \V5> 3D 10.5 400 /%5 48 56
1553|\>5>3D 9 100TR &8 135
1554 [NV INAT S A 15 5PIR &5 135
1555 [NUNZRT SR (BEA) (&) 15 20 TR &8 135
1556 | E =NV T 27 1.0~1.2 5|K=% &Z—B8| 68
1557 |45+ 3 TIRIE Av | 120
1558 |EA S+ BEA) 3.5 [(IES (PSS 120
1559 EASF - AEASF 1.2 RB KE Kb 120
1560 | EASF - HhOU—F "BV T 4 R)V” 1.5 2016 47
1561 A S5F - JURXAM=U— (ZFUF¥I v b) 1.0 50X50 1= FFS 214
1562|EASF - ABEA S+ 0.3W% 30 A E— 227
1563|EASF - FOFEA S+ 2 [IES(GP.NST 120
1563|EASF - FFEA S5+ 2.5 EIES(GPN1 120
1563 EASF - FFEASF 3.5 [IESCEP.ST 120
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1563 | EASF - XA+ 0. 6|7957+ 50 | EB— 227
1564 | EASF - FEEASF () 1|XE XN 120
1565 | EASF - EeASFI— TxX9—"] 0. 2~O 3 15 500 558 =% 52
1566 | EASFF VTV 1.0 6 | K ) 34
1566 [ EASFEFTY 0.6 20548 — 162
1566 | EASFF VT 1.2~ 5|0l & 174
1567 [ EASEFUTY ZEFOUEET YN 1~1.2 50X50 2|2 FFH 214
1568 | A SFF T OV T—Y" 15 5,000 K= #®—BB| 68
1568 [ EASFEFFTU OV T—Y" 9 7,000 | K= %&—B8| 68
1568 |l A SFF T OV T—Y" 0.6~0.8 20|E48 — & 162
1569 [ EASEFFTUFrvUT 4" 2.0~ 558 —F 162
1570 [EASFF VT NRZTFFrUT4=" [ZINEEIY N 1.3~1.5 50%X50 2|2l FH 214
1571 |EASFEF VT VRRZTPTvUT 44— 3 [HESEP.SH 120
1572|leASXFVTY - 77 NEASEFT TV 15 518 47
1573|eASF¥FFy - aVT—Y 0.3 15 60 %8B B 56
153|eA5FFrFy - aVT7—Y 0.3 15 500 2H ® 167
153|leA45FFvFy - avTJ—Y 0.3~1.0 100 |9ALL & 174
153|eA5F¥FFy - aVI—Y 0.3~ 12~15 500 [1FK 1% 196
1574\ e45%FV7 - t/fa'jt/fj:FTJT/ rihg” 15 518 € 47
15755 [ EASFFUFTY - TR - RJUIR—1TF 15 518F 47
1576 t/(ji\:j'/T/-V/T:?j/? H 0.3 15 1,000 |F7ZH &2 101
1576l EASFFUFTY - IR FOAVT—Y 9 1,000 |FxH 182 101
1576 |45y - XmR_FIVT—H 0.4 20 400|971 [EBR 171
1576 |l EASFFUFTY - IR FOAVT—Y 0.3 15 200 |fxH =38 201
1576 |45y - XMR_FIAVT—H 0.3~ 18 200 |ZRH =3B 201
1577 |leASFF 7> - <h=—73>Ja—5— | 0.8~1.0 24RB 2038 &YX 83
1577|457 - <K= 773> Ja—H— | 0.3~1.0 1,000 |&1E KT 120
1577|457y - ImRZF7aJa1—Y— 15 200 0IR &8 135
1578 |l A SF+ET A 1.2~1.5 150 [FHR &YX 83
1578 [ EASFEET A 1.0~1.5 107K &i&E 86
1578 |l A SFET A 2.5 10|X1E KT 120
1579 AT (GR) 10.5 5,000 |85 K EX 154
1580 | U A+ Pot FE XN 121
1580 | A=+ 0.3 10.5 1,000 |58 —3 158
1580 | U A+ 0.5 15 200 |58 —3 158
1580 | A=+ 2.5 10| &8 —& 162
1581 |[ERIF T 21 20 K= B—Ef| 68
1582 | BP0 5oA“0=h" 0.6~1.0 0.4~0.5130~36 60 |58 = 52
1583w a= 1.0~1.5 EIERGP.~ 121
1584 [V T 12 100 %8 #& 56
1585 hyN9 O 2.0 51aF 47
1585 hYNS O 1.25%4~1.5 Pot PE|KRIE KN 121
1586 | & MYNS O (ZTIUE=FT v ~) 1.0 50X%50 HEREE=S 214
1587 [E RYNSI T - PAXUAERYNS T 1.8~4.5 20 6FH K 47
1588 FU XA 9 20 55K FEX 154
1589 I:/=F 3.0~ 3KIE KN 121
1590 [ E/N*"F v R/ 3.5 15 [ Efm  F54a 184
1590 [ E/N"FwihE/\” 2.5~4.0 10| IER 7% 196
1591 [E/V"F v RE/Y” (FEISL) 3.0~4.0 FR 7% 196
1592 | e/ Ngae /N 1.8 50 [ghLll  EBH 171
1592 | /" 2.0 200 |dALl B 171
1592 | e/ N\ e/ V" 1.5 200 | 182
1592 [ /" 1.0 200 |8 &5 192
1592 | e/ N\ e/ \” 1.5~2.5 10| IER 7% 196
1593 [E/N"EF vR” 3.0~4.0 2IFAR 1% 196
1594 | /N - FwmE/N 4.0 30 [ffH 3 169
1595 /Y - Fvmb/N (Fo M) 3.0~3.5 3l S 174
1596 | /N - /N 1.8~2.0 10|X1E Kt 121
1596 | =/ - gg=t= /N 1.5 5 |H B 165
1597 | /N - &F wiR 1.0~1.8 15 |5 5 63
1598 | = /\ - BXE/N 3 5|K1E KT 121
159 | EN=F L - VFEIHRIa—A 0.6 18 10|%R = 139
1600 ENN—F L - AFU—U 1.0 30 20 |7%E =F 201
1601 |EN—F L - R/ —HR—)L 1.0 24 50 |7%RH  =FB 201
1602 | EN—F L - FEAT« 0.2 10.5 10|%R = 139
1603|ENN—F L - FEATAXT A XA 0.3 15 250 K= #®—BB| 68
1603 [EN—F L - FTEATAXT 4R 0.5 50| K% &—Ef| 68
1603 | EN—F LA - IEATAXTARR 0.2 10.5 50|58 = 139
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1604 | EN=F L - T4 XX 0.8~1.0 20 80| X% &—Bf| 68
1604  EN=F L - T4 XX 0.3 15 2,000 |%R 5= 139
1604 | EN=F L - T4 XX 1.0~1.2 24 100 |[RH 5=FB 201
1605 | EN=FL - T4 XX NUTIH=Y) 0.3 10.5 1.000 |5 R = 139
1606 | EN=F L - NUFPF L 0.5 50 K% &—B| 68
1606 | EN—=F L - NUFPF L 15 200/ K% E—BB| 68
1606 | EN=F L - NUFPF L 0.2 10.5 100|557 = 139
1607 | EN=FL - ELU=D4 VY 0.3 10.5 200|5%)R = 140
1608 | EXRUAD L AU VF L 10.5 1.500 [#5K 85 148
1608 | EXRUAL AU F I 0.1 10.5 500|568 —3 158
1609 EXRUABL* YV JUN=N)URw K~ 0.3 15 2,000k = 140
1609 | EXRUA LV IUN=N]L X K 0.5 21 100|557 & 140
1610 EXRUAL ETO—R 0.4 0.3 15 5.000 |Z@E K 61
1610 EXRUAL ET I—R 10.5 5,000 |Z@  FIK 61
1610 EXRUAL ETO—R 0.3~0.5 15 2,000 [%H &= 101
1610 EXRUAL ET I—R 10.5 5.000 [%xH & 101
1610 EXRUAL ETO—R 10.5 2500 TR &8 135
1610 EXRUAL ET I—R 10.5 200 |8 8BS 148
1610 EXRUAL ETO—R 0.2 10.5 400|518 —5 158
1610 EXRUAL ET I—R 0.3 15 2008 —5 158
1610 EXRUAL ET TI—R 0.2~ 15 2,000 |81 #Hs 180
1610 EXRUAL ETI—R 0.3~ 15 1.000 [sFE 35L& 203
1611 EXRUALTIL—N)LRw K~ 0.2 15 100|~7E sh& | 203
1612|EXUBL - BUTF I 10.5 2,000 % FIA 61
1612 EXRUABL - BUVF A 10.5 700|7tK &iE 86
1612|EXUADL - BUTF L 10.5 4,000 [ZRH 3 — 99
1612|EXUADL - BUTTF A 10.5 1.500 578 3h& | 203
1613 EXRUAL - FVV)NA 0.3~0.4 15 500|281l R& 180
1614 EXRUAL-VIE 1 100 |KXF B—B8| 68
1614 EXRUBL - I IE 0.5 15 200|5)R = 140
1615 EX SR+ 4.5 ST — 162
16l6| XS Va1 /2% 9 1.000 %5 48 56
16l6|EXSVIF /Y 10.5 2,000 |ZfE  FIK 61
16l6| XSV /2% 9 3008 &R 154
16le|EXSVPIL /Y 10.5 100|5E —5 158
1616| XSV /28 15P 30 [MA  FE— 227
1617 EXADIVVD 9 10,000 |Zg  FIK 61
1017 1eEXADIVVD 9 20,000 P TR &8 135
1617/ EXADI VYD 9 3,000 [# AR B8 148
1617 EXADILVD 9 5.000 [#5 K EX 154
1618 EXDYF AFRA/—TUAT” 15 1,000 [/]\#k &7 218
1619 EXDYF AFF T U—TOvHL” 15 1,000 [/J\hk &1 218
1620 EXABVVD 10.5 90 PIIR &8 135
1621 | EXT v S 1.2P9%4 RB Z5-AES (VN1 121
1021 |EXT v S 3 1|XfE_KIv 121
1622|EX w5 (#k31) 1.5 100 |%RH = 94
1622 | EX v S (#R3D) 1.8 100 |%xH = 94
1622 X w5 (#k31) 2.0 100 |F%RH = 94
1622 | EX v S (#R3D) 2.5 50 |F%H = 94
1622|EXY w5 (#k31) 3.0 50 |F%RH = 94
1622 | EX v S (#R3D) 1.8~2.0 30 [KfE Kt 121
1622 | EXV w5 (FRIT) 3.0~35 3|KE AT 121
1622 |EXY v S (#R3D) 2.0 50 |+ P 143
1622 | EXV w5 (FRIT) 2.5 50 |&F P& 143
1623 EXY v S (K1)  (ZfTUFE Y b) 1.5~2.5 50X50 4|=MM FF 214
1624 £ XY)LVIN 9 1,000 |Z@  F0K 61
1624 £ XY )LVIN 9 2,000 TR &8 135
1624 | £ XY )LV 9 500 |#sA &R 154
1625 | EXNYNZAT SR (ZTUFE X Y ) 1.0 50%x50 2= FH 214
1626 | £ XTI XU\ 0.3 1|XRME K 121
1627 | E2D A=A+ 0.2 10.5 500|%H &2 101
1627 |[E2aDA=RF 0.3~0.5 15 3,000 [%H & 101
1627 | E2 DA+ 0.3 15 400 |[=H # 167
1627 |[EaDH=RF 0.2~0.5 15 3008l #E 180
1627 | E2 DA+ 0.5~0.8 0.3~0.4 500|=5[E 58 192
1627 | E2D A=+ 0.4~ 10.5 100|578 sh& 203
1628| 2 =52 9 300 85K X 154
1629/Ea—75 (GRE) 10.5 2,000 [#p K 8BS 148
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1630 | Ea1—o5 (%) 10.5 2,000 8K RS 148
1631 | Ea—5 57 v IV T—X K 10.5 100 ) TR &8 135
1631 | Ea—45"7vTILYT—RN 12 20T &8 135
1632 | Ea—=—4Z"V)UN\=FTa21—=7" 10.5 100TIR &8 135
1632 | a—45Z"V)LN=F21=7" 12 40T &8 135
1633|Ea—4535"TJ5vIRU—=9)L K" 10.5 100TIR &8 135
1033 |ta—4Z" 75y IXU—=F )UK 12 40T A 135
1634 | Ea—4- 2" JO0—XXAUXRAHw K 10.5 100 &8 135
1634 | Ea—4,Z5"JO0—XXUXAAY R 12 120017 &8 135
1635 | Ea—4 S A= T 7 vI” 12 20T &8 135
1636 | E 21— S "HE” 10.5 1,000 ) T/R =& 135
1637 3DV 13.5 500 %R #8 56
16383 RUVD 9 100 |55 BX 154
1639 ES AV N=—LATA" 0.6 0.2 15 50 |8 = 140
1640 | ESAVHY X Pot DE|XKE KX 121
1641 | )L — RB DE|KE XN 121
1641 [ )L — 0.5 15 1,000 |55R = 140
1642 | E)JLNU — (Z7UFF X v ) 0.6 50X50 NEEEES 214
1643 | )R —""0—XXTSwva” 0.4 10.5 100|558 &= 140
1644 | ED .5~3.0 HESGPS 121
1645 | D (Z{TUFEX W ) 1.4 50X50 1= &S 214
1646 | ED" 04—V RIB” 15 100 [/)\VPR BEfT 218
1647 | ED* A —VEIE - HP - [RA” 1.0~1.5 Pot DE|XE XN 121
1648 | E D RIF” 15 100 R BE1T 218
1649 | ED*Hp” 15 100 [/J\#k  B&{T 218
1650 | EDIEAR” 15 100 [/\VPR BEfT 218
1651 | VA - <IJ3—=)b 9 10,000 | &= 30K 61
1651 | VA - I 3—=)b 9 2,000, TR =& 136
1651 | VA - <IJ3—=)b 9 2,000 |F5K fEE 148
1651 | EVA - <T3—=)b 9 5005t —5 158
1652 | E>VA - < 3—=)L BN 9 500 TR =58 136
1652 | EVA - <T3a—)U (A 2,000 =8 —5 158
1653 | VA - I a—)L BIAN) 9 5,000 | = FIK 61
1654 | EVA - I 3=)L"NUITH=F" 9 1,500 8K B8 148
1655 | VA - =/—)b 9 3,000 | =i FIK 61
1655 |E>VA - =/—=)b 9 500 ) TR =55 136
1655 | VA - =/—)b 9 5,000 |#LL F=5F 205
1655 | VA - =/—=)b 9 5,000 |#&Lll FTH 205
1656 | VA - = /=)L (BEA) 9.0 1,000 |zBE 0K 61
1656 | VA - = /=)L (BIA) 9 500 85K @BE 148
1657 | EVA= /=) 9 800 5@ —3 158
1658 | VA= /—IL"NUTIH=9" 9 300|518 —5 158
1659 | 77 R ANT S 15 20|%°H E 78
1659 | 77 hANT S 0.4 15 0 |ERE = 140
1660 D4 HR - T=5 9 2,000 IR =8 136
1661 | 714U A+ 1.2~1.5 30 |HP EA 73
1662|770 - P XU ARTT (FE) 1.0 20|64 % 47
1663|770 - PAXUHTO*V)ILN—FT” 2.0~5.0 20 aH 47
1664|070 - PXURTO* RS9 —)bTw K" | 2.0~5.0 5| 6H K 47
1664|790 - PAURTT AU YI =YLy K 21 10|64 X 47
1665|790 - PXUARTOF1)-=" 24 20|64 X 47
1666| 7D - PAXUAHTO NUIH-=9" .0~5.0 20 [aH 47
1667|270 - PAXU AT 05T «0—/V .5~3.0 20 6H ¢ 47
1667 | 79D - 7AU AT 09T 40—/ 21 18| aH 47
1668 | 7JOFVD (BE) 9 200 | K= fB—Hi| 68
1669 | 7OFV T (BEA) 9 50 (K= Z—BE| 68
1669 | 7DOFVD (BA) 10.5 500 TR =8 136
1669 | 7OFV T (KA 12 40T &R 136
1669 | JOFVD (BA) 10.5 600 [#A  EX 154
1670| 7O U VO XERFE 0.8~1.0 30 PR F|X 83
1671|7437 1.8~ 58K FE 34
1671|7437 1~2 500 | K= t%R—BB| 68
1671|7437 15 100 [R#E fB—Ef| 68
1671|7437 10.5~30 20|%H =E 78
1671|4337 1.2~15 50 [K1E AT 121
1671|7437 1.5~ 50/\& BE 145
1671|4337 1.5~25 58l & 174
1671|7437 1.5~2.0 50 |EE A&a 192
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JxA4337 1.0~2.0 100 |FRH F=F 201
214937 (ZFUFEX Y ) 1.2~1.5 50x50 BIEEES 214
J1xA4337 () 1.2~1.5 50 |HF E# 73
JIxA Y37 7mRO" 1 50| K% fk—Ef| 68
JxA a7 7iRO" 15 200 /v BEfT 218
JTAY 37 7kR0O" 0.6~1.5 30 | FB— 227
2143937 0—JwJ” 15 200 /v BEfT 218
JxAY3 7 V=" 1 10| 0% f&R—EB| 68
J1A V37" =" 15 200 /] BEfT 218
JxA4937 o470 1 10| K% f&R—EB| 68
J1A 937 baAF7VT" 15 200 /] BEfT 218
214937 54707 0.6~ 30 |IaA HB— 227
J1AIJ3 7" —F—79" 1 10|KX% f&—EBS| 68
JxAI 37 <UFP” 1 10| K= &—EB8| 68
JxAI 37" RUT7P” 15 200 [/J\FK BT 218
TJ1AIV 37X/ ER" 15 200 [/\fA  [E{T 218
JIA V37 YVER" 0.6~ 210r24b 30[1AE = 227
JxAY3 7" 1_—7" 1 10 | K= 1 EB 68
JIAVAH - T59hH 9 300/ IR &B 136
JIRAVA-TJ594H 9 1,000 |85 K FEX 154
Jx9+5 1.2~1.5 20 (Pl & 174
T2 F5"TIL—=Z K" 0.8~1.2 50 [AH X 47
Jx59+5"vohIA(U—" 1.5 10|aH ) 47
JxYF5 - <T3—)L 0.5~0.6 15vp 200 R &Y 83
203aV0 10.5 200 85K X 154
7Y (ZgImEE Y L) 0.6~1.2 50X%50 3= FFE 214
7Y (B8) HE) 0.10~0.25 200 |X1E Xt 121
2INWRE (B) 1.5~ Pot 30|XEKIT 121
2V - 509 vyF—I IS5 v " 1.5 518 48
JI9F - PAUAHT I+ 1.5 518F 48
JIF - PAUADIFIN—F RV D 10.5 518 48
JI)NAY 9 500 [k FERX 154
J9UYXH 9 SO0k & 154
JvFVD 9.0 10,000 |[ZRE  #0K 61
JvFVy 10.5 100 |7oAK =i 86
JvFrVD 9 2,000 |Z%RH WF— 99
PREYI, 9 5,000 |F%ZA &2 101
PR, 9 6,000 g5k 1@BE 148
PEEYI, 9 8,000 =8 —& 158
PR, 9 3,000 |#l 7:®H 205
JvFVoy 9 2,000 %l FE 205
JvFV (BEA) 9 700 IR &ZA 136
PEEYINGIN) 9.0 1,500 55K EE 148
PRSP (H )\) 9 400 m*n —53 158
Jv RV 0.5 10.5 100 |SF8  5hE 203
TwvRLU7 (¥) 10.5 800 U IR =B 136
Jvy U7 (B) 10.5 400 PIlR =B 136
TJv R ITSvIFA KN 15 100 K= #%&—Bl| 68
TRY (PIXTRD -HITRD) 1.5~2.0 RB PDE | KIE KT 121
IRY £y 73917  FA7H7 BB B YAnyMU-A-bAOyN | 1.5~2.0 RB - Pot 250 |1 XN 121
75 1.0 Pot KE KT 121
77 0.50 [HESEFShH 121
75 2.5 0/E BE 145
JF 0.2~0.5 10.5 1,000 |2l BE 180
JF 0.5~0.7 15 50 |8l HE& 180
JF 1.0~1.5 21 708l FBE 180
JF 1.3~1.8 24 308l HE 180
J a8 (ZoUEEX v ) 2.2 50X50 12| &5 214
T7F - RFS—9SUIx—I—JUZIV" 21 20 6HF X 48
JF - 3—0OvN\TF"ozx—7" 0.6 10|aH X 48
J7 - 3—0v/NTF b7 15 1064 X 48
JF - 3—0vN\TFFILTLTF” 1.5 0BH KX 48
J7 - 3—Ov/N\JF'g/N=—" 0.5 5af 48
Jd1A4F 3 10.5 10 |85 X 154
PENEP)) 10.5 500|548 &g 164
730 - BA73IY (ZTEFEI V) 1.6~1.7 50X50 3= &S 214
J53 /% 2.0~2.5 26RB 8 PR EX 83
Jo39./F% 0.4 10.5 400|557 = 140
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1714|7532 ./F% 1.5~2.0 30 100 |%H =76 201
1715105 /F (VD) 1.2 20|FH =+ 94
1716|722 /F (ZTUFEX Y ) 1.5~2 50X50 4= F£FH 214
17171753 /F GR) 1.5~2.5 100 |9Pl & 174
1718|075 /FRTLUYTUR” 10.5~36 100 [tPH % 78
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1908 | LU xFVFT - OLTYF 0.5~ 15 1,000 |Bl HE 181
1909 | LSV T - OLSHF (B8%) 0.3~0.5 15 200 |8l HEs 181
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No DD% ] C ﬁ(Cm) 2&%[ EEE% =]
1910 [ LR XX 0.5 15 30RE B 57
1911 | XF"A—L7" 24 10|aH X 49
1912 [ XF* O—)LRU VT 10.5 20 6HF X 49
1913 [ XX EVo7 o037 10.5 200 85K 1EE 148
1914 XF 0—X7J0O0—" 12 20 [6HF X 49
1914 | XF“ O—2J0O—" 10.5 1,500 |#5 K 5 148
1915 | XU /% 1.5~8.5 15[6aHF X 49
1915 | XJ R /= 1.8 2|K1E KN 123
1916 | X947 1.0 ~1.5 RB - Pot ERIES P S 123
197 | A9 047 (ZFUEET Y ) 1.2 50X50 3= &FH 215
1918 | X R—t— 9 100 IR &EB 137
1919 | XS VIR R/ —A VX" 2.0~2.5 10|7%E =+ 95
1919 | XS UIA R/ —A VY= 1.5~2.0 [HETIEE 193
1920 | XS LA YA LN X)) 15 100 [ KZ #B—BB| 69
1921 [ XS LUI9A T4—V =" (ZTNUEEX VY ) 0.8 50%X50 HEHEESS 215
1N AS LU TovIT4—VY =" 1.5~1.8 20| K= B—B8| 69
192 | ASLUDA TSvIT4— VY —" 2.0~2.5 10|Z%H =% 95
12 XSV TovIT4—VY =" 1.0~1.8 24.0RB ENE T 193
1923 [ XSUIAT5vIT4—VU=" (0¥ v M) 1.2 50%50 1= &S 215
1924 | ASUDA TSvIT4—VY =" (#31L) 1.0~1.8 24.0RB 20 |E/B AT 193
1925 [ XS UDA AT A AT —V =" 1.5~2.0 IBE GRS 193
1926 | XS LU DA LR 21—y d—)UR” 1.5~1.8 10|%H =+ 95
197/ | XS UVOA VEY T4 —VY =" 2.0~2.5 10|&%FH =+ 95
1928 | EOF VI 0—R59" 10.5 25 [6HF X 49
1929 | EDJ A - EXTEI A 3.5 3EXIE KN 123
1930 | B 21 - UBXEET B4 (ZUEEX vV M) 1 50X50 4= F£FH 215
1931 [EZE v wv D 10.5 2000 TR &8 137
1932 | EJ LY (ZFEFEEX W ) 1.8~2.1 50X%50 2|2 FF 215
1933 | B LY () 0.3~2.0 12~30| 2,500 %58 =% 52
1934 | EJ > (i)  (ZglUFEEX Y ) 1 212 F&HS | 215
1935 | E LV TUHRR” 1.5~2.0 150 |&X1E Xt 123
1935 [EJ LU V" TUHYRR” 0.12~0.15 10|&<1E X 123
1935 | E LV TUHRR” 0.21~0.30 10|X1E Kt 123
1936 | EZ2 L "3 F3” 1.5~ 30[AaHF K 49
1936 | EZ L V"3 >” 2.0~2.5 3|HE  ZBH 165
1937 |[EO US4 7" 12 518F 49
1938 | EJ LR /—IRDA K 1.5~2.0 40 |X1E KT 123
1939 [ BT LUV R/ —HROA4 K (ZFNUEE< Y M) 1.5 2|2 F+&S | 215
1940 EO LV NI T=5A" 1.5~ 15aF X 49
1941 Eo L O—vILISo V" 12 156 * 49
1942 | EO L& 1.5~2.0 35|XE KT 123
1943 | EZ L' (ZTUEE Y M) 1.5~1.7 2|=mM #F | 215
1944 [T90a0y - BRby- 2/-104 0 88 TVFX v0-1-R5 1837 887y [ 1.0~1.5 RB - Pot 800 |K1E Xt 123
1945 | EO L " )N)LAV” 1.5 PRIESEP S 123
1945 | B L " )N)LAY” 3 0.12 1|XIE KT 123
1946 | EJ LY - FEZL V" O=)LTVF TN 21 1518 X 49
1947 | B2 - 3T 1.5 50 |X1E KT 123
1947 | EO LY - DTV 3 100 |K<1E Xt 123
1947 | B2 - 3T 0.15~ 40 |X1E KT 123
1947 | EO LY - DTV 0.45 [HESEFSH 123
1948 | EO LY - 57Ty 1.5~2.5 250 |X1E KT 123
1948 | EO LY - 57TV 0.12 [HESEFSH 123
1948 | EO LY - 7Ty 0.4 [HESP.ShH 123
1999|EOLY - 70Ty (EXTOTY) 1.8~ 30 |MEWL JE—BE| 71
1950 | B2 LY - 577y (ZalUE¥ET v ) 1.8 50X%50 1|2 &S 215
1951 | B2 LY - 577y (#ka1) 2 1|RIE KN 124
1951 | B LY - 577 (#kil) 3.0 [HESGF.Sh 124
1951 | B2 LY - 577y (#ka1) 3.5 1|RIE KN 124
19992 | EJ LY - DL 1.2~1.8 60 |E/B AT 193
1953 | B LY - ZAA4ATY 1.0~1.5 60 |X1E X 124
19854 | ETJ LY - NTEITLY 1.5~2.0 200 |[X1E Kt 124
1955|FEJ LY - Sv~NHYY3D 1.8~3.0 pPIESSES 95
1955 | B LY - Sv~NAHYY 3D 4.0 5|F%FH = 95
195 | EOJ LY - 8BEJ LY 2.5 EIESGP.Nh 124
1957 | EJL Y -7y 1.5 100 [&1E 7 124
1958 | EF /F+ 4 5| MEx 33
1958 | EF ./ =+ 1.8 100 |&%RH =E 95
1958 | EF /F+ 5 10|X1E KT 124
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No e ] C 2% (cm) rE B
1958 | EF /+ 2.0 30 |=E 143
1958 | EF /+F 2.5 20|% 143
1958 | EF /+ 2.5 2018 162
1958 | EF /= 0.2 5|8 163
1958 | EF /+ 3.5~4.0 3 175
1959 | EF/F+ (BA) 2~2.5 2 63
1960 | EF /F'&E=EF /F 3 6 33
1960 | EF /F'EEEF /F 3.0~4.0 5 124
1960 | EF /F'&E=EF /F 5 2 124
1960 | EF /F'EEEF /F 2.5 20 143
1960 | EF /F'&=EF /F 3.0 20 143
1960 | EF /F'EEsEF /F 3.5 5 163
1960 | EF /F'E&=EF /F 3.0~35 50 175
1901 | EF/F - IA4EF 4.0~6.0 10.20~0.30 20 84
1962 | EF /F - BFEF/+ 35 10 79
192 | EF /F - BFEF/+ 2.0~2.5 50 95
1962 | EF /F - BBFEF/+ 0.5 10.5 500 140
1962 | EF /F - EBFEF /+ 0.5 15 500 140
1962 | EF /F* -&@FFF /+ 0.8 15 500 140
1963 | EF /F - AEF/F 1.0%4 Pot 30 124
1964 | Ev 7D 2.0 5 34
1964 | £Ewv 0 2.5 5 34
1964 | Ev 7D 1.8~25 20 73
1964 | £Ewv D 1.2~2.0 25 124
1964 | Ev 7D 1.5~2.0 15 S 175
1964 | £Ev D 4.0~6.0 5 Vs 175
1965 :EE:/“ (ZTNEEX Y ) 1.1~2.3 50%X50 7 215
1966 | E= / (#k31) 5 33
1967 | E=I"D 027 (%kiL) 3.0~3.5 30 ) 35
1968 [ E=I"D 0" (BK) 2.0~25 10> i 35
1969 | E=I" I XSILRL— X 1.5~ 5 = 227
190 | E=I"F—5 LL—2" 1.0 157 L oim) 35
1971 :EE““"ZHJJJI\U L 2.0~25 30 ) 35
1972 [ E=IY i 1.0~1.2 20> 2] 35
1973 | £= V" MgZE 1.5~2.0 50 73
1973| €= HEE] 1.5~2.0 20 = 227
1974 | E= "8/ 2.0~2.5 10> ) 35
1975 | £= TSR (D) 3.0~35 5[; 35
1976 | E= I 0RER (HEK) 2.0~2.5 507 35
1977 | E= "+ 1.2~ 10 227
1978 | E= V"R 1.2 20 50
1978 | ES VRN 0.8~ 20 227
1979 | €= i 1.5~ 20 227
1980 | E= 3.0~5.0 6l 35
1981 | €= 2.0 5]} 35
1981 | E= 15 100 |/ 222
1982 | £= " 2.5 7 165
1983 | E= I I E” 1.2~1.8 1007 35
1983 | ES VIS E" 1.5~ 10 71
1983 | E= VI E" 1.5~ 30 143
1983 | E= VIR E" 0.6~ 15~ 20 53 196
1983 | E= I IR E" 1.5~ 20 % 196
1983 | ES IV fIiRE" 15 100 BT 222
1983 | EZ V" HIARE 1.2%¢ 20 |# = 227
1984 | E= 2.0~3.0 20 i 124
1984 | = 2.0 10 E3] 165
1984 | E= i 1.2~ 30 |IEK BTB— 227
1985 | E= C(EE) (ZfauFENYwvh) | 0.8~1.1 50x50 3 =5 | 215
1986 | E= 08" 1.2~1.5 20 53 196
1986 | E= g 1.0~ 20 = 227
1987 | €= BILR 1.2~2.0 100, 8 35
1987 | E= SIDR 0.8~15 10 5% 196
1988 | ES I HIEL 1.5~2.0 60 b=l 73
1988 | E= I "HIEL 1.5~2.0 60 KIT 124
1988 | E= I "HIEL 3 1 Xt 124
1988 | E= I "HIEL 0.8~1.2 30 = 227
1989 | E= I "HIEL” (#IL) 3.0~35 3% ooi=) 35
1990 | E=V"HEL” (EEXR) 1.2~1.8 150 |5 S8 35
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2N

No B .,
1991 [ E= U BRE" 218 VA G R s
19971 | ES I ShhE 12~1'5 100 b%F Ho 36
191 [E= T hE L S0]BF =H | 73
1991 [ES T Bk’ 0.6~ — 30[&F D@ | 143
1991 [£= T EhaE" 1.5~2.0 20[EAR 7% [196
191 [ES T EixE" : e SOLER 7 | 197
1991 | ES I "ShE TO0<T% 50 UAM ETT 223
1992 [ES 58 C 50~75 %8 ng =— 227
1882 EZ: : 1.8t 30 ;F’Aix g/n 239
19 == 2.0~2.5 5027 &35
M| EZI"KE 30<35 7 ¥ 75—'1—@: 36
1994 [ E= ] 38 EF S8 | 36
e o
:EEz n 08""25 3 _|—_E7< —0+J| ::54
0% = L2~ 8 Sl =177
= 2025 20[1N8 BE
£=: 15 = L 145
199 [E=Y" 30 100%F =8 36
1997 [E=S I8 TH~ 23 ?@- Fi8 36
et T.5~1.8 £0 9@?‘ B2
ESU 2.0~2.5 E
1998 [ ES I "Eh 50<3% 20|X1E KN 124
1998 | E= U 55 35 N %}E iﬁ 54
1998 | E= U5 ' i 4
1998 | E= J & DLl 20 [ fE | 124
1998 [ ES I E5F e 3|KIE KT 124
1998 [ E= T B4 50 : 2|KfE ANt [ 124
1998 | E= I & : Sr o
s T D — 5 50/ By | 223
ESTHN - YIL - HEL - AONFFESV| 15 ]
2000 €= I - YT - HEL  AONAFEST| 45 e S
2001 [£5V°BH - V9L - B4 %o - ZB 40\ FFE=T s TPot £l B | 33
2002 | E= " BREH 30 ot S00IFfE At | 125
2003 [ ESITRE 30 100%F =6 36
2003 | E= TSR T8-70 6 %F F0 36
2004 ES T BAFH T8=30 2|8 5 175
2004 [ €= T ELFHT 2.0~2.5 80[HP &M | 73
2004 [ ES I BELEHN S0=3% 150FUR  FX 84
2004 [ £= T ELFHT 2.5<3.0 25[pR #Y | 84
2004 ES TRLHH 35~2.0 | 0.1 e S 22
2004 | E= JBELER 5075 : 15 |#*H = 95
2004 | E= IR LA SO 30|XfE KA 125
2004 ES TBLEN 5.0 40[\& BBE | 145
2004 ES TBEATH" 5230 15[@P 285 | 165
2004 ESVBLEH TEZ 200 JIEAR 7% 197
2005 [E= TELEFHN (D) 5E 30|iA &— | 227
2005 [E= I ELEA_(#hi1) 2.5~30 10057 8 | 36
2005 ES VELTAN (D) PG 101508 = 95
2006 €= AONESY 1.8~35 21518 5 | 163
2006 E=Y - AONESY 50 150/H® &1 | /3
2006[E=TJ - AONESY 75 SIS 95
2006[E=J - AONESY 3.0 0.12 2o ad = 22
2006 ESY - AONEZY 18 : SOIRREH £ 95
2006 E=T - AONESD 50~25 SOIKME AT | 125
2006 | E=Y - 4ON\EZY 30"“35 100 |%&fE ﬁil 125
2006/ E=J - AONESD 025~ Lot 1S
2006 | E=Y - AO/\E=D 55 5 |&fE ﬁil\ 125
2006 E=Y - AONESY 0 1IXfE A [ 125
2006/ E=Y - AONEZY 5% : ; KfE A1 | 125
3006 =Y - AONESY 0.2~05 105 | 1.500 e
006 | E=Y - AONEZY 1.2~ - ; =L BE | 181
2006[E=J - AONESY 2.0~25 1501810 RE | 181
2006[E=J - AONESY 0.10~0.15 SO el | 193
2006 E=Y - AONE=Y 0.15~0.25 100/ ;55 | 193
%88? EE\‘“-%D/\EE\J“ 15~ | ](1)8 ?E = ;gg
=T AONESY EAEE : A =
XY &ZTUE¥< v b) 1.7 5050 1=/ %5 | 215
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o IV %*

T=Y - AONEZY (#1D) 2.0 1,000 ;%F S8 36
T=V - AONEZY #RD) 2.0~2.5 200 )% F =B 36
TV - AONEZY (#D 2.5 600 )%+ 5B 36

=V - A0ONEZY #kal) 3.0~3.5 300 0%+ S 36

=V - AONEZY #kD) 4.0~5.0 % 5 36

=V - A0ONEZY #aD) 2.0~2.5 84
=Y - AO0NEZY (#RD) 3.5~4.0 84
T=V - AONEZY #RaD) 2.0 ES 96
=Y - AO/NEZY (#kD) 2.5 ES 96
TV - AONEZY (#k1D) 3.0 ES 96
=V - AO0NEZY #RD) 2 100 |RfE Xt 125
T=V - AONEZY #RaD) 2.5 100 |K1E Xt 125
=V - AONEZY (#D) 3.0~3.5 30 |XE_KN 125
TV - AONEZY (#a1D 4 EIESGP.Nh 125
EF=V - AONEZY (#D) 5 HESEP.SD 125
T=V - AONEZY #BRaD) 2.0 30|&F Hf5 144
F=Y - AONEZY (#kD) 2.5 20|+ 5 144
T=Y - AONEZY #BRaD) 3.0 20|+ Hf5 144
=Y - AONEZY (#D) 3.5 S|EE —fF 163
TV - AONEZY #D) 1.5~2.5 60|88 AT 193
E=V - AONEZY (NF) 4.0~5.0 10|7%H =+ 96
F=I - AONEZY (EXR) 1.2~1.5 3,000 %F S8 36
F=Y - AONEZY (BER) 2.0 100 )%+ =B 36
F=I - AONEZY (EXR) 2.0~2.5 100 [#R &|X 84

=V AONEZY (BK)  (274K1) 4.0~4.5 0FR & 84

=V - AONEZIJGVILI VR 1.2~1.5 0%F HA 36

=V -FFEZY 1.8 5|XfE Kt 125

E\‘“-ZTTEE\‘) (#R31) 1.8~2.0 30|HF E# 73
F=Y - AAEZY () 2.0~2.5 100 7R & 84
TV - AAEZY (BR) 1.2~1.5 50 FR &YX 84
=Y -ON\DFDOAHIT 5 0.50 = BX 33
T=Y - ON\DFTAHIT 1.2~2.0 50 |&EH = 96
TV - ONIDFTHIT 1.0 Pot P& |KIE KN 125
=Y - ON\DFTHIT 2.0~2.5 PRIES PS5 125
EZYV - ONDFTAHIT (#D) 1.5~2.0 10|FR & 84
EZY - ON\DFTHIT (#KD 4 3IXKE KN 125
Y- INOFTUATIT D) (®FEESENvS) | 1.1~1.4 50X50 R 215
EZY - ON\DFTHIT (BX) 1.2~2.5 20 [FE &|X 84
TV VLU ESIHEE 1.8~2.011 14 |K1EKIv 125
EZY - VIUVEZIVERE 1.0~1.5 25 |X1E KT 125
F=V - VIUVEZIVELEE 1.5~1.8 10| RIE_ AN 125
TV - N\ODFTOAHIT (FkiD) 2.0~2.5 20 |FR &YX 84
TV - N\DFTOAHIT (8K 2.0 2 PR R/X 84
TV - PYEZY 1.8~ 30 |AH X 50
TV . PYEZY 1.8~3.0 10|chll & 175
TSV PRESY (WD) 2.0~3.0 50 (Al & 175
EZYV - PIYEZY (EX) 1.5~2.0 10|38 &YX 84
EZYV - BigREZY 2.5 [HESFF.Sh 125
EII7FA 10.5 50 %E & 57
EE'HHDOE" (ZHUEEX Y ) 1.3~1.6 50X50 S 216
EETTEE - WRY - Btk (T -BH) - X0 1.5~2.0 RB - Pot 150 |[R1E AN 125
EFE - VILUVEEPK (D) 2~2.5 20| K1E KN 125
FE - VIUEEPKR (D) 0.3 FAES DS 126
TE - VIUVEEKE (EVD) 1.5~3 32 |XfE_ Kt 126
T VIUKIEE R - 7UL7K% (Ev7) - BE| 1.2~2.0 RB - Pot 200 |&1E X 126
TE - LEE'BF (ﬁﬁ@é%?w ~) 1.9~2.1 50X50 S 216
TE - BEEEH (B) 2.501 (IESGP.Sh 126
T - LEEREE 2 15 |XIE_ XN 126
TE - BEE B 1.0~2.0 S50 |A & 86
TE - EEEBEFEE 1.0~1.5 50|7cAkK =& 86
TE - EEEREEE 1.5~2.0 30|TA EiE 87
TE - TEERIERE 2.5~35 10|k =& 87
TE - EEERYEE 2~3 65 |K1E XN 126
T - LEEREDO 2 HIESEP.Sh 126
TE - BEEREO 2.5~3.01if IERiP.Sh 126
EE - BEERSEE (A) 1.5~3.0 30| XIE_ AN 126
TE - HBEERSEE (B) 3.0~3.5 0.15 2|XE_KNT 126
ETE - BEEBF 6 10| RIE_ AN 126
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No DD% ] W ﬁ(Cm) 2&%[ EEE% =]
43| EE - TBEERF (VD) 2~35 105 |&1E AN 126
2044 | EE - BEERF (YY) (ZAEZEE<vh) | 2.3~25 5050 3= FF 216
2045 | EE - BEEEBF GR) 2~4 103 |&1E_ AN 126
2046 | EE - BEERE (B) 2~4 105 |&1E AN [ 126
2047 [EE - TEEHREE &R 2.0~2.5 90 |[K1E A 126
2047 | EE - TEEEEEE &R 3 10| &1 XN 126
2048 | EE - (L EE LR 2~3 30|&XfE AN 126
2049 | EE - | ARER - bop D= - HIIIBRS 1.2~1.8 RB 50|kt AN [ 126
2049 | EE - EARR - HH D= - HINBRE 2.5~3.0 S0|&fE AN 126
2050 | EV R I LAFT 9 500 |85k &8 155
2051 [EV RO UT 7 10.5 S0PIR &5 137
2052 PV (BIA) 15 100 [ k= B—EE| 69
2053 | PV RISAT— o1 —T 0.6~0.8 i [E IS 193
2054 | VYT RINAT—T 11— 30~60 SO0[GH ¥ 50
2055 [ PV LASOEZVFE 27 418 B—B8| 69
2056 [ 7V TR 15 20| K%F #®—EBB| 69
2056 | VTR )" 21 10| K% #%B—EBB| 69
2056 [ 7V TR 0.6 0.5 21 HEEES 140
2056 | PV TR )" 0.7 0.6 27 EEES 140
2056 [ 7V TR 1.0 30 2 |E/ A& 193
2057 | P ¥ - A ROIUYPFFERER 0.8~ 20|iA& F— | 228
2058 [V ¥ - IV FFE 2.0 Pot DEIXKE XN 126
2059 [P - xTJVPFF 0.8%+ RB 40|RfE X | 126
2060 P THVVD 10.5 400K BX 155
2061 [ PTO9Y 9 10,000 [Z@& #K 61
2061 | PTO5Y 9.0 1,000 |Z%H  H— 99
2061 [P TO9Y 9 3,000 [k @mE 148
2062 [P O9Y BEA) 9 300 TR =8 137
2062 [P O5 Y BA) 9 1,000 [#5K fEE 148
2063 [P O9Y - BF 9 500 =t —8 159
2004 | P TVTY 12 3,000 85K & 155
2005 | PO~ (ZIUEEX v N) 1~1.5 50%50 2= EF | 216
2066 | P TTX U Ah—VREV D" 1.5 5/6H % 50
2067 | P OFTX UV IEa—FT«° 1.2 20[6H K 50
2067 | P IS~YUEYIEa—FT«" 1.5~2.5 30 BH K 50
2067 | Y IF~X U YO —FT+4" 15 S50 KZ #®—E3| 69
2008 | VY TS 10.5 [ 10,000 =B 0K 61
2008 | YIS 10.5 1,000 |F*H &F— 99
2068 | VTS 10.5 5.000 |FH &2 101
2008 | Y TS 10.5 5,000 IR &5 137
2068 | VTS 10.5 2,000 [k B2 148
2008 | Y TS 10.5 1,000 |28 —B& 159
2068 | VTS 10 1,000 %L Fc&E | 205
2008 | Y TS 10.5 200 [#8LlL0 FTE | 205
2009 | VOS5V (ZHUEEX Y ) 0.3 50X50 2|2 &FF | 216
207005 (BEA) 10.5 [ 50,000|Z@E #0X 62
2070 P75~ (BEA) 10.5 100 |Tk =@ 87
207005 (BEA) 10.5 [ 15,000|%H F— 99
200 PS> (BEA) 10.5 300 |[F#H &2 101
207005 (BEA) 10.5 1,000IR &5 137
20707275~ (M) 10.5 [ 20,0008k 1= 149
207005 (BEA) 10.5 3,000 |58 —5 159
20707275~ (M) 10 2,500 (% 78 | 205
207005 (BEA) 10.5 1,500 %L F£5E | 205
071 [ PISU IN—"TU—VITvAF7 UK 10.5 100|FH Ek 79
02| PSSV O—)LENY T4 v R 10.5p 100 |PH 5k 79
03[V IS HIIT” 15 100 [FEH &k 79
2074 YIS UE—FT4— 4/: w K 0.3 15 300|%R = 140
2075 | v ISV EvT TIL— 21p 100l =% 79
2076 VIS EVO—RDA K 10.5~15 S50[thHH Zk 79
2077 [ PR TILT 3.0 1|5t —§ 163
2078 | P~ a9 /vY 1.2~1.8 20[iA F— 1228
2079 |~ J9/\Y (#%k11) 2.5 56HF £ 50
2079 [P~ O5/NY (D) 3.0 S51aH ¥ 50
2080 | PXY T+ (ZiTHUEXRX vV ) 1.2 0Xx50 HEHEESS 216
2081 [P~ T+ (—&) 0.5~ 200;%8 # 57
2081 [P~ T+ (—5) 0.4~0.7 15 5,000 [ EH & 167
2081 [P T+ (—&) 0.2~0.5 15 1,300 |81 R&E 181




2N

No DD% ] C %Zti(cm) 2&%[ EEE% =]
2082 | P~ T+ (—&. J\&) 0.5~0.8 300 |/ &5 193
2082 | P~ T+ (—&, ) 0.6 3,000 |[EE AT 193
2083 [P T+ (J\&) 0.5~ 30XE & 57
2083| P~ T+ (J\&) 0.3~0.5 15 1,200 |8 D& 181
2084 | PXTJOF - VI PNYTF 0.3~0.5 15 3,000 |ZxH &2 101
2085 | P~ JF - AP ~Y T+ 0.5 100 |&%FH = 96
2085 | P TJF -HPPNY I 0.5 15|58 —K 163
2086 | PR3 1.8~ 20 aH X 50
2086 [ PR3 2.0~2.5 50 |HF E# 73
2086 | PR3 2.5 0.1 100 |&%FH =E 96
2086 [ PR3 3.5 0.12 558 —F 163
2086 PR3 0.5~1.0 10.5 100 |2l R& 181
2086 [ PR3 1.0~1.2 12 500 |8Wl H&E&E 181
2086 [ PR3 1.2~1.5 15 500 (8L F&E 181
2087 | PO Y (Z7EEX Y N 1.3~2.6 50%X50 HEVEE 216
2088 [P~Y ROy (#RkiD) 1.8~2.0 SRR &4 34
2088 | P~ MDY (#Ri1) 2.5~3.0 5 |#K 8 34
2088 [P~Y ROy (#RiD) 5.0 1#K F8& 34
2088 | P~ MDY (#kiD) 30 |AH K 50
2088 [P~ ROy (#kiD) 2.0~2.5 60 |HE  EF 73
2088 | P~ MDY (#Ri1) 1.5 100 |%H =£= 96
2088 [P~ ROy (#RiD) 1.8 100 |f%H = 96
2088 | P~ oY (#Ri1) 2.0 100 |%H =£= 96
2088 | PRy (#RiD) 2.5 100 |#%H = 96
2088 | P~ Moy (#Ri1) 3.0 S S 96
2088 [P~V (#RiD) 2.0~2.5 20K KX 126
2088 | P~ Moy (#Ri1) 3.0~3.5 15|X1E KXt 126
2088 [Py (#RiD) 5 FAES DS 126
2088 | P~y (#Ri1) 6 2|KIE KN 127
2088 [P~ MDY (#RiL) 2.5 30|+ HF§ 144
2088 | P~ MDY (#Ri1) 3.0 30|&F Hf5 144
2088 [P~ MDY (#RiD) 3.5~5.0 20|58 —F 163
2088 | PV mo Y (#Ri1) 3.0 30 [fhEH 3 169
2088 [P~ MDY (#kiL) 2.0~4.0 80 |3l & 175
2088 | Py (#Ri1) 1.8~2.5 300 |=8 &S 193
2088 | Y<MD (#Ri1) 3.5~4.0 20 |E/B &S 193
2088 [P~V MRD Y (#RiD) 5.0~6.0 5|E/8 Eo 193
2089 | PR DY (#kiI) (k) 4.0~ 3 el 163
200 [ PR (#kiz) (A) 2.0~2.5 80 R &EX 84
2091 | PRy (B2AK) 0.10~0.15 130 |8 J&o 193
202| PYhDY (BKR) (B) 1.5~2.0 100 [P & 84
2003 [P ROV OILTTFA” 0.5 18 30|1BH X 50
2003 [PYROVIILTFPA" 1.2~ 20[6H K 50
2003 | PRV OILTTFA” 1.5~ 20 |aH X 50
2003 [PRROVIIILTFPA" 1.2~1.5 10| RIE_ AN 127
2003 | PRV DI T A" 2.0~ 10|K1E XN 127
2004 [ PR ROV T— ﬁt > 15 1,000 |[/J\hk F21T 223
2095 | PN ROV R 1.5~1.8 50 |HF EH 74
2095 [ PY ROV YRS 3.0 S ES 96
2095 | PV ROV Y NS 2.0~2.5 10|K1E XN 127
2096 | POV Y RZ" (#Kk1D) 1.8~2.5 30|HF E# 74
2096 | PRI Y A" (#K1D) 3 5|&KE KN 127
2096 | POV Y RZ" (#Kk1D) 1.8~2.0 IE TS 193
2097 | PRARODYVY NS (#k1D)  (R) 1.8~2.0 50 R &YX 84
2098 [ PRIV RZ" (BEXR) 2.0 10|58 &g 193
2098 | PV ROV I (BK) 3.0 10|EE &g 194
209 [ PYROVRTSEVT” 2.5~3.0 30 |FR &EX 84
2100 | PRIV INLAARARD YT T4 15 50 /b BEfT 223
2101 [ PR ROV EvIT 7 v IIL” 18 51aF 50
2102 | PRV I IF—o 4" (#RiD) 2.0~2.5 10|X1E Kt 127
212 [ PR ROV ZIILF—D A" (#R1D) 3.0~ S|EE —f 163
2102 PR ROV ZIF—0 4" (#RD) 2.5~4.0 3[IER % 197
2103 [ PV ROV BZ&R 15 50 [/\#R BEfT 223
2004 PRARDY - IFPIROI"F—9 ,L,0—X" 1.8 5B X 50
2105 | P~ ROy - Ik OVIVIR 2.0~3.0 50/\& BB 145
2105 [ PYROY - mVOAVIVIYR 0.3 12 1,500 [EH #® 167
2105 | PYRDY - RVOAVIVYVR 1.5~4.0 80|hly & 175
2106 [ PYRDY - RYOVIVIR FAUEYI YN [ 1.2~2.0 50X50 AEHEEZS 216




- IV *
No B3 ] C %(Cm) 2‘—(%[ EE% =]
21007 | POy - VI VIR (#RAL) 3.0 50 |/\&E 145
2107 [P~ ROy - kAT VIR (BT 3.5~4.5 30 5 175
2108 | PYARDY - fYIVIVYR i) FIEYIvN | 1.7~1.8 50%50 2 =5 216
2109 | PV ROy - RV IVIVIYRA"YN—TSvy—" 4.0 0.1 30 ES 96
2110 | PYhRDY - /Y OAVIVYRA"YY—TT5wy—" (#%1]) 3.0 90 =S 96
2110 | PRERDY - KRVIVIVYAYY—T5vy—" (i) 4.0 0.15 20 ES 96
21 [ PNARDY - RVOAVIVYR RAAVY = 2.5 100 ES 96
20111 | POy - kR OAVI VYA A AV —" 3.0 0.1 50 ES 96
2112 PRy - VO VIVIYR B 5~2.0 26 100 7% & 57
12| v<hoY - kAT VI BH 3.0 100 B—EF| 69
M2 [ P~hoY - kI VI B .0 0.21~0.25 4 ES 96
QM2 [Py - hVaAVIVIZ B . 201 5 197
2012|P~ROY - IOV IT VI B 24 50 =58 201
Q13[RO - RVOVIVIZBY (il 50[; 18 57
23| POy - R OAVIVIABA" (#RiL) 35 200 %B—B8| 69
2113 POy - RYOVIVIYR A (MRl 200 ES 96
2113 P~ moy - ROV IVIRBIE (KD 100 ES 96
2113 | POy - RVOVIVIR B (MRl 50 ES 96
2113 P~Nmoy - RVOVIVIRBIE (i) 30 ES 96
2113 POy - RYOVIVIRBIE (MRl 20 |7 ES 96
2113 P~moy - ROV IVIRBIE (i) 2. 30 % 197
Q13 [ PNmOY - VO VIVIZABY (i 1. 35 50 201
14| PRADY - BiEPIRDS 1.8~2.0 50 74
Q04| PYXRDY - BigPIR DS 1.5~2.5 HES 194
14| PRADY - BEPIRDS 3.0~4.0 202 194
2005 [ PR ROy - BETP<IRDY (371D 1.5~ 100 167
2116 | PYRDY - BIgPYR DY (#KR1L) 1.8~2.0 40 74
2116 | PYRDY - BigP~YROY (M1 3.0~3.5 10 [Fk 84
2116 | PYRDY - BIgFPYR DY (#K1L) 2.0~3.0 100 127
2116 PR DY - B PYho Y (#RiD) 2.0 20 144
2116 | PYRDY - BIgFPYR DY (#RiL) 2.5 20| 144
2016 | PYRDY - BigP~Y ROy (K1) 3.0 10| 144
2116 | PRARDY - BIgFPYR DY (#RiL) 2 2.5 50 167
QM7 xRy - Bigvr~hoYy (B4 RB 100 127
2118 [ PRARADY - BT RDY (BX) 1 5 50 |Fk 84
2118 [ PRARDY - BRETIRDY (BX) 100 127
2118 P MDY - B PYRDY (BBK) 200 167
2118 | PRADY - BIEPIR DY (BX) 30 167
2118 P MDY - B PYRDY (BBXK) 10 167
2119 | PRy - BigPIhoY BHA) 3 127
Q20| PIRDY - BRENYRD U MLLE—" 15 500 223
21 | PO VUsSRr~hO %8 (PVP) 15 20 69
Q002 PREE 40 127
Q02| PREE 1 127
Q002 [VPREE 0.9 2 163
Q2| PYEE 15 175
Q002 [ PREE 50 194
Q23| PYEE (ZfFUEE Y ) 50X 50 6 216
Q124 PREE (#R3D) 3 127
2124 PREE (#R3D) 2 194
Q05 PREE () 1 127
2126 PREE (FEH) 24 50 145
007 [ PREE EXR) 28 30 145
2128 | PYEEFH 2 63
Q1090 [ PREERDO 1 127
2129 | PREESRD 30 194
2130 | PYEERO - I (324E - BK) RB 50 127
2131 2—AHU Pot 127
2131[2—AHU 18 5|5%R 140
2132|2—HYU (ZfTUEE vV ) 50%X50 = 216
2133 1—AHU T =" (ZTEUEE vV ) 50X50 2|2 FH 216
2134[ 2 —HURRSR” 100 K= #®—BB| 69
2134 [ 1 —AHURKRSR” 80 |%H =+ 97
21342 —HURRSR” 20 (%EH =+ 97
2134 [ 1 —AHURKRSR” 8~f 100 |EE A&T 194
2135 [ 2 —AHURRS " (#R3D) 8~f 10 [EB Ao 194
2136 | 2—AH U RS 5|%H = 97
Q37| 2—AHY - T——— 20| K= B—Ef| 69




2N

No e ] C %Zti(cm) L HEE =]

2137 2—AY - J—"— 2.0 10|&%EH = 97
2137|1—HY - J——— 1.5~2.0 20|18 &g 194
2138|2—AHY - R/ —TJA4 2.5 10|&%H = 97
2139|2—AY - OV A 1.8 5|%FH = 97
2140 2—AY - RIS X 1.5~2.5 50l & 175
2141 | 2—HAY - UEYV 2.0 30|&FH = 97
2142 | 3—A1) - iRH5R 4.0 2 |%E = 97
2143|295 10.5 50 %A BX 155
2044 2—/NNUD L Z ROFILTUD L™ 10.5 150 J%E #8 57
2145 | 2—/NcUD A F3OL— R 9 50 %8 57
2146 | 1—T#I)LEF (ZTEFEE v M) 0.4 50%X50 4= F£F 216
2047 | 2—2J 4 )VEFZ*FRAIv bUAVR— 10.5 100 ) TR &E|B 137
2148 | A—Jx )b D)L T == 10.5 500 IR &EA 137
2009 1—J74)LEZ TS v IN—R" 10.5 S50 IR &E&B 137
2150 2 F /% 9 500 %8 % 57
2150 2F /% 9.0 500 |=EE X 62
2150 2 F /2% 9.0 1,000 IR =58 137
2150 2F /% 9 200 [k EX 155
2151 |2V =+ 0.2 9 1,000 |F%ZH &2 101
2151 [ 2V F 0.3~0.5 15 3,000 |%H &2 101
2151 |2V =+ 0.4~0.6 15 5,000 | = 1l 167
2151 [ 2V F 0.2~0.5 15 600 |2l BE 181
2151 |2V =+ 0.3~0.5 300 |=8 &S 194
2151 [ 2V F 0.5 3,000 =/ &Ea 194
2152 | AFvF+ (ZTHUEET Y L) 1~1.3 50X%50 A= 216
21532 X 3 [ES(EPSh 127
2154| 2 X - —FaX 1.5~2.0 20|90 A& 175
21552 X - &I X 3 [ES(E.Sh 127
21551 R - A&IX 0.4 1&E XN 127
21552 X - &IX 1.5~ 28 50/\& BB 145
21552 R - A&IX 15 100 [k FE1T 223
2156 | A RTDX 1 10|&<1E X 127
2157 | ARSI X (FK) 1.0~1.5 RB 60 |&K1E XN 127
2158 | XTI X (FrEE) 1.5% 10|&1E_Xn 127
2159 2 XU /N 15 100 |PH % 79
2159 2 XU\ 1.0fz Pot 30 |XIE_KN 127
2159 [ 2 XU\ 3.0 15|88 —~ 163
2160 [ 2 XU/\ BEA) 15~21p 10|PH JEX 79
2161 [ 2 XU\ - TVIRUJN 0.4 10.5 50|55 =5 140
2162 [ 2 XU\ - EXT XU/ 2.5~3.0 10|l & 175
21632 XU/ - EXI XU/ (BEA) 15~21p 10|9H 2k 79
2164 | v A T)L—E FU—" 10.5 100 |PH = 79
2165|1vAh - JOUAH 0.5~1.0 50 |ZE/B AT 194
2166 | 2w - ORMS—Y 24 10|02 &R—EB| 69
2167 | Av AT Y (ZFMEEE Y ) 0.8 50X50 1=2m F£5 216
2168|2U - 4= 10.5 505K &HEX 155
2169|220 - F)LOY  (FREd) 0.3 15 150 |8 & 140
2170120 - Pxay 10.5 1,000 |75 K &EX 155
Q012U TRT—I— 10.5 500 |ZEE X 62
Q712U TPRTF—I— 10.5 100 IR &8 137
Q007220 /F"T7 A5 4F7— 1.2~ 10.5 50|aH % 50
2173[3—0Ov XTI RS TILILT7” 0.3 10.5 200 558" = 140
2174|545 wv D 0.5~ 1,000 |58 AT 194
217534397 Fp=bAY3U—IRD-RI-Fv - TvFv-) | 0.5~1.0 Pot 200 |X1E Xt 128
2176 | A2 v D (ZFlEFEXX Y H) 1.2~1.8 50%X50 REEEE- 216
217712425 wv D (EFER) 24 20|6FH ¢ 50
2178 545w T (58) 1.0~1.5 30|XE KT 128
2178|2545 w0 (%) 1.2 20| X1E KT 128
2178 545w T (58) 1.5~2.0 20|l & 175
2179|2142 wv o (BH) 1.5 50|58 AT 194
2180|524/ SwvI" 4T 0—JUITSV K 10.5 15188 % 50
201 | SATVI" ITRY— RY—UA" 1.5 500 =8 J&T) 194
2182|545 v 0" tr—3” 1.2~ 10188 % 50
2183 (345w 7 - WbI#=73545v7 (RINEFI v N 1.7 50X50 12 F£5 216
2184 | SATv D - EXSASVD 1.5~2.0 Pot 50 |XfE KT 128
2184 | SASvD - EXSASwVD 0.6 300 |EE &ET 194
2185|245 v D - EXSAT YT “WNIN W Uz 7" 15 500 [/\#k BT 223
2186 | AT v D - EXSASwT "RV 15 500 [/\f&  [E{T 223
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2187 [ S AR — 50| % 50
2187 | S AN — Pot KE KT 128
2187 [ S ARY — 9 150 [#11 F&5 205
2188 [ SRV ST— JOwvY 13.5 10T &8 137
2188 | IRV — JOvY 9 2,000, TR =B 137
2189 | SRVF— FI—F 9 100TIR &8 137
2190 | S - RV NF=ZHIASY 0.5~1.2 50 |2 A& 194
2191 |\UA# =7 - XU F 0.6~0.8 350|588 X 52
2192|UFa19/)NA4 4.0 1FRE |X 85
2192|UFa9/)NA 0.8%t Pot FE X 128
2192 | UFa9/N4 2.0~2.5 30[K1E KAt 128
2192 | U+ a39/)\A 2.5~3.0 2.5 ES PN 128
2192|UFa19/)NA 3.0 [ESEP. D 128
2193|UOU X (&) 12 S50%E & 57
2194 U U X (B) 12 50 %8R 18 57
2195|UUR - AVAILF—9 (B) 10.5 2,000 |#sARK  BX 155
219 |UJUX - A—U7 10.5 300 (5K EX 155
2197 UOUR - RTFLVHFU— 12 S50%E & 57
2198 |UIXx7 - A—L7 9 2,000, TR ZB 137
219 | UIRE7 - AV LTUT 9 3,000 TR =8 137
2200 U ~N+7 - Uy — 9 300 TR &5 137
2201 |Ua9F>7h 10.5 150 %8 & 57
202|UaotVYsy (FE) 21 S5P%R 8 57
2203|U3D7 2.5 20|7%FH =+ 97
2203|U3wT 1.2 RB DE|XE XN 128
2203|U3D7 0.2~0.5 10.5 100|811 H&E 181
2203|U3 o7 0.5~ 15 50|18l JBE 181
2203|U3D7 0.5~ 18 08 FBE 181
2204 U397 (#ki1) 2.5~3.0 20 (=8 J&T 194
2204|357 (#iL) 3.0~35 IE S 194
2205|U39 7 - PAUAUIO T NZ_F25—5" 10.5 5 ¢ 50
2206|U397 - PAUAUIDTNZVITN=R 10.5 5af ¢ 50
2207 |U397 - PAXUAU3OTEYT 284 —="] 1.0~1.5 100 [Z &—BE| 69
2208|U3D 7 - PXUAUIDTR—F—E2T"] 0.8~1.8 150 [#R  F]|X 85
2209 | U O K" 1.5~2.0 15|X%E X 128
210|UV T FIVTRZE” 2.0~3.0 100 [K1E Aot 128
R0 UYTTILTRESET 0.18~0.30 HESGPSD 128
210|UV T FIVTRZET” 0.21 [HESEP.SH 128
DN NUYTPITREE (ZONUEE V) 1.6~1.8 50%50 2|20 FFH | 216
212U T FH 1.5~ 25 |[K1E RIT 128
2212 | U 3" FEM” 2 20| XfE Kot 128
2213|UYT28 - HF— - PVTAZL - T -BL - HIF | 1.2~1.8 RB - Pot 120 [K1E Kot 128
2214| UV L 1.5~ IAEREP.~h 128
2215|Uv T - XUV T 1.0~ Pot *E XN 128
2215|U >0 - eXU>3d 1.8~2.0 15|&XE KIv 128
215Uy - XUy 0.18~0.30 8|KIE K 128
2216 |UVRD 10.5 50 [#AK EX 155
2217 VUV UERF 1.2 8laH 50
2217 [ JVURY I ERFE 9 S50 %8 57
28| UINR ALY LA RS LYVILN=" 1.0 24.0RB 20 |E/E 5T 194
219|UNRZANIVR L TRDOA T4 =Y =" 0.6~1.0 6~7 10|28 &g 194
20| LAV L Ay /N—7O— 21 20 K% &B—B8| 69
21| LEV 15 100 [/\VPR - BEfT 223
I EED, 0.2 9 1,000 |FRH &= 101
I, 0.3~0.5 15 2,000 |%H &2 101
I EED, 0.4~0.6 15 5,000 |EH & 167
22|+ 3D 0.2~ 15 1,000 |21 =E 181
I EED, 0.3~0.5 15 2,000 |2l HBE 181
I EED, 0.6 2,000 |E/E ST 194
23|+ 3ay (BRONUEE YN 0.6~1.2 5050 11 |=E F&HS 216
24| F 30" 0= VI A LR 21 10|64 X 50
225 UyF30 - FaobyLyxav o —JIVUR 10.5 10184 ¢ 51
222609 /)NA 1.2~1.5 40| ER 74
2226 | O02/)NA 1.0 10K &i& 87
2226 | 09/NA 1 100 |RfE K 128
2226 | 09/NA 2.0~2.5 ES P 128
2226|029 /NA 3 3|KE AN 128
2226 | 09/\A 5 1&RE KT 129
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No e ] W %Zti(cm) 2&%[ EEE% =]

222609 /)NA 2.0 15|58 —f 163
2227 |09/NA  (#k31) 2.5~3.0 SIE S 194
2228 | O09/N4 (GRiD - £45) 0.5 Pot 100 |XfE Kt 129
2229|099 /N\A“V V" (ZFNEE Y M) 2.1~2.5 50X50 S 216
223009 NNA“ N\—hLwIDA" 1.0~1.2 25| K% &B—Ef| 69
2231|0910 A - AUAVHR* N—bLwIDTA2"] 0.5~0.8 20|H  ERl 74
2232|009/« - O0/NF0O2/8NA 0.8~ 15 30[AHF KX 51
2233|004 - oON\FOoN«A4* 727057 4—T" 15 300 [/ FE1T 223
2234|0904 - 0N\FOuNNA* N\—bLyvIDTA" 0.8~ 50 [AHF X 51
2234|0904 - oO0NFauNA* N\—rLvIDA" 15 300 |/\FK BT 223
2235 O09N0NA - ONFOINA"RIOA SRR 15 300 |/\#k  BRIT 223
2236 (O09/)NA - ZAA09/)\A 10.5 100 64 51
2237 |09)NA - —AAO09NA"TT=X" 1~1.2 20|12 &—EB| 69
22371094 - Z_AA409NA"TFT=x" 0.5~0.8 20 |Hf E# 74
22380984 - BEOONA“KRDA4 FRLR" 10.5 70188 X 51
2239|0—XXCS=-D L 9 100 VIR &8 137
2240 | 0—XAXU— (U= v ) 0.6~0.7 50X50 3 E.ﬂ %?? 216
24 [ O0—X<XU— (GEM) 10.5 1,500 [SFE  5h& 203
242 | O0—A<YU— (7h) 9 3,000 |5F& §L\Eﬁ 203
20— — (_L’”E) 13.5 50 [&F8 9h& 203
243 O0—9YRTULRX h— 9 300 /IF =8 137
2244|107/ AU—=T 1.8~2 50| K% &—EE| 70
2440V F7 A =T 2.0~2.5 20(%FH =+ 97
244177 U—=T 2.0~2.5 20|%FE =+ 97
24407 0A4U—T 3.0~3.5 5|%FH = 97
224410V 74 U—="T 0.8 10.5 [EREE 140
224510 LUA7 4.0 HE 194
2246 |OR LA 77 (#RiD) 3.0 1R &YX 85
2246 |OR LA 77 (#RiD) 5.0 B3 85
2247 1ORLA ) (BAK) 4.0 2 PR H®/X 85
2247 | ORL A7 (BBK) 6.0 BECEE-3 85
248|075 - =F5 0.2 10.5 5,000 |z #MK 62
48| 0=t5 - Z—F5 0.4 0.3 15.0 100 |ZEE F0X 62
24805 - =—F9 10.5 2,000 IR B 137
29| 0=-t5 - Z_F9UVEYEa—FT«" 10.5 200 %R 8 57
2250 D445 - ‘/ v I T)—L (V=)L) 15 500 |/\#k  BR{T 223
205510455 - VZwIT)b—4L (EVD) 15 500 [/]WF BT 223
22520 A 77— 7°7/‘/ 9 1,000 P IR &8B 137
2252 | DA v—T5wW 9 300 &% =] 149
252 DOAv—5Y 9 500 | a8 —5% 159
2253|DA4J)L K X hOXR — 10.5 300 [ga K BER 155
2254 D LUEdD 9 1,000 [85K  EX 155
2055 | IR TILT LU 0.5~ 10 |#AAs FB— 228
2256 | EH' >V 3 0.3 4T 150|558 5 141
2256 |EEH Y 3 0.3 57 60 E-'Z/\ = 141
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